

Amerigroup Community Care

Access Analysis SouthWest

April 26, 2023

PCP_Urban

Adult-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	1,304 1,311		2 in 8 miles 2 in 8 miles	146 145		1,274 1,238	97.7 94.4		2.3 5.6	1.7 2.2	1.9 2.5
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

PCPs and Pediatricians (SOUTHWEST_URBAN)

Access Analysis

Adult_PCP_Urban(2 prov in 8 Miles)

Member / Provider Groups

PCP_Rural

	Adult-R										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA		PCPs and	2 in 15 miles	10	10.1	101		0	0.0	4.7	4.7
Baker, GA		PCPs and	2 in 15 miles	27	0.7	20		0	0.0	3.6	3.9
Ben Hill, GA		PCPs and	2 in 15 miles	20	11.1		100.0	0	0.0	1.8	2.3
Berrien, GA		PCPs and	2 in 15 miles	22	11.8		100.0	0	0.0	4.3	5.4
Brooks, GA	164	PCPs and	2 in 15 miles	6	27.3	159	97.0	5	3.0	5.7	6.0
Calhoun, GA	62	PCPs and	2 in 15 miles	23	2.7	62	100.0	0	0.0	3.0	5.6
Clay, GA	32	PCPs and	2 in 15 miles	4	8.0	32	100.0	0	0.0	3.7	3.7
Clinch, GA	87	PCPs and	2 in 15 miles	10	8.7	79	90.8	8	9.2	4.9	5.6
Coffee, GA	537	PCPs and	2 in 15 miles	44	12.2	537	100.0	0	0.0	3.5	3.9
Colquitt, GA	600	PCPs and	2 in 15 miles	52	11.5	576	96.0	24	4.0	3.4	4.3
Cook, GA	222	PCPs and	2 in 15 miles	44	5.0	222	100.0	0	0.0	3.0	3.1
Decatur, GA	355	PCPs and	2 in 15 miles	21	16.9	345	97.2	10	2.8	4.6	4.8
Early, GA	112	PCPs and	2 in 15 miles	7	16.0	111	99.1	1	0.9	4.1	4.3
Edhols, GA	104	PCPs and	2 in 15 miles	1	104.0	104	100.0	0	0.0	2.6	5.0
Grady, GA	241	PCPs and	2 in 15 miles	35	6.9	234	97.1	7	2.9	3.3	4.2
Irwin, GA	88	PCPs and	2 in 15 miles	28	3.1	87	98.9	1	1.1	4.1	4.2
Lanier, GA	88	PCPs and	2 in 15 miles	9	9.8	87	98.9	1	1.1	2.6	2.9
Lee, GA	246	PCPs and	2 in 15 miles	36	6.8	235	95.5	11	4.5	4.0	4.1
Miller, GA	62	PCPs and	2 in 15 miles	9	6.9	59	95.2	3	4.8	4.7	4.7
Mitchell, GA	237	PCPs and	2 in 15 miles	37	6.4	223	94.1	14	5.9	4.4	5.0
Quitman, GA	32	PCPs and	2 in 15 miles	6	5.3	32	100.0	0	0.0	2.5	2.5
Randolph, GA	73	PCPs and	2 in 15 miles	12	6.1	73	100.0	0	0.0	1.4	1.4
Schley, GA	59	PCPs and	2 in 15 miles	15	3.9	59	100.0	0	0.0	3.4	3.7
Seminole, GA	111	PCPs and	2 in 15 miles	12	9.3	94	84.7	17	15.3	6.2	6.6
Stewart, GA	51	PCPs and	2 in 15 miles	10	5.1	50	98.0	1	2.0	2.5	2.6
Sumter, GA	339	PCPs and	2 in 15 miles	63	5.4	339	100.0	0	0.0	2.2	2.3
Terrell, GA	91	PCPs and	2 in 15 miles	27	3.4	91	100.0	0	0.0	3.4	3.4
Thomas, GA		PCPs and	2 in 15 miles	51	7.3		100.0	0	0.0	3.6	3.9
Ti f t, GA	458	PCPs and	2 in 15 miles	118	3.9		100.0	0	0.0	1.4	2.2
Turner, GA		PCPs and	2 in 15 miles	26	4.5		100.0	0	0.0	2.6	2.7
Webster, GA		PCPs and	2 in 15 miles	2	5.5		100.0	0	0.0	4.2	4.2
Worth, GA	201	PCPs and	2 in 15 miles	24	8.4	201	100.0	0	0.0	3.7	4.7
© 2023 Quest Analyt	lies IIC	l	l								

© 2023 Quest Analytics, LLC.

April 26, 2023

PCPs and Pediatricians

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Pediatricians_Urban

	Child-U Member Provider Counts Ratio Members With Access Without Access Average Distance												
		Member		vider	Counts	Ratio Members	With Acc						
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Lo	ugherty, GA wndes, GA		Pediatricians Pediatricians		146 145		2,814 3,379	97.4 95.5				1.9 2.5	
	© 2023 Quest Analyt.												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatricians

Access Analysis

Child Pediatricians- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

Pediatricians_Rural

	Child-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	328	Pediatricians	2 in 15 miles	10	32.8	328	100.0	0	0.0	4.5	4.6
Baker, GA	41	Pediatricians	2 in 15 miles	27	1.5	41	100.0	0	0.0	2.3	2.4
Ben Hill, GA	636	Pediatricians	2 in 15 miles	20	31.8	636	100.0	0	0.0	2.0	2.5
Berrien, GA	709	Pediatricians	2 in 15 miles	22	32.2	709	100.0	0	0.0	4.6	5.7
Brooks, GA	443	Pediatricians	2 in 15 miles	6	73.8	433	97.7	10	2.3	5.8	6.1
Calhoun, GA	120	Pediatricians	2 in 15 miles	23	5.2	120	100.0	0	0.0	3.6	6.4
Clay, GA	72	Pediatricians	2 in 15 miles	4	18.0	72	100.0	0	0.0	3.8	3.8
Clinch, GA	254	Pediatricians	2 in 15 miles	10	25.4	239	94.1	15	5.9	3.8	4.5
Coffee, GA	1,580	Pediatricians	2 in 15 miles	44	35.9	1,580	100.0	0	0.0	3.8	4.2
Colquitt, GA	1,620	Pediatricians	2 in 15 miles	52	31.2	1,553	95.9	67	4.1	3.5	4.4
Cook, GA	617	Pediatricians	2 in 15 miles	44	14.0	617	100.0	0	0.0	2.7	2.8
Decatur, GA	927	Pediatricians	2 in 15 miles	21	44.1	887	95.7	40	4.3	4.7	4.9
Early, GA	295	Pediatricians	2 in 15 miles	7	42.1	292	99.0	3	1.0	4.2	4.4
Edhols, GA	319	Pediatricians	2 in 15 miles	1	319.0	319	100.0	0	0.0	2.6	4.9
Grady, GA	796	Pediatricians	2 in 15 miles	35	22.7	771	96.9	25	3.1	3.0	3.8
Irwin, GA	250	Pediatricians	2 in 15 miles	28	8.9	246	98.4	4	1.6	3.6	3.7
Lanier, GA	233	Pediatricians	2 in 15 miles	9	25.9	232	99.6	1	0.4	3.0	3.2
Lee, GA		Pediatricians		36	17.3	602	96.8	20	3.2	3.4	3.5
Miller, GA		Pediatricians		9		142	98.6	2	1.4	5.2	5.2
Mitchell, GA		Pediatricians		37	15.2	540	95.9	23	4.1	4.0	4.6
Quitman, GA		Pediatricians		6	16.5	99	100.0	0	0.0	3.0	3.0
Randolph, GA	187	Pediatricians	2 in 15 miles	12	15.6	187	100.0	0	0.0	1.7	1.7
Schley, GA		Pediatricians		14	8.8	123	100.0	0	0.0	3.1	3.3
Seminole, GA		Pediatricians		12	22.2	236	88.7	30	11.3	5.1	5.5
Stewart, GA		Pediatricians		9	11.1	94		6	6.0	3.3	3.3
Sumter, GA		Pediatricians		62	13.3	824		2	0.2	2.2	2.3
Terrell, GA		Pediatricians		27	9.4		100.0	0	0.0	3.3	3.3
Thomas, GA		Pediatricians		51	19.9		100.0	0	0.0	3.3	3.9
Tift, GA		Pediatricians		118	11.1		100.0	0	0.0	1.4	2.3
Turner, GA		Pediatricians		26	12.0		100.0	0	0.0	2.8	2.9
Webster, GA	45	Pediatricians	2 in 15 miles	2	22.5		100.0	0	0.0	3.6	3.8
Worth, GA	465	Pediatricians	2 in 15 miles	24	19.4		100.0	0	0.0	3.6	4.4
© 2023 Quest Analyt	L			L			l				

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatricians

Access Analysis

Child Pediatricians- Rural

Member / Provider Groups

Pediatric Rural Members (SOUTHWEST_RURAL)

Allergy_Urban

	Adult-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Lo	ugherty, GA wndes, GA	1,304 1,311		1 in 30 miles 1 in 30 miles	1	1,304.0 1,311.0	1,304 1,311	100.0 100.0	0	0.0	4.9 5.4	80.5 84.0
	© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Allergy/Immunology (SOUTHWEST_URBAN)

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Allergy_Rural

	Adult-R										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Alle	1 in 45 miles	0		101	100.0	0	0.0	14.1	15.4
Baker, GA	20	Adult_Alle	1 in 45 miles	0		20	100.0	0	0.0	25.9	25.9
Ben Hill, GA	222	Adult_Alle	1 in 45 miles	0		222	100.0	0	0.0	9.5	28.4
Berrien, GA	260	Adult_Alle	1 in 45 miles	2	130.0	260	100.0	0	0.0	5.6	10.5
Brooks, GA	164	Adult_Alle	1 in 45 miles	0		164	100.0	0	0.0	23.6	26.0
Calhoun, GA	62	Adult_Alle	1 in 45 miles	0		62		0	0.0	24.0	24.0
Clay, GA	32	Adult_Alle	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3
Clinch, GA	87	Adult_Alle	1 in 45 miles	0		84		3	3.4	22.0	36.8
Coffee, GA	537	Adult_Alle	1 in 45 miles	3	179.0	537	100.0	0	0.0	6.3	6.7
Colquitt, GA	600	Adult_Alle	1 in 45 miles	2	300.0	600		0	0.0	5.9	13.2
Cook, GA	222	Adult_Alle	1 in 45 miles	6	37.0	222	100.0	0	0.0	4.4	4.6
Decatur, GA		Adult_Alle	1 in 45 miles	1	355.0	355	100.0	0	0.0	5.6	27.3
Early, GA	112	Adult_Alle	1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Edhols, GA	104	Adult_Alle	1 in 45 miles	0		104	100.0	0	0.0	27.1	37.6
Grady, GA	241	Adult_Alle	1 in 45 miles	0		241	100.0	0	0.0	21.7	37.3
Irwin, GA	88	Adult_Alle	1 in 45 miles	1	88.0	88	100.0	0	0.0	5.2	18.5
Lanier, GA	88	Adult_Alle	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	20.6
Lee, GA	246	Adult_Alle	1 in 45 miles	4	61.5	246	100.0	0	0.0	8.6	8.6
Miller, GA	62	Adult_Alle	1 in 45 miles	2	31.0	62	100.0	0	0.0	5.0	5.0
Mitchell, GA	237	Adult Alle	1 in 45 miles	0		237	100.0	0	0.0	23.5	28.6
Quitman, GA	32	Adult_Alle	1 in 45 miles	0		0	0.0	32	100.0	56.3	56.3
Randolph, GA	73	Adult Alle	1 in 45 miles	0		73	100.0	0	0.0	36.9	36.9
Schley, GA	59	Adult_Alle	1 in 45 miles	0		36	61.0	23	39.0	45.4	45.4
Seminole, GA	111	Adult_Alle	1 in 45 miles	0		111	100.0	0	0.0	19.1	20.9
Stewart, GA	51	Adult_Alle	1 in 45 miles	0		1	2.0	50	98.0	52.5	52.5
Sumter, GA	339	Adult_Alle	1 in 45 miles	0		339	100.0	0	0.0	32.3	32.3
Terrell, GA	91	Adult Alle	1 in 45 miles	0		91	100.0	0	0.0	23.0	23.0
Thomas, GA	374	Adult_Alle	1 in 45 miles	0		374	100.0	0	0.0	25.7	34.8
Tift, GA	458	Adult_Alle	1 in 45 miles	6	76.3	458	100.0	0	0.0	2.7	3.4
Turner, GA	117	Adult_Alle	1 in 45 miles	0		117	100.0	0	0.0	21.8	21.8
Webster, GA	11	Adult_Alle	1 in 45 miles	0		10	90.9	1	9.1	43.1	43.1
Worth, GA	201	Adult_Alle	1 in 45 miles	0		201	100.0	0	0.0	18.4	18.5
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Allergy/Immunology (SOUTHWEST_RURAL)

Access Analysis

Adult_Allergy/Immunology - Rural

Member / Provider Groups

Cardiology_Urban

Adult-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	1,304 1,311		1 in 30 miles 1 in 30 miles	38 51		1,304 1,311	100.0 100.0	0	0.0		3.7 3.8

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Cardiology (SOUTHWEST_URBAN)

Access Analysis

Adult_Cardiology - Urban

Member / Provider Groups

Cardiology_Rural

	Adult-R											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA		Adult Car	1 in 45 miles	0		101	100.0	0	0.0	13.7	15.0	
Baker, GA		Adult Car	1 in 45 miles	0			100.0	0	0.0	13.8	15.3	
Ben Hill, GA		Adult Car	1 in 45 miles	10			100.0	0	0.0	2.4	2.4	
Berrien, GA		Adult Car	1 in 45 miles	3			100.0	0	0.0	5.5	7.4	
Brooks, GA		Adult Car	1 in 45 miles	21			100.0	0	0.0	6.5	6.5	
Calhoun, GA		Adult Car	1 in 45 miles	1			100.0	0	0.0	7.2	23.9	
Clay, GA	32	Adult Car	1 in 45 miles	0		32	100.0	0	0.0	22.1	43.1	
Clinch, GA	87	Adult_Car	1 in 45 miles	8	10.9	87	100.0	0	0.0	5.6	5.6	
Coffee, GA	537	Adult_Car	1 in 45 miles	26	20.7	537	100.0	0	0.0	6.3	6.3	
Colquitt, GA	600	Adult_Car	1 in 45 miles	20	30.0	600	100.0	0	0.0	5.7	6.9	
Cook, GA	222	Adult_Car	1 in 45 miles	9	24.7	222	100.0	0	0.0	3.9	4.1	
Decatur, GA	355	Adult_Car	1 in 45 miles	20	17.8	355	100.0	0	0.0	5.3	5.3	
Early, GA	112	Adult_Car	1 in 45 miles	0		112	100.0	0	0.0	20.0	21.5	
Edhols, GA	104	Adult_Car	1 in 45 miles	0		104	100.0	0	0.0	25.1	28.0	
Grady, GA	241	Adult_Car	1 in 45 miles	23	10.5	241	100.0	0	0.0	4.9	5.0	
Irwin, GA	88	Adult_Car	1 in 45 miles	3	29.3	88	100.0	0	0.0	5.1	5.1	
Lanier, GA	88	Adult_Car	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	17.9	
Lee, GA	246	Adult_Car	1 in 45 miles	0		246	100.0	0	0.0	8.6	8.6	
Miller, GA	62	Adult_Car	1 in 45 miles	3	20.7	62	100.0	0	0.0	4.8	4.8	
Mitchell, GA	237	Adult_Car	1 in 45 miles	27	8.8	237	100.0	0	0.0	7.3	8.4	
Quitman, GA	32	Adult_Car	1 in 45 miles	0		32	100.0	0	0.0	37.8	45.0	
Randolph, GA	73	Adult_Car	1 in 45 miles	0		73	100.0	0	0.0	17.3	35.7	
Schley, GA	59	Adult_Car	1 in 45 miles	0		59	100.0	0	0.0	14.0	15.3	
Seminole, GA	111	Adult_Car	1 in 45 miles	3	37.0	111	100.0	0	0.0	7.1	7.1	
Stewart, GA	51	Adult_Car	1 in 45 miles	0		51	100.0	0	0.0	21.0	28.0	
Sumter, GA	339	Adult_Car	1 in 45 miles	19	17.8	339	100.0	0	0.0	3.1	4.0	
Terrell, GA	91	Adult_Car	1 in 45 miles	0		91	100.0	0	0.0	18.4	25.3	
Thomas, GA	374	Adult_Car	1 in 45 miles	54	6.9	374	100.0	0	0.0	5.4	5.4	
Ti f t, GA	458	Adult_Car	1 in 45 miles	8	57.3		100.0	0	0.0	2.5	3.2	
Turner, GA		Adult_Car	1 in 45 miles	0		117	100.0	0	0.0	20.6	20.7	
Webster, GA		Adult_Car	1 in 45 miles	0			100.0	0	0.0	11.8	18.3	
Worth, GA	201	Adult_Car	1 in 45 miles	12	16.8	201	100.0	0	0.0	5.9	6.5	
© 2023 Quest Analyti												

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Cardiology (SOUTHWEST_RURAL)

Access Analysis

Adult_Cardiology - Rural

Member / Provider Groups

Endocrinology_Urban

Adult-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	1,304 1,311	Adult_End	1 in 30 miles 1 in 30 miles	0 4	 327.8	0 1,311	0.0 100.0		100.0		81.1 4.8
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Endocrinology (SOUTHWEST_URBAN)

Access Analysis

Adult_Endocrinology - Urban

Member / Provider Groups

Endocrinology_Rural

	Adult-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult End	1 in 45 miles	0		101	100.0	0	0.0	14.2	16.2
Baker, GA	20	Adult_End	1 in 45 miles	0		20	100.0	0	0.0	27.6	27.6
Ben Hill, GA	222	Adult_End	1 in 45 miles	0		222	100.0	0	0.0	9.5	28.8
Berrien, GA	260	Adult_End	1 in 45 miles	2	130.0	260	100.0	0	0.0	5.6	10.8
Brooks, GA	164	Adult_End	1 in 45 miles	0		164	100.0	0	0.0	23.6	26.0
Calhoun, GA	62	Adult_End	1 in 45 miles	0		62	100.0	0	0.0	25.0	25.0
Clay, GA	32	Adult_End	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3
Clinch, GA	87	Adult_End	1 in 45 miles	0		84	96.6	3	3.4	22.0	36.9
Coffee, GA	537	Adult_End	1 in 45 miles	2	268.5	537	100.0	0	0.0	6.3	7.0
Colquitt, GA	600	Adult_End	1 in 45 miles	2	300.0	600	100.0	0	0.0		13.2
Cook, GA	222	Adult_End	1 in 45 miles	6	37.0	222	100.0	0	0.0	4.4	4.7
Decatur, GA	355	Adult_End	1 in 45 miles	1	355.0	355	100.0	0	0.0	5.6	27.3
Early, GA	112	Adult_End	1 in 45 miles	0		112	100.0	0	0.0	22.1	22.1
Edhols, GA	104	Adult_End	1 in 45 miles	0		104	100.0	0	0.0	27.1	37.6
Grady, GA	241	Adult_End	1 in 45 miles	0		241	100.0	0	0.0	21.7	37.3
Irwin, GA	88	Adult_End	1 in 45 miles	1	88.0	88	100.0	0	0.0	5.2	18.9
Lanier, GA	88	Adult_End	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	20.6
Lee, GA	246	Adult_End	1 in 45 miles	0		47	19.1	199	80.9	49.0	50.9
Miller, GA	62	Adult_End	1 in 45 miles	2	31.0	62	100.0	0	0.0	5.0	5.0
Mitchell, GA	237	Adult_End	1 in 45 miles	0		237	100.0	0	0.0	25.1	31.2
Quitman, GA	32	Adult_End	1 in 45 miles	0		0	0.0	32	100.0	56.4	56.4
Randolph, GA	73	Adult_End	1 in 45 miles	0		72	98.6	1	1.4	42.0	42.0
Schley, GA	59	Adult_End	1 in 45 miles	0		0	0.0	59	100.0	80.8	80.9
Seminole, GA	111	Adult_End	1 in 45 miles	0		111	100.0	0	0.0	19.1	20.9
Stewart, GA	51	Adult_End	1 in 45 miles	0		0	0.0	51	100.0	62.7	62.7
Sumter, GA	339	Adult_End	1 in 45 miles	0		0	0.0	339	100.0	69.3	70.7
Terrell, GA	91	Adult_End	1 in 45 miles	0		3	3.3	88	96.7	50.3	50.3
Thomas, GA	374	Adult_End	1 in 45 miles	0		374	100.0	0	0.0	25.7	34.8
Ti f t, GA	458	Adult_End	1 in 45 miles	1	458.0	458	100.0	0	0.0	3.6	20.2
Turner, GA		Adult_End	1 in 45 miles	0		117	100.0	0	0.0		27.2
Webster, GA	11	Adult_End	1 in 45 miles	0		0	0.0	11	100.0	63.9	63.9
Worth, GA	201	Adult_End	1 in 45 miles	0		200	99.5	1	0.5	23.9	25.4
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Endocrinology (SOUTHWEST_RURAL)

Access Analysis

Adult_Endocrinology - Rural

Member / Provider Groups

ENT_Urban

Adult-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
Dougherty, GA	1,304	Adult_ENT	1 in 30 miles	3		1,304	100.0	0			6.7
Lowndes, GA	1,311	Adult_ENT	1 in 30 miles	3	437.0	1,311	100.0	0	0.0	5.1	5.1
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_ENT (SOUTHWEST_URBAN)

Access Analysis

Adult_ENT- Urban

Member / Provider Groups

ENT_Rural

	Adult-R										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_ENT	1 in 45 miles	0		101	100.0	0	0.0	14.4	15.7
Baker, GA		Adult ENT	1 in 45 miles	0		20	100.0	0	0.0	10.4	27.6
Ben Hill, GA	222	Adult ENT	1 in 45 miles	0		222	100.0	0	0.0	9.5	28.2
Berrien, GA		Adult ENT	1 in 45 miles	2	130.0		100.0	0	0.0		10.5
Brooks, GA		Adult ENT	1 in 45 miles	1	164.0		100.0	0	0.0		21.3
Calhoun, GA		Adult ENT	1 in 45 miles	0			100.0	0	0.0	24.4	25.0
Clay, GA	32	Adult ENT	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3
Clinch, GA		Adult ENT	1 in 45 miles	0		84	96.6	3	3.4	22.0	36.8
Coffee, GA	537	Adult ENT	1 in 45 miles	3	179.0	537	100.0	0	0.0	6.3	6.7
Colquitt, GA		Adult ENT	1 in 45 miles	3		600	100.0	0	0.0	5.8	7.3
Cook, GA		Adult_ENT	1 in 45 miles	6	37.0		100.0	0	0.0		4.6
Decatur, GA		Adult ENT	1 in 45 miles	2	177.5		100.0	0	0.0	5.4	5.6
Early, GA		Adult ENT	1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Edhols, GA		Adult ENT	1 in 45 miles	0			100.0	0	0.0		30.3
Grady, GA		Adult ENT	1 in 45 miles	1	241.0		100.0	0	0.0		16.2
Irwin, GA		Adult ENT	1 in 45 miles	1	88.0		100.0	0	0.0		18.4
Lanier, GA		Adult ENT	1 in 45 miles	1	88.0		100.0	0	0.0		20.6
Lee, GA		Adult ENT	1 in 45 miles	0		207	84.1	39	15.9		48.0
Miller, GA		Adult ENT	1 in 45 miles	2	31.0		100.0	0		5.0	5.0
Mitchell, GA		Adult ENT	1 in 45 miles	1	237.0		100.0	0	0.0	13.1	22.5
Quitman, GA		Adult ENT	1 in 45 miles	0		0	0.0	32		56.4	56.4
Randolph, GA		Adult ENT	1 in 45 miles	0		72	98.6	1	1.4	42.0	42.0
Schley, GA		Adult_ENT	1 in 45 miles	0		0	0.0	59			80.7
Seminole, GA		Adult ENT	1 in 45 miles	0		-	100.0	0	0.0		19.1
Stewart, GA		Adult ENT	1 in 45 miles	0		0	0.0	51	100.0	62.7	62.7
Sumter, GA		Adult ENT	1 in 45 miles	0		0	0.0		100.0	60.6	69.2
Terrell, GA		Adult ENT	1 in 45 miles	0		82	90.1	9	9.9	41.6	50.3
Thomas, GA		Adult ENT	1 in 45 miles	1	374.0		100.0	0	0.0	5.5	15.2
Tift, GA		Adult ENT	1 in 45 miles	4			100.0	0	0.0	3.0	4.2
Turner, GA		Adult ENT	1 in 45 miles	0			100.0	0	0.0		23.5
Webster, GA		Adult_ENT	1 in 45 miles	0		0	0.0	_	100.0		63.9
Worth, GA		Adult ENT	1 in 45 miles	0		200	99.5	1	0.5		23.0
Worth, GA	201	Addit_EIVI	T III 40 IIIIIC3			200	33.3	·	0.0	22.0	20.0
© 2023 Quest Analyt	<u> </u>	<u> </u>	ļ	L							

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_ENT (SOUTHWEST_RURAL)

Access Analysis

Adult_ENT - Rural

Member / Provider Groups

Gastroenterology_Urban

Adult-U													
	Member	Pro	vider	Counts		With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2		
Dougherty, GA	1,304		1 in 30 miles	40		1,304	100.0	0			3.7		
Lowndes, GA	1,311	Adult_Gas	1 in 30 miles	12	109.3	1,311	100.0	0	0.0	4.2	4.2		
© 2023 Quest Analyt													

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Gastroenterology (SOUTHWEST_URBAN)

Access Analysis

Adult_Gastreontology - Urban

Member / Provider Groups

Gastroenterology_Rural

	Adult-R												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	101	Adult Gas	1 in 45 miles	0		101	100.0	0	0.0	13.6	16.2		
Baker, GA		Adult Gas	1 in 45 miles	0			100.0	0	0.0		27.6		
Ben Hill, GA		_	1 in 45 miles	0			100.0	0	0.0		27.5		
Berrien, GA		_	1 in 45 miles	2	130.0		100.0	0	0.0	5.6	10.5		
Brooks, GA		_	1 in 45 miles	0			100.0	0	0.0	20.6	20.7		
Calhoun, GA		_	1 in 45 miles	0			100.0	0	0.0	25.0	25.0		
Clay, GA	32	Adult Gas	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3		
Clinch, GA		Adult_Gas	1 in 45 miles	1	87.0		100.0	0	0.0	5.6	22.0		
Coffee, GA		Adult Gas	1 in 45 miles	2	268.5	537	100.0	0	0.0	6.2	7.1		
Colquitt, GA	600	Adult Gas	1 in 45 miles	5	120.0	600	100.0	0	0.0	5.7	7.0		
Cook, GA		_	1 in 45 miles	9	24.7		100.0	0	0.0	3.9	4.2		
Decatur, GA	355	Adult Gas	1 in 45 miles	1	355.0	355	100.0	0	0.0	5.6	26.3		
Early, GA		_	1 in 45 miles	0			100.0	0	0.0	22.1	22.1		
Edhols, GA	104	Adult Gas	1 in 45 miles	0		104	100.0	0	0.0	27.1	36.1		
Grady, GA	241	_	1 in 45 miles	0			100.0	0	0.0	15.7	17.6		
Irwin, GA		_	1 in 45 miles	1	88.0		100.0	0	0.0		18.5		
Lanier, GA		_	1 in 45 miles	1	88.0		100.0	0	0.0		18.1		
Lee, GA		Adult Gas	1 in 45 miles	0		239	97.2	7	2.8		31.2		
Miller, GA		_	1 in 45 miles	2	31.0			0	0.0		5.0		
Mitchell, GA		_	1 in 45 miles	0		237	100.0	0	0.0		25.4		
Quitman, GA		_	1 in 45 miles	0		0	0.0	32		56.4	56.4		
Randolph, GA		Adult Gas	1 in 45 miles	0		72	98.6	1	1.4	42.0	42.0		
Schley, GA		_	1 in 45 miles	0		0	0.0	59		62.6	65.3		
Seminole, GA		_	1 in 45 miles	0			100.0	0	0.0	19.1	20.9		
Stewart, GA		_	1 in 45 miles	0		0	0.0	51	100.0	62.7	62.7		
Sumter, GA		_	1 in 45 miles	0		18	5.3	321	94.7	50.3	52.7		
Terrell, GA	91	_	1 in 45 miles	0		74	81.3	17	18.7	44.1	46.4		
Thomas, GA	-	Adult_Gas	1 in 45 miles	16	23.4		100.0	0	0.0	4.7	5.7		
Tift, GA		_	1 in 45 miles	7	65.4		100.0	0			4.0		
Turner, GA		_	1 in 45 miles	1	117.0		100.0	0	0.0		20.9		
Webster, GA		_	1 in 45 miles	0		0	0.0		100.0	62.7	63.3		
Worth, GA		Adult_Gas	1 in 45 miles	1	201.0	201	100.0	0	0.0	6.3	16.1		
								-		5.0			

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Gastroenterology (SOUTHWEST_RURAL)

Access Analysis

Adult_Gastreontology- Rural

Member / Provider Groups

Hematology_Urban

	Adult-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA vndes, GA	1,304 1,311	Adult_He	1 in 30 miles 1 in 30 miles	24 12		1,304 1,311	100.0 100.0	0 0	0.0		4.2 4.3	
Ц	2023 Quest Analvt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Hematology/Oncology (SOUTHWEST_URBAN)

Access Analysis

Adult_Hemotology/Oncology- Urban

Member / Provider Groups

Hematology_Rural

	Adult-R												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	101	Adult_He	1 in 45 miles	0		101	100.0	0	0.0	15.6	15.7		
Baker, GA	20	Adult_He	1 in 45 miles	0		20	100.0	0	0.0	15.4	15.4		
Ben Hill, GA	222	Adult_He	1 in 45 miles	4	55.5	222	100.0	0	0.0	3.3	3.3		
Berrien, GA	260	Adult_He	1 in 45 miles	0		260	100.0	0	0.0	29.1	29.1		
Brooks, GA	164	Adult_He	1 in 45 miles	0		164	100.0	0	0.0	23.3	23.3		
Calhoun, GA	62	Adult_He	1 in 45 miles	0		33	53.2	29	46.8	41.5	41.5		
Clay, GA	32	Adult_He	1 in 45 miles	0		0	0.0	32	100.0	60.1	60.1		
Clinch, GA	87	Adult_He	1 in 45 miles	0		84	96.6	3	3.4	33.6	33.9		
Coffee, GA	537	Adult_He	1 in 45 miles	6	89.5	537	100.0	0	0.0	6.5	6.6		
Colquitt, GA	600	Adult_He	1 in 45 miles	14	42.9	600	100.0	0	0.0		7.0		
Cook, GA	222	Adult_He	1 in 45 miles	1	222.0	222	100.0	0	0.0	20.9	20.9		
Decatur, GA	355	Adult_He	1 in 45 miles	5	71.0	355	100.0		0.0	5.4	5.4		
Early, GA	112	Adult_He	1 in 45 miles	0		29	25.9	83	74.1	44.5	44.5		
Edhols, GA	104	Adult_He	1 in 45 miles	0		1	1.0		99.0	51.0	51.0		
Grady, GA	241	Adult_He	1 in 45 miles	0		241	100.0	0	0.0	14.1	16.0		
Irwin, GA	88	Adult_He	1 in 45 miles	0		88	100.0	0	0.0	10.0	10.0		
Lanier, GA	88	Adult_He	1 in 45 miles	0		87	98.9	1	1.1	38.7	38.8		
Lee, GA	246	Adult_He	1 in 45 miles	0		246	100.0	0	0.0	24.1	24.1		
Miller, GA	62	Adult_He	1 in 45 miles	0		62	100.0	0	0.0	24.1	24.1		
Mitchell, GA	237	Adult_He	1 in 45 miles	2	118.5	237	100.0	0	0.0	9.4	9.4		
Quitman, GA	32	Adult_He	1 in 45 miles	0		0	0.0	32	100.0	53.3	53.3		
Randolph, GA	73	Adult_He	1 in 45 miles	0		41	56.2	32	43.8	43.7	43.7		
Schley, GA	59	Adult_He	1 in 45 miles	0		59	100.0	0	0.0	14.7	15.6		
Seminole, GA	111	Adult_He	1 in 45 miles	0		111	100.0	0	0.0	24.7	24.7		
Stewart, GA	51	Adult_He	1 in 45 miles	0		50	98.0	1	2.0	28.3	28.3		
Sumter, GA	339	Adult_He	1 in 45 miles	13	26.1	339	100.0	0	0.0	4.1	4.9		
Terrell, GA	91	Adult_He	1 in 45 miles	0		91	100.0	0	0.0	27.3	27.3		
Thomas, GA	374	Adult_He	1 in 45 miles	7	53.4	374	100.0	0	0.0		5.6		
Ti f t, GA	458	Adult_He	1 in 45 miles	5	91.6		100.0		0.0	4.3	4.3		
Turner, GA		Adult_He	1 in 45 miles	0			100.0		0.0		21.6		
Webster, GA	11	Adult_He	1 in 45 miles	0		11	100.0	0	0.0		18.5		
Worth, GA	201	Adult_He	1 in 45 miles	9	22.3	201	100.0	0	0.0	6.9	6.9		
© 2023 Quest Analyt			·										

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Hematology/Oncology (SOUTHWEST_RURAL)

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Nephrology_Urban

Adult-U												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA Lowndes, GA	1,304 1,311	Adult_Nep Adult_Nep	1 in 30 miles 1 in 30 miles	35 9		1,304 1,311	100.0 100.0	0	0.0		2.8 4.1	
© 2023 Quest Analytic												

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Nephrology (SOUTHWEST_URBAN)

Access Analysis

Adult_Nephrology - Urban

Member / Provider Groups

Nephrology_Rural

Baker, GA		Adult-R												
County # Group Standard # to Providers # % # % 1 2		Member	Pro	vider	Counts	Patia Mambara	With Acc	ess	Without Ac	cess	Average	Distance		
Baker, GA	County													
Baker, GA	Atkinson, GA	101	Adult Nep	1 in 45 miles	0		101	100.0	0	0.0	14.2	16.2		
Berrien, GA 260 Adult_Nep 1 in 45 miles 2 130.0 260 100.0 0 0.0 5.6 10.5	Baker, GA	20	Adult_Nep	1 in 45 miles	0		20	100.0	0	0.0	13.1	15.0		
Broks, GA		222	Adult_Nep	1 in 45 miles	0		222	100.0	0	0.0	9.5	28.1		
Callhoun, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0.0 8.1 8.1 Clay, GA 32 Adult_Nep 1 in 45 miles 0 84 96.6 3 3.4 22.0 32.6 Caffee, GA 537 Adult_Nep 1 in 45 miles 2 268.5 537 100.0 0.0 6.3 7.0 Calquitt, GA 600 Adult_Nep 1 in 45 miles 14 42.9 600 100.0 0.0 6.5 7.0 Cook, GA 222 Adult_Nep 1 in 45 miles 14 42.9 600 100.0 0.0 4.4 4.6 Decatur, GA 355 Adult_Nep 1 in 45 miles 1 3.3 37.3 112 100.0 0.0 0.0 5.3 5.3 Early, GA 112 Adult_Nep 1 in 45 miles 0 100.0 0.0 0.0 5.1 5.1 Ednois, GA <	Berrien, GA	260	Adult_Nep	1 in 45 miles	2	130.0	260	100.0	0	0.0	5.6	10.5		
Clay, GA Clay, GA Clay, GA Say Adult_Nep Say Say Adult_Nep Say	Brooks, GA	164	Adult_Nep	1 in 45 miles	10	16.4	164	100.0	0	0.0	6.5	6.8		
Clay, GA Clinch, GA S7 Adult_Nep 1 in 45 miles 0 84 96.6 3 3.4 22.0 36.6 Coffee, GA 537 Adult_Nep 1 in 45 miles 2 268.5 537 100.0 0 0.0 0 0.0 6.3 7.0 Colquitt, GA 600 Adult_Nep 1 in 45 miles 14 42.9 600 100.0 0 0.0 5.7 6.9 Cook, GA 222 Adult_Nep 1 in 45 miles 6 37.0 222 100.0 0 0 0 0 0 0 0 0 5.7 6.9 Cook, GA 222 Adult_Nep 1 in 45 miles 11 32.3 355 100.0 0 0 0 0 0 0 0 0 0 0 0 0 0 5.7 6.9 Cook, GA 222 Adult_Nep 1 in 45 miles 11 32.3 355 100.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Calhoun, GA	62	Adult_Nep	1 in 45 miles	2	31.0	62	100.0	0	0.0	8.1	8.1		
Coffee, GA	Clay, GA	32	Adult_Nep	1 in 45 miles	0		32	100.0	0	0.0	21.9	21.9		
Colquitt, GA 600 Adult_Nep 1 in 45 miles 14 42.9 600 100.0 0 0.0 5.7 6.9 Cook, GA 222 Adult_Nep 1 in 45 miles 6 37.0 222 100.0 0 0.0 4.4 4.6 Decatur, GA 355 Adult_Nep 1 in 45 miles 11 32.3 355 100.0 0 0.0 5.3 5.3 Early, GA 112 Adult_Nep 1 in 45 miles 3 37.3 112 100.0 0 0.0 5.1 5.1 Edhols, GA 104 Adult_Nep 1 in 45 miles 0 104 100.0 0 0.0 25.1 28.0 Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irwin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 3.3	Clinch, GA	87	Adult_Nep	1 in 45 miles			84	96.6		3.4	22.0	36.6		
Cook, GA 222 Adult_Nep 1 in 45 miles 6 37.0 222 100.0 0 0.0 4.4 4.6 Decatur, GA 355 Adult_Nep 1 in 45 miles 11 32.3 355 100.0 0 0.0 5.3 5.3 Edrly, GA 112 Adult_Nep 1 in 45 miles 3 37.3 112 100.0 0 0.0 5.1 5.1 Edrly, GA 104 Adult_Nep 1 in 45 miles 0 104 100.0 0 0.0 5.1 25.1 Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irwin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.0 5.0 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 0.0	Coffee, GA	537	Adult_Nep	1 in 45 miles	2	268.5	537	100.0	0	0.0	6.3	7.0		
Decatur, GA 355 Adult_Nep 1 in 45 miles 11 32.3 355 100.0 0 0.0 5.3 5.3 Early, GA 112 Adult_Nep 1 in 45 miles 3 37.3 112 100.0 0 0.0 5.1 5.1 Edhols, GA 104 Adult_Nep 1 in 45 miles 0 104 100.0 0 0.0 25.1 28.0 Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irvin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lahier, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 3.3 20.6 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Miller, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 37.0 Saminole, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 Schiev, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 Sumter, GA 339 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 Stewart, GA 51 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Thromas, GA 374 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Tirt, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 17.9 18.0 Webster, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 17.9 18.0 Webster, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 17.9 18.0 Webster, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 17.9 18.0 Tirt, GA 40tt_Nep 1 in 45 miles 0 111 100.0 0 0.0 17.9 18.0 Webster, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 17.9 18.0 Tirt,	Colquitt, GA	600	Adult_Nep	1 in 45 miles	14	42.9	600	100.0			5.7	6.9		
Early, GA 112 Adult_Nep 1 in 45 miles 3 37.3 112 100.0 0 0.0 5.1 5.1 Echols, GA 104 Adult_Nep 1 in 45 miles 0 104 100.0 0 0.0 25.1 28.0 Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irvin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lanier, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 3.3 20.6 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 37.0	Cook, GA	222	Adult_Nep	1 in 45 miles	6	37.0	222	100.0	0	0.0	4.4	4.6		
Edhols, GA 104 Adult_Nep 1 in 45 miles 0 104 100.0 0 0.0 25.1 28.0 Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irwin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lee, GA 246 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 7.4 7.6 Miler, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 7.4 7.6 Milchell, GA 237 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 5	Decatur, GA	355	Adult_Nep	1 in 45 miles	11	32.3	355	100.0	0	0.0	5.3	5.3		
Grady, GA 241 Adult_Nep 1 in 45 miles 9 26.8 241 100.0 0 0.0 5.0 5.0 Irvin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lanier, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Miler, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mikhel, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quittan, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 9.	Early, GA	112	Adult_Nep	1 in 45 miles	3	37.3	112	100.0	0	0.0	5.1	5.1		
Irvin, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 5.2 18.4 Lanier, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 3.3 20.6 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Miler, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 <t< td=""><td>Edhols, GA</td><td>104</td><td>Adult_Nep</td><td>1 in 45 miles</td><td>0</td><td></td><td>104</td><td>100.0</td><td>0</td><td>0.0</td><td>25.1</td><td>28.0</td></t<>	Edhols, GA	104	Adult_Nep	1 in 45 miles	0		104	100.0	0	0.0	25.1	28.0		
Lanier, GA 88 Adult_Nep 1 in 45 miles 1 88.0 88 100.0 0 0.0 3.3 20.6 Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Miller, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 15.5 15.5 Seminole, GA 111 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45	Grady, GA	241	Adult_Nep	1 in 45 miles	9	26.8	241	100.0	0	0.0	5.0	5.0		
Lee, GA 246 Adult_Nep 1 in 45 miles 3 82.0 246 100.0 0 0.0 7.4 7.6 Miller, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3	Irwin, GA	88	Adult_Nep	1 in 45 miles	1	88.0	88	100.0	0	0.0	5.2	18.4		
Miller, GA 62 Adult_Nep 1 in 45 miles 2 31.0 62 100.0 0 0.0 5.0 5.0 Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Seminole, GA 111 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3	Lanier, GA	88	Adult_Nep	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	20.6		
Mitchell, GA 237 Adult_Nep 1 in 45 miles 7 33.9 237 100.0 0 0.0 8.6 9.1 Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Seminole, GA 111 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Thomas, GA 374 Adult_Nep 1 in 45 miles 2 <td>Lee, GA</td> <td>246</td> <td>Adult_Nep</td> <td>1 in 45 miles</td> <td>3</td> <td>82.0</td> <td>246</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>7.4</td> <td>7.6</td>	Lee, GA	246	Adult_Nep	1 in 45 miles	3	82.0	246	100.0	0	0.0	7.4	7.6		
Quitman, GA 32 Adult_Nep 1 in 45 miles 0 32 100.0 0 0.0 37.0 37.0 Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 15.5 15.5 Seminole, GA 111 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Titt, GA 458 Adult_Nep 1 in 45 miles 9	Miller, GA	62	Adult_Nep	1 in 45 miles	2	31.0	62	100.0	0	0.0	5.0	5.0		
Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 1	Mitchell, GA	237	Adult_Nep	1 in 45 miles	7	33.9	237	100.0	0	0.0	8.6	9.1		
Randolph, GA 73 Adult_Nep 1 in 45 miles 0 73 100.0 0 0.0 19.0 19.0 Schley, GA 59 Adult_Nep 1 in 45 miles 0 59 100.0 0 0.0 15.5 15.5 Seminole, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 11 Adult_Nep 1 in 45 miles 0	Quitman, GA	32	Adult_Nep	1 in 45 miles	0		32	100.0	0	0.0	37.0	37.0		
Seminole, GA 111 Adult_Nep 1 in 45 miles 0 111 100.0 0 0.0 19.0 19.0 Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Thomas, GA 374 Adult_Nep 1 in 45 miles 22 17.0 374 100.0 0 0.0 4.1 4.9 Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 17.9 18.0 Webster, GA 11 Adult_Nep 1 in 45 miles 0	Randolph, GA	73	Adult_Nep	1 in 45 miles	0		73	100.0	0	0.0	19.0	19.0		
Stewart, GA 51 Adult_Nep 1 in 45 miles 0 50 98.0 1 2.0 28.1 28.3 Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Thomas, GA 374 Adult_Nep 1 in 45 miles 22 17.0 374 100.0 0 0.0 4.1 4.9 Titt, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 17.9 18.0 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Schley, GA	59	Adult_Nep	1 in 45 miles	0		59	100.0	0	0.0	15.5	15.5		
Sumter, GA 339 Adult_Nep 1 in 45 miles 3 113.0 339 100.0 0 0.0 3.9 4.6 Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Thomas, GA 374 Adult_Nep 1 in 45 miles 22 17.0 374 100.0 0 0.0 4.1 4.9 Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 19.5 19.7 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Seminole, GA	111	Adult_Nep	1 in 45 miles			111	100.0	0	0.0	19.0	19.0		
Terrell, GA 91 Adult_Nep 1 in 45 miles 3 30.3 91 100.0 0 0.0 4.2 4.2 Thomas, GA 374 Adult_Nep 1 in 45 miles 22 17.0 374 100.0 0 0.0 4.1 4.9 Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 19.5 19.7 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Stewart, GA	51	Adult_Nep	1 in 45 miles	0		50	98.0	1	2.0	28.1	28.3		
Thomas, GA 374 Adult_Nep 1 in 45 miles 22 17.0 374 100.0 0 0.0 4.1 4.9 Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 19.5 19.7 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Sumter, GA	339	Adult_Nep	1 in 45 miles	3	113.0	339	100.0	0	0.0	3.9	4.6		
Tift, GA 458 Adult_Nep 1 in 45 miles 9 50.9 458 100.0 0 0.0 2.7 3.5 Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 19.5 19.7 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Terrell, GA	91	Adult_Nep	1 in 45 miles		30.3	91	100.0	0	0.0	4.2	4.2		
Turner, GA 117 Adult_Nep 1 in 45 miles 0 117 100.0 0 0.0 19.5 19.7 Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Thomas, GA	374	Adult_Nep	1 in 45 miles			374	100.0			4.1	4.9		
Webster, GA 11 Adult_Nep 1 in 45 miles 0 11 100.0 0 0.0 17.9 18.0	Ti f t, GA	458	Adult_Nep	1 in 45 miles	9	50.9	458	100.0	0	0.0	2.7	3.5		
				1 in 45 miles	0						19.5	19.7		
Werth, GA 201 Adult_Nep 1 in 45 miles 4 50.3 201 100.0 0 0.0 5.8 6.7	Webster, GA	11	Adult_Nep	1 in 45 miles	0		11	100.0	0	0.0	17.9	18.0		
	Worth, GA	201	Adult_Nep	1 in 45 miles	4	50.3	201	100.0	0	0.0	5.8	6.7		

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Nephrology (SOUTHWEST_RURAL)

Access Analysis

Adult_Nephrology - Rural

Member / Provider Groups

Dermatology_Urban

	Adult-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA wndes, GA	1,304	Adult_Der	1 in 30 miles 1 in 30 miles	4 2	326.0 655.5	1,304	100.0 100.0	0	0.0		4.5 5.5	
Ц	© 2023 Quest Analvt	ion IIIC											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Dermatology

Access Analysis

Adult_Dermatology - Urban

Member / Provider Groups

Dermatology_Rural

	Adult-R												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	101	Adult_Der	1 in 45 miles	0		101	100.0	0	0.0	15.5	16.0		
Baker, GA	20	Adult_Der	1 in 45 miles	0		20	100.0	0	0.0	27.2	29.3		
Ben Hill, GA	222	Adult_Der	1 in 45 miles	0		222	100.0	0	0.0	28.7	28.7		
Berrien, GA	260	Adult_Der	1 in 45 miles	0		260	100.0	0	0.0	20.0	20.2		
Brooks, GA	164	Adult_Der	1 in 45 miles	0		164	100.0	0	0.0	17.8	20.3		
Calhoun, GA		Adult_Der	1 in 45 miles	0		62	100.0	0	0.0	31.1	32.9		
Clay, GA	32	Adult_Der	1 in 45 miles	0		22	68.8	10	31.2	44.0	44.1		
Clinch, GA		Adult_Der	1 in 45 miles	0		87	100.0	0	0.0	32.9	33.0		
Coffee, GA	537	Adult_Der	1 in 45 miles	5	107.4	537	100.0	0	0.0	6.5	6.9		
Colquitt, GA	600	Adult_Der	1 in 45 miles	1	600.0	600	100.0	0	0.0	7.4	29.8		
Cook, GA	222	Adult_Der	1 in 45 miles	0		222	100.0	0	0.0	19.6	21.4		
Decatur, GA	355	Adult_Der	1 in 45 miles	0		355	100.0	0	0.0	26.3	26.3		
Early, GA	112	Adult_Der	1 in 45 miles	0			100.0	0	0.0	23.0	23.0		
Edhols, GA	104	Adult_Der	1 in 45 miles	0		104	100.0	0	0.0	18.6	19.6		
Grady, GA	241	Adult_Der	1 in 45 miles	0		241	100.0	0	0.0	17.6	17.6		
Irwin, GA	88	Adult_Der	1 in 45 miles	0		88	100.0	0	0.0	19.3	19.3		
Lanier, GA	88	Adult_Der	1 in 45 miles	0		88	100.0	0	0.0	22.6	22.8		
Lee, GA	246	Adult_Der	1 in 45 miles	0		246	100.0	0	0.0	7.8	8.6		
Miller, GA	62	Adult_Der	1 in 45 miles	0		62	100.0	0	0.0	17.8	17.8		
Mitchell, GA	237	Adult_Der	1 in 45 miles	0		237	100.0	0	0.0	23.6	26.2		
Quitman, GA	32	Adult_Der	1 in 45 miles	0		16	50.0	16	50.0	45.7	47.7		
Randolph, GA	73	Adult_Der	1 in 45 miles	0		73	100.0	0	0.0	36.9	40.7		
Schley, GA	59	Adult_Der	1 in 45 miles	0		59	100.0	0	0.0	16.5	16.5		
Seminole, GA	111	Adult_Der	1 in 45 miles	2	55.5	111	100.0	0	0.0	7.2	7.2		
Stewart, GA	51	Adult_Der	1 in 45 miles	0		51	100.0	0	0.0	29.4	29.5		
Sumter, GA	339	Adult_Der	1 in 45 miles	4	84.8	339	100.0	0	0.0	4.0	4.0		
Terrell, GA	91	Adult_Der	1 in 45 miles	0		91	100.0	0	0.0	22.8	26.0		
Thomas, GA	374	Adult_Der	1 in 45 miles	4	93.5	374	100.0	0	0.0	5.7	6.0		
Ti f t, GA	458	Adult_Der	1 in 45 miles	5	91.6	458	100.0	0	0.0	4.2	4.2		
Turner, GA	117	Adult_Der	1 in 45 miles	0		117	100.0	0	0.0	22.6	22.6		
Webster, GA	11	Adult_Der	1 in 45 miles	0		11	100.0	0	0.0	20.2	20.2		
Worth, GA	201	Adult_Der	1 in 45 miles	0		201	100.0	0	0.0	17.6	17.6		
© 2023 Quest Analyt	ics IIC	•	•	•									

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Dermatology

Access Analysis

Adult_Dermatology - Rural

Member / Provider Groups

Rheumatology_Urban

	Adult-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA wndes, GA	1,304	Adult_Rhe	1 in 30 miles 1 in 30 miles	5 0	260.8 		100.0 93.4	0 87	0.0	3.7 23.4	4.3 40.5	
$ \ $													
$ \ $													
Ц	2023 Quest Analvt	ian II C											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Rheumatology

Access Analysis

Adult_Rheumatology- Urban

Member / Provider Groups

Rheumatology_Rural

	Adult-R												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	101	Adult_Rhe	1 in 45 miles	0		101	100.0	0	0.0	15.9	15.9		
Baker, GA	20	Adult_Rhe	1 in 45 miles	0		20	100.0	0	0.0	27.2	29.4		
Ben Hill, GA	222	Adult_Rhe	1 in 45 miles	0		222	100.0	0	0.0	28.8	28.8		
Berrien, GA	260	Adult_Rhe	1 in 45 miles	0		260	100.0	0	0.0	16.1	29.1		
Brooks, GA	164	Adult_Rhe	1 in 45 miles	0		164	100.0	0	0.0	20.7	23.3		
Calhoun, GA	62	Adult_Rhe	1 in 45 miles	0		62	100.0	0	0.0	32.4	34.6		
Clay, GA	32	Adult_Rhe	1 in 45 miles	0		1	3.1	31	96.9	49.8	52.1		
Clinch, GA	87	Adult_Rhe	1 in 45 miles	0		84	96.6	3	3.4	33.0	34.0		
Coffee, GA	537	Adult_Rhe	1 in 45 miles	2	268.5	537	100.0	0	0.0	6.8	6.8		
Colquitt, GA	600	Adult_Rhe	1 in 45 miles	3	200.0	600	100.0	0	0.0	7.2	7.4		
Cook, GA	222	Adult_Rhe	1 in 45 miles	1	222.0	222	100.0	0	0.0	5.6	20.8		
Decatur, GA	355	Adult_Rhe	1 in 45 miles	0		338	95.2	17	4.8	37.2	37.3		
Early, GA	112	Adult_Rhe	1 in 45 miles	0		9	8.0	103	92.0	50.6	52.4		
Edhols, GA	104	Adult_Rhe	1 in 45 miles	0		82	78.8	22	21.2	39.1	51.1		
Grady, GA	241	Adult_Rhe	1 in 45 miles	0		241	100.0	0	0.0	17.6	17.8		
Irwin, GA	88	Adult_Rhe	1 in 45 miles	0		88	100.0	0	0.0	19.4	19.4		
Lanier, GA	88	Adult_Rhe	1 in 45 miles	0		88	100.0	0	0.0	23.7	38.8		
Lee, GA	246	Adult_Rhe	1 in 45 miles	0		246	100.0	0	0.0	8.5	9.8		
Miller, GA	62	Adult_Rhe	1 in 45 miles	0		11	17.7	51	82.3	51.2	52.2		
Mitchell, GA	237	Adult_Rhe	1 in 45 miles	0		237	100.0	0	0.0	24.1	24.2		
Quitman, GA	32	Adult_Rhe	1 in 45 miles	0		27	84.4	5	15.6	42.6	44.1		
Randolph, GA	73	Adult_Rhe	1 in 45 miles	0		73	100.0	0	0.0	37.0	39.5		
Schley, GA	59	Adult_Rhe	1 in 45 miles	0		59	100.0	0	0.0	18.6	43.1		
Seminole, GA	111	Adult_Rhe	1 in 45 miles	0		0	0.0	111	100.0	57.4	57.5		
Stewart, GA	51	Adult_Rhe	1 in 45 miles	0		51	100.0	0	0.0	36.8	38.9		
Sumter, GA	339	Adult_Rhe	1 in 45 miles	0		339	100.0	0	0.0	25.2	33.3		
Terrell, GA	91	Adult_Rhe	1 in 45 miles	0		91	100.0	0	0.0	23.3	25.9		
Thomas, GA	374	Adult_Rhe	1 in 45 miles	3	124.7	374	100.0	0	0.0	5.7	5.8		
Ti f t, GA	458	Adult_Rhe	1 in 45 miles	3	152.7	458	100.0	0	0.0	3.7	4.3		
Turner, GA	117	Adult_Rhe	1 in 45 miles	0			100.0	0	0.0		23.5		
Webster, GA		_	1 in 45 miles	0		11	100.0	0	0.0	38.6	43.2		
Worth, GA	201	Adult_Rhe	1 in 45 miles	0		201	100.0	0	0.0	17.9	18.2		
© 2023 Quest Analyt				l									

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Rheumatology

Access Analysis

Adult_Rheumatology - Rural

Member / Provider Groups

Infectious_Disease_Urban

	Adult-U													
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
Co	unty	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2		
Doughe	rty, GA	1,304		1 in 30 miles	5	260.8	1,304	100.0	0			4.3		
Lownde	s, GA	1,311	Adult_Infe	1 in 30 miles	5	262.2	1,311	100.0	0	0.0	4.7	4.9		
	Quest Analyti													

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Infectious Disease (SOUTHWEST_URBAN)

Access Analysis

Adult_Infectious Disease_Urban

Member / Provider Groups

Infectious_Disease_Rural

	Adult-R												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	101	Adult Infe	1 in 45 miles	0		101		0	0.0	15.0	23.0		
Baker, GA		Adult Infe	1 in 45 miles	0		20	100.0	0	0.0	27.6	27.6		
Ben Hill, GA		Adult Infe	1 in 45 miles	0			100.0	0	0.0	9.5	28.4		
Berrien, GA		Adult Infe	1 in 45 miles	2	130.0		100.0	0	0.0	5.6	10.5		
Brooks, GA		Adult Infe	1 in 45 miles	0			100.0	0	0.0	20.9	21.3		
Calhoun, GA	62	Adult_Infe	1 in 45 miles	0		62	100.0	0	0.0	25.0	25.0		
Clay, GA	32	Adult_Infe	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3		
Clinch, GA	87	Adult_Infe	1 in 45 miles	0		84		3	3.4	22.0	37.1		
Coffee, GA	537	Adult_Infe	1 in 45 miles	1	537.0		100.0	0	0.0	6.6	28.1		
Colquitt, GA	600	Adult_Infe	1 in 45 miles	3	200.0	600	100.0	0	0.0	5.8	7.3		
Cook, GA	222	Adult_Infe	1 in 45 miles	7	31.7	222	100.0	0	0.0	4.4	4.6		
Decatur, GA	355	Adult_Infe	1 in 45 miles	1	355.0		100.0	0	0.0	5.6	26.3		
Early, GA	112	Adult_Infe	1 in 45 miles	0			100.0	0	0.0	22.1	22.1		
Edhols, GA		Adult_Infe	1 in 45 miles	0			100.0	0	0.0	27.1	37.6		
Grady, GA		Adult_Infe	1 in 45 miles	0			100.0	0	0.0	16.4	18.1		
Irwin, GA		Adult_Infe	1 in 45 miles	1	88.0		100.0	0	0.0	5.2	18.7		
Lanier, GA		_	1 in 45 miles	1	88.0		100.0	0	0.0	3.3	20.6		
Lee, GA		Adult_Infe	1 in 45 miles	0			100.0	0	0.0	27.7	47.8		
Miller, GA		Adult_Infe	1 in 45 miles	2	31.0	62	100.0	0	0.0	5.0	5.0		
Mitchell, GA		Adult_Infe	1 in 45 miles	0		237	100.0	0	0.0	25.1	26.0		
Quitman, GA		Adult_Infe	1 in 45 miles	0		0	0.0	32	100.0	53.0	56.4		
Randolph, GA		Adult_Infe	1 in 45 miles	0		73		0	0.0	41.1	42.0		
Schley, GA		Adult_Infe	1 in 45 miles	0			100.0	0	0.0	15.6	80.6		
Seminole, GA		Adult_Infe	1 in 45 miles	0			100.0	0	0.0	19.1	20.9		
Stewart, GA		Adult_Infe	1 in 45 miles	0		50	98.0	1	2.0	28.3	62.7		
Sumter, GA		Adult_Infe	1 in 45 miles	1	339.0	339	100.0	0	0.0	4.9	69.2		
Terrell, GA		Adult_Infe	1 in 45 miles	0	407.0	91	100.0	0	0.0	27.2	50.3		
Thomas, GA Tift, GA		Adult_Infe	1 in 45 miles	3	187.0 152.7		100.0 100.0	0	0.0	5.0 2.9	6.3 3.9		
Turner, GA		Adult_Infe Adult Infe	1 in 45 miles 1 in 45 miles	0			100.0		0.0	23.2	23.5		
Webster, GA		Adult Infe	1 in 45 miles	0			100.0	0	0.0	18.5	63.9		
Worth, GA		Adult Infe	1 in 45 miles	0			100.0	0	0.0	21.9	22.9		
Worth, GA	201	Adult_Inle	1 III 45 IIIIles	U		201	100.0	U	0.0	21.9	22.9		
© 2023 Quest A	Inclution IIC												

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Infectious Disease (SOUTHWEST_RURAL)

Access Analysis

Adult_Infectious Disease_Rural

Member / Provider Groups

General_Surgery_Urban

				A	dult-U						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	1,304 1,311	Adult_Gen Adult_Gen	1 in 30 miles 1 in 30 miles	40 36	32.6 36.4	1,304 1,311	100.0 100.0	0	0.0		3.6 4.2
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_General Surgery (SOUTHWEST_URBAN)

Access Analysis

Adult_General Surgery_Urban

Member / Provider Groups

General_Surgery_Rural

				Α	dult-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Gen	1 in 45 miles	5	20.2	101	100.0	0	0.0	4.8	10.1
Baker, GA	20	Adult_Gen	1 in 45 miles	0		20	100.0	0	0.0	15.0	15.3
Ben Hill, GA	222	Adult_Gen	1 in 45 miles	11	20.2	222	100.0	0	0.0	2.2	2.3
Berrien, GA	260	Adult_Gen	1 in 45 miles	5	52.0	260	100.0	0	0.0	5.5	7.2
Brooks, GA	164	Adult Gen	1 in 45 miles	5	32.8	164	100.0	0	0.0	6.4	6.4
Calhoun, GA	62	Adult_Gen	1 in 45 miles	1	62.0	62	100.0	0	0.0	8.4	19.1
Clay, GA	32	Adult_Gen	1 in 45 miles	0		32	100.0	0	0.0	21.9	30.5
Clinch, GA	87	Adult_Gen	1 in 45 miles	3	29.0	87	100.0	0	0.0	5.2	5.6
Coffee, GA	537	Adult_Gen	1 in 45 miles	15	35.8	537	100.0	0	0.0	5.4	6.0
Colquitt, GA	600	Adult Gen	1 in 45 miles	13	46.2		100.0	0	0.0	5.6	6.9
Cook, GA		_	1 in 45 miles	13			100.0	0	0.0	3.9	4.1
Decatur, GA		_	1 in 45 miles	3	118.3		100.0	0	0.0	5.4	5.5
Early, GA			1 in 45 miles	0			100.0	0	0.0	15.2	21.5
Edhols, GA		_	1 in 45 miles	0			100.0	0	0.0	25.1	28.0
Grady, GA		_	1 in 45 miles	14	17.2		100.0	0	0.0	5.0	5.0
Irwin, GA		_	1 in 45 miles	9	9.8		100.0	0	0.0		4.9
Lanier, GA		_	1 in 45 miles	1	88.0		100.0	0	0.0		17.9
Lee, GA		_	1 in 45 miles	Ö			100.0	0	0.0		26.4
Miller, GA		Adult Gen		3			100.0	0	0.0	4.8	4.8
Mitchell, GA		_	1 in 45 miles	7	33.9		100.0	0	0.0	5.7	9.1
Quitman, GA		_	1 in 45 miles	0			100.0	0	0.0	21.2	44.3
Randolph, GA		_	1 in 45 miles	1	73.0		100.0	0	0.0	3.7	24.9
Schley, GA		Adult Gen	1 in 45 miles	0			100.0	0	0.0	15.6	15.6
Seminole, GA		Adult Gen	1 in 45 miles	10			100.0	0	0.0		7.1
Stewart, GA		_	1 in 45 miles	0			100.0	0	0.0		28.4
Sumter, GA		_	1 in 45 miles	4	84.8		100.0	0	0.0	4.9	4.9
Terrell, GA		_	1 in 45 miles	0			100.0	0	0.0		27.1
Thomas, GA		_	1 in 45 miles	26	14.4		100.0	0	0.0	4.5	5.3
Tift, GA		_	1 in 45 miles	9			100.0	0	0.0	3.0	4.1
Turner, GA		Adult Gen	1 in 45 miles	0			100.0	0	0.0		22.2
Webster, GA		_	1 in 45 miles	0			100.0	0	0.0		18.5
Worth, GA		_	1 in 45 miles	1	201.0		100.0	0	0.0		22.2
Worth, GA	201	Addit_Gen	T III 40 IIIIIC3		201.0	201	100.0	Ü	0.0	0.0	22.2
© 2023 Quest Analyt		L	L								

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_General Surgery (SOUTHWEST_RURAL)

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Neurology_Urban

					A	dult-U						
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA wndes, GA	1,304	Adult_Neu		40 15	32.6	1,304	100.0 100.0	0	0.0		3.7 4.4
بِ	© 2023 Quest Analyt	: //0										

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Neurology (SOUTHWEST_URBAN)

Access Analysis

Adult_Neurology - Urban

Member / Provider Groups

Neurology_Rural

				A	dult-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Neu	1 in 45 miles	0		101	100.0	0	0.0	14.2	15.5
Baker, GA	20	Adult_Neu	1 in 45 miles	0		20	100.0	0	0.0	27.6	27.6
Ben Hill, GA	222	Adult_Neu	1 in 45 miles	0		222	100.0	0	0.0	9.5	28.2
Berrien, GA	260	Adult_Neu	1 in 45 miles	2	130.0	260	100.0	0	0.0	5.6	10.5
Brooks, GA	164	Adult_Neu	1 in 45 miles	0		164	100.0	0	0.0	20.8	21.4
Calhoun, GA	62	Adult_Neu	1 in 45 miles	0		62		0	0.0	25.0	25.0
Clay, GA	32	Adult_Neu	1 in 45 miles	0		24	75.0	8	25.0	43.3	43.3
Clinch, GA	87	Adult_Neu	1 in 45 miles	0		84		3	3.4	22.0	36.9
Coffee, GA	537	Adult_Neu	1 in 45 miles	3	179.0	537	100.0	0	0.0	6.3	6.8
Colquitt, GA	600	Adult_Neu	1 in 45 miles	3	200.0	600	100.0	0	0.0	5.4	6.9
Cook, GA	222	Adult_Neu	1 in 45 miles	7	31.7	222	100.0	0	0.0	3.9	4.6
Decatur, GA	355	Adult_Neu	1 in 45 miles	1	355.0	355	100.0	0	0.0	5.6	26.3
Early, GA	112	Adult_Neu	1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Edhols, GA	104	Adult_Neu	1 in 45 miles	0		104	100.0	0	0.0	27.1	37.4
Grady, GA	241	Adult_Neu	1 in 45 miles	0		241	100.0	0	0.0	16.1	17.4
Irwin, GA	88	Adult_Neu	1 in 45 miles	1	88.0	88	100.0	0	0.0	5.2	18.4
Lanier, GA	88	Adult_Neu	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	20.6
Lee, GA	246	Adult_Neu	1 in 45 miles	0		246	100.0	0	0.0	24.1	24.2
Miller, GA	62	Adult_Neu	1 in 45 miles	2	31.0	62	100.0	0	0.0	5.0	5.0
Mitchell, GA	237	Adult Neu	1 in 45 miles	0		237	100.0	0	0.0	24.4	25.0
Quitman, GA	32	Adult_Neu	1 in 45 miles	0		0	0.0	32	100.0	53.0	53.0
Randolph, GA	73	Adult Neu	1 in 45 miles	0		73	100.0	0	0.0	41.1	41.1
Schley, GA	59	Adult_Neu	1 in 45 miles	0		59	100.0	0	0.0	15.5	15.6
Seminole, GA	111	Adult_Neu	1 in 45 miles	0		111	100.0	0	0.0	19.1	20.9
Stewart, GA	51	Adult_Neu	1 in 45 miles	0		50	98.0	1	2.0	28.3	28.3
Sumter, GA	339	Adult_Neu	1 in 45 miles	5	67.8	339	100.0	0	0.0	3.9	4.9
Terrell, GA	91	Adult_Neu	1 in 45 miles	0		91	100.0	0	0.0	27.2	27.2
Thomas, GA	374	Adult_Neu	1 in 45 miles	13	28.8	374	100.0	0	0.0	5.4	5.6
Ti t t, GA	458	Adult_Neu	1 in 45 miles	5	91.6	458	100.0	0	0.0	2.7	3.8
Turner, GA	117	Adult_Neu	1 in 45 miles	0		117	100.0	0	0.0	21.0	21.9
Webster, GA	11	Adult_Neu	1 in 45 miles	0		11	100.0	0	0.0	18.5	18.5
Worth, GA	201	Adult_Neu	1 in 45 miles	3	67.0	201	100.0	0	0.0	6.7	6.9
© 2023 Quest Analyt	<u> </u>	L	L								

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Neurology (SOUTHWEST_RURAL)

Access Analysis

Adult_Neurology - Rural

Member / Provider Groups

Ophthalmology_Urban

					A	dult-U						
		Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA wndes, GA	1,304 1,311	Adult_Oph Adult_Oph	1 in 30 miles 1 in 30 miles	4 5	326.0 262.2	1,304 1,311	100.0 100.0	0	0.0		4.5 5.7
	© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023 Adult_Ophthalmology

Access Analysis

Adult_Ophthalmology- Urban

Member / Provider Groups

Ophthalmology_Rural

				A	dult-R						
	Member	Pro	ovider	Counts	Datia Mambara	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Oph	1 in 45 miles	0		101	100.0	0	0.0	15.6	15.6
Baker, GA	20	Adult_Oph	1 in 45 miles	0		20	100.0	0	0.0	27.2	27.2
Ben Hill, GA	222	Adult_Oph	1 in 45 miles	0		222	100.0	0	0.0	29.0	30.1
Berrien, GA	260	Adult_Oph	1 in 45 miles	0		260	100.0	0	0.0	20.3	20.5
Brooks, GA	164	Adult_Oph	1 in 45 miles	0		164	100.0	0	0.0	20.3	21.2
Calhoun, GA	62	Adult_Oph	1 in 45 miles	0		62	100.0	0	0.0	32.4	32.4
Clay, GA	32	Adult_Oph	1 in 45 miles	0		23	71.9	9	28.1	43.1	50.0
Clinch, GA	87	Adult_Oph	1 in 45 miles	0		87	100.0	0	0.0	31.9	32.6
Coffee, GA	537	Adult_Oph	1 in 45 miles	3	179.0	537	100.0	0	0.0	6.5	6.7
Colquitt, GA	600	Adult_Oph	1 in 45 miles	0		600	100.0	0	0.0	31.2	31.7
Cook, GA	222	Adult_Oph	1 in 45 miles	0		222	100.0	0	0.0	19.5	20.8
Decatur, GA	355	Adult_Oph	1 in 45 miles	0		350	98.6	5	1.4	39.8	39.8
Early, GA	112	Adult_Oph	1 in 45 miles	0			100.0	0	0.0	32.9	46.7
Edhols, GA	104	Adult_Oph	1 in 45 miles	0		104	100.0	0	0.0	18.0	20.3
Grady, GA	241	Adult_Oph	1 in 45 miles	0		241	100.0	0	0.0	29.7	29.7
Irwin, GA	88	Adult_Oph	1 in 45 miles	0		88	100.0	0	0.0	19.6	20.5
Lanier, GA	88	Adult_Oph	1 in 45 miles	0		88	100.0	0	0.0	23.0	23.2
Lee, GA	246	Adult_Oph	1 in 45 miles	0		246	100.0	0	0.0	7.2	8.0
Miller, GA	62	Adult_Oph	1 in 45 miles	0		57	91.9	5	8.1	40.1	47.6
Mitchell, GA	237	Adult_Oph	1 in 45 miles	0		237	100.0	0	0.0	29.8	30.8
Quitman, GA	32	Adult_Oph	1 in 45 miles	0		25	78.1	7	21.9	43.6	44.4
Randolph, GA	73	Adult_Oph	1 in 45 miles	0		73	100.0	0	0.0	36.9	36.9
Schley, GA	59	Adult_Oph	1 in 45 miles	0		59	100.0	0	0.0	16.4	16.4
Seminole, GA	111	Adult_Oph	1 in 45 miles	0		111	100.0	0	0.0	31.1	31.7
Stewart, GA	51	Adult_Oph	1 in 45 miles	0		51	100.0	0	0.0	29.0	29.1
Sumter, GA	339	Adult_Oph	1 in 45 miles	3	113.0	339	100.0	0	0.0	4.1	4.1
Terrell, GA	91	Adult_Oph	1 in 45 miles	0		91	100.0	0	0.0	22.7	22.7
Thomas, GA	374	Adult_Oph	1 in 45 miles	0		374	100.0	0	0.0	35.9	36.3
Ti f t, GA	458	Adult_Oph	1 in 45 miles	5	91.6		100.0	0	0.0	3.4	3.8
Turner, GA	117	Adult_Oph	1 in 45 miles	0		117	100.0	0	0.0	22.9	22.9
Webster, GA		Adult_Oph	1 in 45 miles	0		11	100.0	0	0.0	20.0	20.0
Worth, GA	201	Adult_Oph	1 in 45 miles	0		201	100.0	0	0.0	17.7	18.4
© 2023 Quest Analyti	ion II C		<u> </u>								

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Ophthalmology

Access Analysis

Adult_Ophthalmology - Rural

Member / Provider Groups

Orthopedics_Urban

					Ad	dult-U						
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA wndes, GA	1,304 1,311	Adult_Orth Adult_Orth	1 in 30 miles 1 in 30 miles	35 48	37.3 27.3	1,304 1,311	100.0 100.0	0	0.0		3.0 3.6
Ц	© 2023 Quest Analvt	i 110										

© 2023 Quest Analytics, LLC.

April 26, 2023 Adult_Orthopedics

Access Analysis

Adult_Orhopedics- Urban

Member / Provider Groups

Orthopedics_Rural

				A	dult-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Orth	1 in 45 miles	0		101	100.0	0	0.0	13.7	15.0
Baker, GA	20	Adult_Orth	1 in 45 miles	3	6.7	20	100.0	0	0.0	4.1	4.1
Ben Hill, GA	222	Adult_Orth	1 in 45 miles	2	111.0	222	100.0	0	0.0	3.2	5.1
Berrien, GA	260	Adult_Orth	1 in 45 miles	2	130.0	260	100.0	0	0.0	5.6	10.3
Brooks, GA	164	Adult_Orth	1 in 45 miles	0		164	100.0	0	0.0	16.1	16.1
Calhoun, GA	62	Adult_Orth	1 in 45 miles	2	31.0	62	100.0	0	0.0	6.6	6.6
Clay, GA	32	Adult_Orth	1 in 45 miles	0		32	100.0	0	0.0	21.9	21.9
Clinch, GA	87	Adult_Orth	1 in 45 miles	5	17.4		100.0	0	0.0	5.6	5.6
Coffee, GA	537	Adult_Orth	1 in 45 miles	11	48.8		100.0	0	0.0	5.5	6.0
Colquitt, GA	600	Adult_Orth	1 in 45 miles	14	42.9		100.0	0	0.0	5.6	6.8
Cook, GA	222	Adult_Orth	1 in 45 miles	23	9.7	222	100.0	0	0.0	3.9	4.1
Decatur, GA	355	Adult_Orth	1 in 45 miles	3	118.3	355	100.0	0	0.0	4.5	5.5
Early, GA	112	Adult_Orth	1 in 45 miles	0		112	100.0	0	0.0	20.0	20.0
Edhols, GA	104	Adult_Orth	1 in 45 miles	0		104	100.0	0	0.0	15.6	15.6
Grady, GA	241	Adult_Orth	1 in 45 miles	4	60.3	241	100.0	0	0.0	4.1	5.0
Irwin, GA	88	Adult_Orth	1 in 45 miles	1	88.0	88	100.0	0	0.0	5.1	9.8
Lanier, GA	88	Adult_Orth	1 in 45 miles	1	88.0	88	100.0	0	0.0	3.3	17.9
Lee, GA	246	Adult_Orth	1 in 45 miles	16	15.4	246	100.0	0	0.0	5.1	6.5
Miller, GA	62	Adult_Orth	1 in 45 miles	4	15.5	62	100.0	0	0.0	4.8	4.8
Mitchell, GA	237	Adult_Orth	1 in 45 miles	4	59.3	237	100.0	0	0.0	5.5	8.5
Quitman, GA	32	Adult_Orth	1 in 45 miles	0		32	100.0	0	0.0	37.6	37.6
Randolph, GA	73	Adult_Orth	1 in 45 miles	0		73	100.0	0	0.0	15.2	15.2
Schley, GA	59	Adult_Orth	1 in 45 miles	2	29.5	59	100.0	0	0.0	3.8	4.1
Seminole, GA	111	Adult_Orth	1 in 45 miles	2	55.5	111	100.0	0	0.0	6.9	7.1
Stewart, GA	51	Adult_Orth	1 in 45 miles	0		51	100.0	0	0.0	26.9	27.1
Sumter, GA	339	Adult_Orth	1 in 45 miles	8	42.4	339	100.0	0	0.0	3.4	3.6
Terrell, GA	91	Adult_Orth	1 in 45 miles	2	45.5	91	100.0	0	0.0	3.6	3.6
Thomas, GA	374	Adult_Orth	1 in 45 miles	11	34.0	374	100.0	0	0.0	4.2	4.5
Ti f t, GA	458	Adult_Orth	1 in 45 miles	23	19.9		100.0	0	0.0	2.5	2.7
Turner, GA		Adult_Orth	1 in 45 miles	0			100.0	0	0.0		20.3
Webster, GA	11	Adult_Orth	1 in 45 miles	0		11	100.0	0	0.0		17.6
Worth, GA	201	Adult_Orth	1 in 45 miles	3	67.0	201	100.0	0	0.0	5.9	6.1

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Orthopedics

Access Analysis

Adult_Orhopedics- Rural

Member / Provider Groups

Optometry_Urban

				A	dult-U						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County		Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, G Lowndes, GA	GA 1,304	Adult_Opt	1 in 30 miles 1 in 30 miles	11 4	118.5	1,304		0	0.0	3.3	5.0 4.9
	Analytics, LLC.	ļ	<u> </u>	<u> </u>							

© 2023 Quest Analytics, LLC.

April 26, 2023 Adult_Optometry

Access Analysis

Adult_Optometry - Urban

Member / Provider Groups

Optometry_Rural

				A	dult-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Opt	1 in 45 miles	0		101	100.0	0	0.0	15.3	15.8
Baker, GA	20	Adult_Opt	1 in 45 miles	0		20	100.0	0	0.0	15.6	26.5
Ben Hill, GA	222	Adult_Opt	1 in 45 miles	0		222	100.0	0	0.0	32.7	34.2
Berrien, GA	260	Adult_Opt	1 in 45 miles	0		260	100.0	0	0.0	16.7	23.7
Brooks, GA	164	Adult_Opt	1 in 45 miles	1	164.0	164	100.0	0	0.0	8.0	18.7
Calhoun, GA	62	Adult_Opt	1 in 45 miles	0			100.0	0	0.0	31.9	32.4
Clay, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	21.6	49.4
Clinch, GA	87	Adult_Opt	1 in 45 miles	0			100.0	0	0.0	32.5	32.5
Coffee, GA		Adult_Opt	1 in 45 miles	2	268.5		100.0	0	0.0	6.3	6.9
Colquitt, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	21.4	27.0
Cook, GA		Adult_Opt	1 in 45 miles	1	222.0	222	100.0	0	0.0	4.9	25.6
Decatur, GA		Adult_Opt	1 in 45 miles	2	177.5		100.0	0	0.0	5.4	5.6
Early, GA		Adult_Opt	1 in 45 miles	0		110		2	1.8	40.3	44.5
Edhols, GA			1 in 45 miles	0			100.0	0	0.0	17.8	17.8
Grady, GA	241	Adult_Opt	1 in 45 miles	0		241		0	0.0	16.0	16.5
Irwin, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	25.6	26.5
Lanier, GA	88	Adult_Opt	1 in 45 miles	0			100.0	0	0.0	23.2	23.8
Lee, GA			1 in 45 miles	0			100.0	0	0.0	7.0	9.4
Miller, GA		'	1 in 45 miles	0			100.0	0	0.0	24.3	24.5
Mitchell, GA		Adult_Opt	1 in 45 miles	1	237.0		100.0	0	0.0	9.2	24.7
Quitman, GA		'	1 in 45 miles	0			100.0	0	0.0	5.7	41.7
Randolph, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	27.2	36.5
Schley, GA	59	Adult_Opt	1 in 45 miles	0			100.0	0	0.0	17.7	33.4
Seminole, GA	111	Adult_Opt	1 in 45 miles	0			100.0	0	0.0	24.9	25.1
Stewart, GA			1 in 45 miles	0			100.0	0	0.0	27.2	33.3
Sumter, GA		Adult_Opt	1 in 45 miles	1	339.0		100.0	0	0.0	4.6	27.5
Terrell, GA		Adult_Opt	1 in 45 miles	0		91		0	0.0	22.4	22.8
Thomas, GA		Adult_Opt	1 in 45 miles	7	53.4		100.0	0	0.0	5.6	5.8
Tift, GA		'	1 in 45 miles	0			100.0	0	0.0	24.0	38.7
Turner, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	30.4	33.3
Webster, GA		Adult_Opt	1 in 45 miles	0			100.0	0	0.0	21.3	39.7
Worth, GA	201	Adult_Opt	1 in 45 miles	0		201	100.0	0	0.0	22.2	24.6
© 2023 Quest Analyt	<u> </u>	ļ	<u> </u>	<u> </u>							

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Optometry

Access Analysis

Adult_Optometry - Rural

Member / Provider Groups

Urology_Urban

					A	dult-U						
		Member	Pro	vider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance
	County					to Providers					1	
Dοι	ıgherty, GA			1 in 30 miles	4		1,304	100.0	0	0.0	4.4	6.4
Double	County ugherty, GA vndes, GA	# 1,304 1,311	Group Adult_Urol Adult_Urol	Standard 1 in 30 miles 1 in 30 miles	Counts #	Ratio Members to Providers 326.0	# 1,304 1,311	100.0 100.0	Without Ad	%	1 4.4	2
	2023 Quest Analy											

© 2023 Quest Analytics, LLC.

April 26, 2023 Adult_Urology

Access Analysis

Adult_Urology- Urban

Member / Provider Groups

Urology_Rural

				Α	dult-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Urol	1 in 45 miles	0		101	100.0	0	0.0	15.6	16.0
Baker, GA	20	Adult_Urol	1 in 45 miles	0		20	100.0	0	0.0	26.1	26.9
Ben Hill, GA	222	Adult_Urol	1 in 45 miles	0		222	100.0	0	0.0	28.7	28.7
Berrien, GA	260	Adult_Urol	1 in 45 miles	0		260	100.0	0	0.0	15.8	15.9
Brooks, GA	164	Adult_Urol	1 in 45 miles	3	54.7	164	100.0	0	0.0	6.8	6.8
Calhoun, GA		_	1 in 45 miles	0		62	100.0	0	0.0	32.1	32.2
Clay, GA	32	Adult_Urol	1 in 45 miles	0		1	-	31	96.9	49.8	49.8
Clinch, GA	87	Adult_Urol	1 in 45 miles	0		87	100.0	0	0.0	32.5	35.6
Coffee, GA	537	Adult_Urol	1 in 45 miles	3	179.0	537	100.0	0	0.0	6.1	7.1
Colquitt, GA	600	Adult_Urol	1 in 45 miles	2	300.0	600	100.0	0	0.0	7.3	7.3
Cook, GA	222	Adult_Urol	1 in 45 miles	2	111.0	222	100.0	0	0.0	5.6	5.6
Decatur, GA	355	Adult_Urol	1 in 45 miles	1	355.0	355	100.0	0	0.0	5.5	23.7
Early, GA	112	Adult_Urol	1 in 45 miles	0		29	25.9	83	74.1	45.2	49.8
Edhols, GA	104	Adult_Urol	1 in 45 miles	0		104	100.0	0	0.0	18.1	19.0
Grady, GA	241	Adult_Urol	1 in 45 miles	2	120.5	241	100.0	0	0.0	5.0	5.0
Irwin, GA	88	Adult_Urol	1 in 45 miles	0		88	100.0	0	0.0	19.2	19.2
Lanier, GA	88	Adult_Urol	1 in 45 miles	0		88	100.0	0	0.0	22.2	22.5
Lee, GA	246	Adult_Urol	1 in 45 miles	0		246	100.0	0	0.0	7.1	8.7
Miller, GA	62	Adult_Urol	1 in 45 miles	0		62	100.0	0	0.0	24.4	43.3
Mitchell, GA	237	Adult_Urol	1 in 45 miles	0		237	100.0	0	0.0	20.8	21.4
Quitman, GA	32	Adult_Urol	1 in 45 miles	0		25	78.1	7	21.9	43.9	44.1
Randolph, GA	73	Adult_Urol	1 in 45 miles	0		73	100.0	0	0.0	36.7	36.7
Schley, GA	59	Adult_Urol	1 in 45 miles	0		59	100.0	0	0.0	14.0	15.6
Seminole, GA	111	Adult_Urol	1 in 45 miles	0		111	100.0	0	0.0	25.0	44.1
Stewart, GA	51	Adult_Urol	1 in 45 miles	0		51	100.0	0	0.0	27.6	27.6
Sumter, GA	339	Adult_Urol	1 in 45 miles	2	169.5	339	100.0	0	0.0	4.5	4.9
Terrell, GA	91	Adult_Urol	1 in 45 miles	0		91	100.0	0	0.0	22.3	22.3
Thomas, GA	374	Adult_Urol	1 in 45 miles	6	62.3	374	100.0	0	0.0	5.4	5.5
Ti f t, GA	458	Adult_Urol	1 in 45 miles	9	50.9	458	100.0	0	0.0	4.3	
Turner, GA	117	Adult_Urol	1 in 45 miles	0		117	100.0	0	0.0	22.7	23.5
Webster, GA	11	Adult_Urol	1 in 45 miles	0		11	100.0	0	0.0	18.5	18.5
Worth, GA	201	Adult_Urol	1 in 45 miles	0		201	100.0	0	0.0	18.1	19.6
© 2023 Quest Analyti	ing IIIC		l	I			L				

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Urology

Access Analysis

Adult_Urology- Rural

Member / Provider Groups

Vascular_Surgery_Urban

	Adult-U Member Provider Counts Ratio Members With Access Without Access Average Distance										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	1,304 1,311		1 in 30 miles 1 in 30 miles	18 13		1,304 1,311	100.0 100.0	0	0.0		3.7 4.6
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Vascular Surgery

Access Analysis

Adult_Vascular Surgery- Urban

Member / Provider Groups

 $\begin{tabular}{ll} \hline Adult Urban Members (SOUTHWEST_URBAN) \\ \hline \end{tabular}$

Vascular_Surgery_Rural

				A	dult-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	101	Adult_Vas	1 in 45 miles	0		101	100.0	0	0.0	15.9	15.9
Baker, GA	20	Adult_Vas	1 in 45 miles	0		20	100.0	0	0.0	15.6	24.4
Ben Hill, GA	222	Adult_Vas	1 in 45 miles	0		222	100.0	0	0.0	28.8	28.8
Berrien, GA	260	Adult_Vas	1 in 45 miles	0		260	100.0	0	0.0	15.8	15.9
Brooks, GA	164	Adult_Vas	1 in 45 miles	2	82.0		100.0		0.0	6.3	8.4
Calhoun, GA	62		1 in 45 miles	0		62	100.0		0.0	32.2	32.8
Clay, GA			1 in 45 miles	0		1	3.1	31	96.9	50.7	50.7
Clinch, GA		_	1 in 45 miles	0		87	100.0	0	0.0	32.2	33.0
Coffee, GA		_	1 in 45 miles	2	268.5			0	0.0	6.8	6.8
Colquitt, GA		Adult_Vas	1 in 45 miles	1			100.0	0	0.0		21.2
Cook, GA		_	1 in 45 miles	2	111.0		100.0		0.0		5.7
Decatur, GA	355	_	1 in 45 miles	0			100.0		0.0		23.7
Early, GA		_	1 in 45 miles	0		20	17.9		82.1	45.3	48.9
Edhols, GA		_	1 in 45 miles	0			100.0		0.0		18.0
Grady, GA		_	1 in 45 miles	5	48.2		100.0		0.0	5.0	5.0
Irwin, GA	88	Adult_Vas	1 in 45 miles	0			100.0		0.0		19.4
Lanier, GA	88	Adult_Vas	1 in 45 miles	0			100.0		0.0		22.5
Lee, GA		_	1 in 45 miles	0			100.0		0.0		8.8
Miller, GA			1 in 45 miles	0			100.0	0	0.0	30.8	33.8
Mitchell, GA		_	1 in 45 miles	2	118.5		100.0	0	0.0	5.7	12.0
Quitman, GA	32	Adult_Vas	1 in 45 miles	0		25	78.1	7	21.9	44.2	44.2
Randolph, GA	73	Adult_Vas	1 in 45 miles	0		73	100.0	0	0.0	37.9	37.9
Schley, GA	59	Adult_Vas	1 in 45 miles	0		59			0.0	41.7	44.0
Seminole, GA	111	Adult_Vas	1 in 45 miles	0		71	64.0		36.0		43.9
Stewart, GA			1 in 45 miles	0		50	98.0		2.0		38.7
Sumter, GA		_	1 in 45 miles	0			100.0		0.0	29.5	33.5
Terrell, GA	91	Adult_Vas	1 in 45 miles	0			100.0	0	0.0	24.3	24.3
Thomas, GA	374	Adult_Vas	1 in 45 miles	8	46.8		100.0	0	0.0		5.5
Ti f t, GA		_	1 in 45 miles	3	152.7		100.0		0.0	4.3	4.3
Turner, GA		Adult_Vas	1 in 45 miles	0		117	100.0		0.0		23.5
Webster, GA		_	1 in 45 miles	0		8	72.7	3	27.3		43.6
Worth, GA	201	Adult_Vas	1 in 45 miles	0		201	100.0	0	0.0	17.6	18.2
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Adult_Vascular Surgery

Access Analysis

Adult_Vascular Surgery- Rural

Member / Provider Groups

Audiology_Urban

	All-U Member Provider Counts Ratio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851	Audiology Audiology	1 in 30 miles 1 in 30 miles	2	2,097.0 	4,194 4,724	100.0 97.4	0 127			7.1 40.6
© 2023 Quest Analy	dies IIC	L	l .								

© 2023 Quest Analytics, LLC.

April 26, 2023 Audiology

Access Analysis

Audiology- Urban

Member / Provider Groups

Audiology_Rural

					AII-R						
	Member	Pr	ovider	Counts	Detic Manufactur	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
Atkinson, GA	429	Audiology	1 in 45 miles	0		429	100.0	0	0.0	31.9	36.0
Baker, GA	61	Audiology	1 in 45 miles	0		61	100.0	0	0.0	10.1	25.2
Ben Hill, GA	858	Audiology	1 in 45 miles	0		858	100.0	0	0.0	30.6	57.5
Berrien, GA	969	Audiology	1 in 45 miles	0		969	100.0	0	0.0	28.3	35.8
Brooks, GA	607	Audiology	1 in 45 miles	1	607.0	607	100.0	0	0.0	7.0	23.3
Calhoun, GA	182	Audiology	1 in 45 miles	0		182	100.0	0	0.0	30.3	31.9
Clay, GA	104	Audiology	1 in 45 miles	0		10	9.6	94	90.4	47.0	49.3
Clinch, GA	341	Audiology	1 in 45 miles	0		341	100.0	0	0.0	33.1	33.5
Coffee, GA	2,117	Audiology	1 in 45 miles	0		2,060	97.3	57	2.7	38.5	43.2
Colquitt, GA	2,220	Audiology	1 in 45 miles	3	740.0	2,220	100.0	0	0.0	5.2	7.2
Cook, GA	839	Audiology	1 in 45 miles	0		839	100.0	0	0.0	20.8	22.4
Decatur, GA	1,282	Audiology	1 in 45 miles	1	1,282.0	1,282	100.0	0	0.0	5.5	23.7
Early, GA	407	Audiology	1 in 45 miles	0		381	93.6	26	6.4	39.7	45.1
Edhols, GA	423	Audiology	1 in 45 miles	0		423	100.0	0	0.0	28.0	49.8
Grady, GA	1,037	Audiology	1 in 45 miles	1	1,037.0	1,037	100.0	0	0.0	4.7	15.9
Irwin, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	22.5	52.5
Lanier, GA	321	Audiology	1 in 45 miles	0		321	100.0	0	0.0	39.8	43.4
Lee, GA		Audiology	1 in 45 miles	1			100.0	0	0.0		
Miller, GA	206	Audiology	1 in 45 miles	0		206	100.0	0	0.0		
Mitchell, GA		Audiology	1 in 45 miles	1			100.0	0	0.0		
Quitman, GA		Audiology	1 in 45 miles	0		105		26	19.8	44.1	
Randolph, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	33.0	36.7
Schley, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	41.4	43.6
Seminole, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	25.0	40.1
Stewart, GA	151	Audiology	1 in 45 miles	0		151	100.0	0	0.0	37.8	38.1
Sumter, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	30.6	33.0
Terrell, GA	346	Audiology	1 in 45 miles	0			100.0	0	0.0	18.6	22.9
Thomas, GA	1,389	Audiology	1 in 45 miles	1	1,389.0	1,389	100.0	0	0.0	5.3	15.3
Tift, GA	1,762	Audiology	1 in 45 miles	1	1,762.0	1,762	100.0	0	0.0	3.9	32.3
Turner, GA	428	Audiology	1 in 45 miles	0		428	100.0	0	0.0	22.9	35.7
Webster, GA	56	Audiology	1 in 45 miles	0		56	100.0	0	0.0	39.4	42.6
Worth, GA	666	Audiology	1 in 45 miles	0		666	100.0	0	0.0	18.5	23.2
© 2023 Quest Analyt	: //0	L									I

© 2023 Quest Analytics, LLC.

April 26, 2023

Audiology

Access Analysis

Audiology- Rural

Member / Provider Groups

Behavioral_Health_Urban

				1	AII-U						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA			1 in 30 miles	102		4,194	100.0	0			2.1
	# 4,194	Group Behavioral	Standard	#	41.1	# 4,194	%	# 0	% 0.0	1	2
© 2023 Quest Analyti	ics ILC										

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health

Access Analysis

Behavioral Health- Urban

Member / Provider Groups

Behavioral_Health_Rural

					AII-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429		1 in 45 miles	6	71.5	429	100.0	0	0.0	6.3	6.9
Baker, GA		Behavioral	1 in 45 miles	0		61	100.0	0	0.0	15.2	15.3
Ben Hill, GA	858	Behavioral	1 in 45 miles	10	85.8	858	100.0	0	0.0	2.1	2.7
Berrien, GA		Behavioral	1 in 45 miles	11			100.0	0	0.0	4.9	5.6
Brooks, GA	607	Behavioral	1 in 45 miles	7		607	100.0	0	0.0	5.4	6.2
Calhoun, GA	182	Behavioral	1 in 45 miles	3	60.7	182	100.0	0	0.0	8.0	8.1
Clay, GA	104	Behavioral	1 in 45 miles	0		104	100.0	0	0.0	18.2	18.4
Clinch, GA	341	Behavioral	1 in 45 miles	4	85.3	341	100.0	0	0.0	4.6	4.8
Coffee, GA	2,117	Behavioral	1 in 45 miles	49	43.2	2,117	100.0	0	0.0	4.2	5.0
Colquitt, GA		Behavioral	1 in 45 miles	30	74.0	2,220		0	0.0	3.7	4.9
Cook, GA	839	Behavioral	1 in 45 miles	18			100.0	0	0.0	3.3	3.7
Decatur, GA	1,282	Behavioral	1 in 45 miles	25		1,282		0	0.0	4.4	4.8
Early, GA	407	Behavioral	1 in 45 miles	9	45.2		100.0	0	0.0	3.8	4.1
Edhols, GA	423		1 in 45 miles	1			100.0	0	0.0	8.9	15.8
Grady, GA	1,037		1 in 45 miles	2			100.0	0	0.0	4.8	12.4
Irwin, GA		Behavioral	1 in 45 miles	8			100.0	0	0.0	3.8	4.3
Lanier, GA		Behavioral	1 in 45 miles	2			100.0	0	0.0	3.1	3.6
Lee, GA		Behavioral	1 in 45 miles	16	54.3		100.0	0	0.0	3.2	4.0
Miller, GA		Behavioral	1 in 45 miles	4			100.0	0	0.0	5.1	5.2
Mitchell, GA		Behavioral	1 in 45 miles	4	200.0		100.0	0	0.0	4.6	6.7
Quitman, GA	131	Behavioral	1 in 45 miles	0			100.0	0	0.0	20.7	20.9
Randolph, GA		Behavioral	1 in 45 miles	5			100.0	0	0.0	3.4	3.6
Schley, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	13.4	14.5
Seminole, GA		Behavioral	1 in 45 miles	3			100.0	0	0.0	5.6	6.2
Stewart, GA		Behavioral	1 in 45 miles	1		151	100.0	0	0.0	7.5	21.3
Sumter, GA		Behavioral	1 in 45 miles	22	53.0	1,165		0	0.0	2.8	2.9
Terrell, GA		Behavioral	1 in 45 miles	4	86.5		100.0	0	0.0	3.5	3.5
Thomas, GA		Behavioral	1 in 45 miles	66	21.0	1,389		0	0.0	2.8	3.6
Tift, GA		Behavioral	1 in 45 miles	34		1,762		0	0.0	2.2	2.5
Turner, GA		Behavioral	1 in 45 miles	3			100.0	0	0.0	2.9	3.6
Webster, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	14.9	17.3
Worth, GA	666	Behavioral	1 in 45 miles	0		666	100.0	0	0.0	11.8	11.9
© 2023 Quest Analvt	Since 110		L		!						

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health

Access Analysis

Behavioral Health- Rural

Member / Provider Groups

BH_Facilities_Urban

				A	AII-U						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	4,194	Behavioral	1 in 30 miles	7	599.1	4,194	100.0	0	0.0		3.8
County Dougherty, GA Lowndes, GA	# 4,194	Group Behavioral	Standard	#		# 4,194	%	# 0	% 0.0	1 3.6	2
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health Facilities

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

BH_Facilities_Rural

					AII-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Behavioral	1 in 45 miles	3	143.0	429	100.0	0	0.0	7.4	7.4
Baker, GA	61	Behavioral	1 in 45 miles	0		61	100.0	0	0.0	24.5	26.1
Ben Hill, GA	858	Behavioral	1 in 45 miles	1	858.0	858	100.0	0	0.0	2.8	23.8
Berrien, GA	969	Behavioral	1 in 45 miles	1	969.0	969	100.0	0	0.0	6.0	13.6
Brooks, GA	607	Behavioral	1 in 45 miles	1	607.0	607	100.0	0	0.0	6.5	15.9
Calhoun, GA	182	Behavioral	1 in 45 miles	0		182	100.0	0	0.0	17.5	19.0
Clay, GA	104	Behavioral	1 in 45 miles	0		104	100.0	0	0.0	19.4	21.9
Clinch, GA	341	Behavioral	1 in 45 miles	3	113.7	341	100.0	0	0.0	4.8	4.8
Coffee, GA	2,117	Behavioral	1 in 45 miles	14	151.2	2,117	100.0	0	0.0	5.6	5.8
Colquitt, GA	2,220	Behavioral	1 in 45 miles	2	1,110.0	2,220	100.0	0	0.0	5.2	8.1
Cook, GA	839	Behavioral	1 in 45 miles	2	419.5	839	100.0	0	0.0	4.8	5.4
Decatur, GA	1,282	Behavioral	1 in 45 miles	1	1,282.0	1,282	100.0	0	0.0	5.7	26.3
Early, GA	407	Behavioral	1 in 45 miles	1	407.0	407	100.0	0	0.0	4.9	22.5
Edhols, GA	423	Behavioral	1 in 45 miles	0		423	100.0	0	0.0	15.8	15.8
Grady, GA	1,037	Behavioral	1 in 45 miles	0		1,037	100.0	0	0.0	14.4	16.3
Irwin, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	10.3	20.8
Lanier, GA	321	Behavioral	1 in 45 miles	0			100.0	0	0.0		17.9
Lee, GA	868	Behavioral	1 in 45 miles	3	289.3		100.0	0	0.0	5.2	5.6
Miller, GA		Behavioral	1 in 45 miles	1			100.0	0	0.0	5.4	21.9
Mitchell, GA	800	Behavioral	1 in 45 miles	0			100.0	0	0.0	22.2	23.0
Quitman, GA	131	Behavioral	1 in 45 miles	0			100.0	0	0.0	20.9	20.9
Randolph, GA	260	Behavioral	1 in 45 miles	2			100.0	0	0.0	3.7	4.0
Schley, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	15.0	15.7
Seminole, GA	377	Behavioral	1 in 45 miles	0			100.0	0	0.0		24.3
Stewart, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	22.1	23.0
Sumter, GA		Behavioral	1 in 45 miles	3			100.0	0	0.0	3.7	4.3
Terrell, GA		Behavioral	1 in 45 miles	1	346.0		100.0	0	0.0	3.7	14.2
Thomas, GA	1,389	Behavioral	1 in 45 miles	8	173.6		100.0	0	0.0	3.9	4.6
Tift, GA		Behavioral	1 in 45 miles	4	440.5		100.0	0	0.0	4.2	4.7
Turner, GA	428	Behavioral	1 in 45 miles	1			100.0	0	0.0	4.0	16.6
Webster, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	17.9	19.7
Worth, GA	666	Behavioral	1 in 45 miles	0		666	100.0	0	0.0	12.9	18.2
,											
© 2023 Quest Analyt			·								

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health Facilities

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Dental_Urban

				A	AII-U						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851	Dental Dental	1 in 30 miles 1 in 30 miles	51 11	82.2 441.0	4,194 4,851	100.0 100.0	0 0	0.0 0.0		2.9 4.6
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023 Dental

Access Analysis

Dental- Urban

Member / Provider Groups

Dental_Rural

					AII-R						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Dental	1 in 45 miles	0		429	100.0	0	0.0	15.1	15.5
Baker, GA	61	Dental	1 in 45 miles	0		61	100.0	0	0.0	22.6	23.3
Ben Hill, GA	858	Dental	1 in 45 miles	0		858	100.0	0	0.0	9.8	23.4
Berrien, GA	969	Dental	1 in 45 miles	1	969.0	969	100.0	0	0.0	7.8	14.8
Brooks, GA	607	Dental	1 in 45 miles	0		607	100.0	0	0.0	17.7	18.4
Calhoun, GA	182	Dental	1 in 45 miles	2	91.0		100.0	0	0.0	8.1	8.1
Clay, GA	104	Dental	1 in 45 miles	0		104	100.0	0	0.0	18.7	18.8
Clinch, GA	341	Dental	1 in 45 miles	2	170.5	341	100.0	0	0.0	4.4	5.6
Coffee, GA	2,117	Dental	1 in 45 miles	3	705.7	2,117	100.0	0	0.0	5.9	6.7
Colquitt, GA	2,220	Dental	1 in 45 miles	5	444.0	2,220		0	0.0	5.1	5.6
Cook, GA	839	Dental	1 in 45 miles	2	419.5	839	100.0	0	0.0	4.4	4.6
Decatur, GA	1,282	Dental	1 in 45 miles	4	320.5	1,282	100.0	0	0.0	4.9	5.6
Early, GA	407	Dental	1 in 45 miles	3	135.7	407	100.0	0	0.0	4.5	5.3
Edhols, GA	423	Dental	1 in 45 miles	0		423	100.0	0	0.0	17.8	17.9
Grady, GA	1,037	Dental	1 in 45 miles	4	259.3	1,037	100.0	0	0.0	4.2	4.2
Irwin, GA	338	Dental	1 in 45 miles	1	338.0	338	100.0	0	0.0	4.7	20.7
Lanier, GA	321	Dental	1 in 45 miles	0		321	100.0	0	0.0	17.6	19.1
Lee, GA	868	Dental	1 in 45 miles	1	868.0	868	100.0	0	0.0	5.2	7.1
Miller, GA	206	Dental	1 in 45 miles	1	206.0	206	100.0	0	0.0	5.1	15.9
Mitchell, GA	800	Dental	1 in 45 miles	1	800.0	800	100.0	0	0.0	8.0	19.0
Quitman, GA	131	Dental	1 in 45 miles	0		131	100.0	0	0.0	21.4	21.4
Randolph, GA	260	Dental	1 in 45 miles	3	86.7	260	100.0	0	0.0	3.6	3.7
Schley, GA	182	Dental	1 in 45 miles	0		182	100.0	0	0.0	14.1	19.0
Seminole, GA	377	Dental	1 in 45 miles	1	377.0	377	100.0	0	0.0	6.1	18.3
Stewart, GA	151	Dental	1 in 45 miles	0		151	100.0	0	0.0	20.9	22.8
Sumter, GA	1,165	Dental	1 in 45 miles	1	1,165.0	1,165	100.0	0	0.0	4.1	27.5
Terrell, GA	346	Dental	1 in 45 miles	1	346.0	346	100.0	0	0.0	3.7	20.4
Thomas, GA	1,389	Dental	1 in 45 miles	0		1,389	100.0	0	0.0	15.9	16.4
Ti t t, GA	1,762	Dental	1 in 45 miles	2	881.0	1,762	100.0	0	0.0	3.8	3.8
Turner, GA	428	Dental	1 in 45 miles	2	214.0		100.0	0	0.0	3.2	4.0
Webster, GA	56	Dental	1 in 45 miles	0		56	100.0	0	0.0	18.1	20.5
Worth, GA	666	Dental	1 in 45 miles	0		666	100.0	0	0.0	15.2	16.9
© 2023 Quest Analyt	L										

© 2023 Quest Analytics, LLC.

April 26, 2023

Dental

Access Analysis

Dental- Rural

Member / Provider Groups

Dental_Subspeciality_Urban

	All-U Member Provider Counts Ratio Members With Access Without Access Average Distance										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA			1 in 30 miles 1 in 30 miles	8 1		4,194 4,851	100.0 100.0	0			4.3 41.7
© 2023 Quest Analyti							$\overline{}$				

© 2023 Quest Analytics, LLC.

April 26, 2023

Dental Subspecialty

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Dental_Subspeciality_Rural

					AII-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Dental Su	1 in 45 miles	0		429	100.0	0	0.0	15.7	34.7
Baker, GA	61	Dental Su	1 in 45 miles	0		61	100.0	0	0.0	26.2	26.3
Ben Hill, GA	858	Dental Su	1 in 45 miles	0		852	99.3	6	0.7	35.1	56.9
Berrien, GA	969	Dental Su	1 in 45 miles	0		969	100.0	0	0.0	23.9	35.8
Brooks, GA	607	Dental Su	1 in 45 miles	0		607	100.0	0	0.0	18.7	31.4
Calhoun, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	21.7	31.0
Clay, GA	104	Dental Su	1 in 45 miles	0			100.0	0	0.0	22.6	43.8
Clinch, GA	341	Dental Su	1 in 45 miles	0		341	100.0	0	0.0	31.9	35.3
Coffee, GA	,	Dental Su	1 in 45 miles	1	2,117.0		100.0	0	0.0	6.6	43.0
Colquitt, GA		Dental Su	1 in 45 miles	1	2,220.0	2,220		0	0.0	7.4	41.0
Cook, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	22.2	27.3
Decatur, GA	1,282	Dental Su	1 in 45 miles	0		1,279	99.8	3	0.2	27.3	53.3
Early, GA	407	Dental Su	1 in 45 miles	0		407	100.0	0	0.0	22.7	34.0
Edhols, GA		Dental Su	1 in 45 miles	0		423		0	0.0	17.8	56.5
Grady, GA	1,037	Dental Su	1 in 45 miles	0		1,014	97.8	23	2.2	37.1	45.0
Irwin, GA	338	Dental Su	1 in 45 miles	0		338	100.0	0	0.0	27.2	51.1
Lanier, GA	321	Dental Su	1 in 45 miles	0		321		0	0.0	23.5	38.6
Lee, GA	868	Dental Su	1 in 45 miles	0			100.0	0	0.0	9.3	11.0
Miller, GA	206	Dental Su	1 in 45 miles	0			100.0	0	0.0	17.4	44.2
Mitchell, GA	800	Dental Su	1 in 45 miles	0			100.0	0	0.0	22.9	28.3
Quitman, GA	131	Dental Su	1 in 45 miles	0		131	100.0	0	0.0	21.4	46.4
Randolph, GA	260	Dental Su	1 in 45 miles	1	260.0	260		0	0.0	3.7	36.9
Sdhley, GA	182	Dental Su	1 in 45 miles	0		146	80.2	36	19.8	43.6	46.0
Seminole, GA		Dental Su	1 in 45 miles	1	377.0	377	100.0	0	0.0	6.2	55.5
Stewart, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	23.6	38.5
Sumter, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	32.7	36.0
Terrell, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	20.5	24.0
Thomas, GA		Dental Su	1 in 45 miles	0		1,388		1	0.1	25.9	40.9
Tift, GA	,	Dental Su	1 in 45 miles	0			100.0	0	0.0	34.2	39.8
Turner, GA		Dental Su	1 in 45 miles	0		408	95.3	20	4.7	35.9	36.2
Webster, GA		Dental Su	1 in 45 miles	0			100.0	0	0.0	31.3	42.8
Worth, GA	666	Dental Su	1 in 45 miles	0		666	100.0	0	0.0	22.3	23.5
© 2023 Quest Analyti]							

© 2023 Quest Analytics, LLC.

April 26, 2023

Dental Subspecialty

Access Analysis

Dental Subspeciality- Rural

Member / Provider Groups

Dialysis_Urban

	AII-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dou:	gherty, GA ndes, GA	4,194 4,851	Dialysis Dialysis	1 in 30 miles 1 in 30 miles	9	466.0 808.5	4,194 4,851	100.0 100.0	0			3.5 4.7
	2023 Quest Analyti	iaa IIC										

© 2023 Quest Analytics, LLC.

April 26, 2023 Dialysis

Access Analysis

Dialysis- Urban

Member / Provider Groups

Dialysis_Rural

					AII-R						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Dialysis	1 in 45 miles	0		429	100.0	0	0.0	15.0	16.2
Baker, GA	61	Dialysis	1 in 45 miles	0		61	100.0	0	0.0	15.1	22.7
Ben Hill, GA	858	Dialysis	1 in 45 miles	0		858	100.0	0	0.0	28.5	30.3
Berrien, GA	969	Dialysis	1 in 45 miles	0		969	100.0	0	0.0	15.0	20.0
Brooks, GA	607	Dialysis	1 in 45 miles	1	607.0	607	100.0	0	0.0	6.7	17.0
Calhoun, GA	182	Dialysis	1 in 45 miles	0		182	100.0	0	0.0	21.4	29.4
Clay, GA	104	Dialysis	1 in 45 miles	0		104	100.0	0	0.0	18.6	24.8
Clinch, GA	341	Dialysis	1 in 45 miles	0		341	100.0	0	0.0	31.3	32.2
Coffee, GA	2,117	Dialysis	1 in 45 miles	2	1,058.5	2,117	100.0	0	0.0	6.0	7.5
Colquitt, GA	2,220	Dialysis	1 in 45 miles	3	740.0	2,220	100.0	0	0.0	5.0	6.7
Cook, GA	839	Dialysis	1 in 45 miles	1	839.0	839	100.0	0	0.0	4.5	18.7
Decatur, GA	1,282	Dialysis	1 in 45 miles	2		1,282	100.0	0	0.0	5.1	6.0
Early, GA	407	Dialysis	1 in 45 miles	1	407.0	407	100.0	0	0.0	6.0	31.1
Edhols, GA	423	Dialysis	1 in 45 miles	0		423	100.0	0	0.0	14.5	16.2
Grady, GA	1,037	Dialysis	1 in 45 miles	1	1,037.0	1,037	100.0	0	0.0	4.8	14.1
Irwin, GA	338	Dialysis	1 in 45 miles	0		338	100.0	0	0.0	19.6	21.1
Lanier, GA	321	Dialysis	1 in 45 miles	0		321	100.0	0	0.0	22.9	23.6
Lee, GA	868	Dialysis	1 in 45 miles	1	868.0	868	100.0	0	0.0	5.2	7.7
Miller, GA	206	Dialysis	1 in 45 miles	0		206	100.0	0	0.0	22.5	23.6
Mitchell, GA	800	Dialysis	1 in 45 miles	1	800.0	800	100.0	0	0.0	9.0	19.7
Quitman, GA	131	Dialysis	1 in 45 miles	0		131	100.0	0	0.0	5.9	36.8
Randolph, GA	260	Dialysis	1 in 45 miles	0		260	100.0	0	0.0	19.2	26.7
Schley, GA	182	Dialysis	1 in 45 miles	0		182	100.0	0	0.0	15.1	15.8
Seminole, GA	377	Dialysis	1 in 45 miles	0		377	100.0	0	0.0	23.1	24.8
Stewart, GA	151	Dialysis	1 in 45 miles	0		151	100.0	0	0.0	25.8	27.6
Sumter, GA	1,165	Dialysis	1 in 45 miles	3	388.3	1,165	100.0	0	0.0	3.5	4.4
Terrell, GA	346	Dialysis	1 in 45 miles	1	346.0	346	100.0	0	0.0	4.1	18.6
Thomas, GA	1,389	Dialysis	1 in 45 miles	3	463.0	1,389	100.0	0	0.0	4.8	5.4
Ti f t, GA	1,762	Dialysis	1 in 45 miles	2	881.0	1,762	100.0	0	0.0	3.6	4.6
Turner, GA	428	Dialysis	1 in 45 miles	0		428	100.0	0	0.0	19.4	21.9
Webster, GA	56	Dialysis	1 in 45 miles	0		56	100.0	0	0.0	18.8	19.9
Worth, GA	666	Dialysis	1 in 45 miles	1	666.0	666	100.0	0	0.0	6.1	15.4
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Dialysis

Access Analysis

Dialysis- Rural

Member / Provider Groups

DME_Urban

	AII-U										
	Member	Pro	ovider	Counts	Datia Mambara	With Acc	ess	Without Ac	ccess	Average	Distance
County					to Providers						
			1 in 30 miles	19							
County Dougherty, GA Lowndes, GA	# 4,194 4,851	Group DME	Standard 1 in 30 miles 1 in 30 miles	Counts #	Ratio Members to Providers 220.7	# 4,194 4,851	100.0 100.0	# O O	% 0.0	1 2.4	2 2.8 3.1
© 2023 Quaet Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

DME

Access Analysis

DME- Urban

Member / Provider Groups

DME_Rural

	AII-R										
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	DME	1 in 45 miles	7	61.3	429	100.0	0	0.0	4.3	6.4
Baker, GA	61	DME	1 in 45 miles	9	6.8	61	100.0	0	0.0	1.5	2.9
Ben Hill, GA	858	DME	1 in 45 miles	18	47.7	858	100.0	0	0.0	1.5	2.1
Berrien, GA	969	DME	1 in 45 miles	12	80.8	969	100.0	0	0.0	4.2	4.9
Brooks, GA	607	DME	1 in 45 miles	0		607	100.0	0	0.0	9.4	11.7
Calhoun, GA	182	DME	1 in 45 miles	9	20.2	182	100.0	0	0.0	9.3	9.8
Clay, GA	104	DME	1 in 45 miles	11	9.5	104	100.0	0	0.0	3.1	4.1
Clinch, GA	341	DME	1 in 45 miles	12	28.4	341	100.0	0	0.0	2.5	3.6
Coffee, GA	2,117	DME	1 in 45 miles	13	162.8	2,117	100.0	0	0.0	4.0	4.8
Colquitt, GA	2,220	DME	1 in 45 miles	13	170.8	2,220	100.0	0	0.0	4.4	4.7
Cook, GA	839	DME	1 in 45 miles	13	64.5	839	100.0	0	0.0	2.3	3.2
Decatur, GA	1,282	DME	1 in 45 miles	11	116.5	1,282	100.0	0	0.0	4.4	5.3
Early, GA	407	DME	1 in 45 miles	6	67.8	407	100.0	0	0.0	2.7	3.8
Edhols, GA	423	DME	1 in 45 miles	11	38.5	423	100.0	0	0.0	4.7	6.1
Grady, GA	1,037	DME	1 in 45 miles	6	172.8	1,037	100.0	0	0.0	3.1	4.2
Irwin, GA	338	DME	1 in 45 miles	13	26.0	338	100.0	0	0.0	7.6	7.8
Lanier, GA	321	DME	1 in 45 miles	12	26.8	321	100.0	0	0.0	7.3	8.6
Lee, GA		DME	1 in 45 miles	10			100.0	0	0.0	3.4	4.2
Miller, GA	206	DME	1 in 45 miles	13	15.8	206	100.0	0	0.0	2.3	3.9
Mitchell, GA		DME	1 in 45 miles	9			100.0	0	0.0	6.3	7.3
Quitman, GA	131	DME	1 in 45 miles	6		131		0	0.0	1.7	2.6
Randolph, GA		DME	1 in 45 miles	7			100.0	0	0.0	2.4	3.1
Schley, GA		DME	1 in 45 miles	8			100.0	0	0.0	2.1	3.3
Seminole, GA	377	DME	1 in 45 miles	8	47.1	377	100.0	0	0.0	2.6	4.3
Stewart, GA	151	DME	1 in 45 miles	2	75.5	151	100.0	0	0.0	5.8	6.2
Sumter, GA	1,165	DME	1 in 45 miles	3	388.3	1,165	100.0	0	0.0	3.6	4.0
Terrell, GA	346	DME	1 in 45 miles	10	34.6	346	100.0	0	0.0	2.3	3.3
Thomas, GA	1,389	DME	1 in 45 miles	27	51.4	1,389	100.0	0	0.0	3.1	3.6
Tift, GA	1,762	DME	1 in 45 miles	24	73.4	1,762	100.0	0	0.0	1.9	2.9
Turner, GA	428	DME	1 in 45 miles	11	38.9	428	100.0	0	0.0	4.0	6.8
Webster, GA	56	DME	1 in 45 miles	15	3.7	56	100.0	0	0.0	4.8	5.4
Worth, GA	666	DME	1 in 45 miles	12	55.5	666	100.0	0	0.0	3.8	6.6
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

DME

Access Analysis

DME- Rural

Member / Provider Groups

FQHCs_RHCs_Urban

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851	FQHCs an FQHCs an	1 in 30 miles 1 in 30 miles	29 2	144.6 2,425.5	4,194 4,851	100.0 100.0	0	0.0		2.3 5.7
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

FQHCs and RHCs

Access Analysis

FQHCs and RHCs- Urban

Member / Provider Groups

FQHCs_RHCs_Rural

	All-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	FQHCs an	1 in 45 miles	1	429.0	429	100.0	0	0.0	7.2	15.6
Baker, GA	61	FQHCs an	1 in 45 miles	1	61.0	61	100.0	0	0.0	3.1	13.3
Ben Hill, GA	858	FQHCs an	1 in 45 miles	2	429.0	858	100.0	0	0.0	3.3	3.3
Berrien, GA	969	FQHCs an	1 in 45 miles	2	484.5	969	100.0	0	0.0	7.4	8.1
Brooks, GA	607	FQHCs an	1 in 45 miles	1	607.0	607	100.0	0	0.0	6.8	18.4
Calhoun, GA	182	FQHCs an	1 in 45 miles	15	12.1		100.0	0	0.0	4.2	7.6
Clay, GA	104	FQHCs an	1 in 45 miles	0			100.0	0	0.0	17.3	18.9
Clinch, GA	341	FQHCs an	1 in 45 miles	0			100.0	0	0.0	23.4	31.3
Coffee, GA		FQHCs an	1 in 45 miles	4	529.3	2,117	100.0	0	0.0	6.0	6.2
Colquitt, GA		FQHCs an	1 in 45 miles	4		2,220		0	0.0	4.6	5.9
Cook, GA		FQHCs an	1 in 45 miles	2			100.0	0	0.0	4.1	11.1
Decatur, GA			1 in 45 miles	1	,		100.0	0	0.0	5.5	21.5
Early, GA	407	FQHCs an	1 in 45 miles	2	203.5	407	100.0	0	0.0	4.4	5.8
Edhols, GA	423	FQHCs an	1 in 45 miles	0			100.0	0	0.0	17.7	18.5
Grady, GA	1,037	FQHCs an	1 in 45 miles	1	1,037.0	1,037	100.0	0	0.0	4.4	11.7
Irwin, GA	338	FQHCs an	1 in 45 miles	3	112.7		100.0	0	0.0	4.3	4.7
Lanier, GA	321	FQHCs an	1 in 45 miles	0		321	100.0	0	0.0	19.8	20.3
Lee, GA	868	FQHCs an	1 in 45 miles	1	868.0	868	100.0	0	0.0	4.7	6.4
Miller, GA	206	FQHCs an	1 in 45 miles	0		206	100.0	0	0.0	15.0	16.0
Mitchell, GA	800	FQHCs an	1 in 45 miles	1	800.0	800	100.0	0	0.0	11.1	16.0
Quitman, GA	131	FQHCs an	1 in 45 miles	1	131.0	131	100.0	0	0.0	3.0	21.4
Randolph, GA	260	FQHCs an	1 in 45 miles	1	260.0	260	100.0	0	0.0	3.4	15.2
Schley, GA	182	FQHCs an	1 in 45 miles	2	91.0	182	100.0	0	0.0	3.5	3.8
Seminole, GA	377	FQHCs an	1 in 45 miles	2	188.5	377	100.0	0	0.0	6.2	6.4
Stewart, GA	151	FQHCs an	1 in 45 miles	0		151	100.0	0	0.0	17.0	19.6
Sumter, GA	1,165	FQHCs an	1 in 45 miles	8	145.6	1,165	100.0	0	0.0	2.9	3.9
Terrell, GA	346	FQHCs an	1 in 45 miles	3	115.3	346	100.0	0	0.0	3.5	4.0
Thomas, GA	1,389	FQHCs an	1 in 45 miles	4	347.3	1,389	100.0	0	0.0	4.2	5.4
Ti f t, GA	1,762	FQHCs an	1 in 45 miles	4	440.5	1,762	100.0	0	0.0	3.1	4.3
Turner, GA	428	FQHCs an	1 in 45 miles	1	428.0		100.0	0	0.0	3.1	18.1
Webster, GA	56	FQHCs an	1 in 45 miles	0		56	100.0	0	0.0	12.0	19.3
Worth, GA	666	FQHCs an	1 in 45 miles	0		666	100.0	0	0.0	14.4	15.0
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

FQHCs and RHCs

Access Analysis

FQHCs and RHCs- Rural

Member / Provider Groups

HH_Infusion_Urban

	AII-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Doi Lov	ugherty, GA vndes, GA		Home Hea	1 in 30 miles 1 in 30 miles	9	466.0 539.0	4,194 4,851	100.0 100.0	0	0.0		3.8 3.8
Ц	2023 Quest Analyti	110										

© 2023 Quest Analytics, LLC.

April 26, 2023

Home Health and Infusion Services

Access Analysis

Home Health and Infusion Services- Urban

Member / Provider Groups

HH_Infusion_Rural

	All-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA		Home Hea	1 in 45 miles	7	61.3		100.0	0	0.0	4.5	6.1
Baker, GA		Home Hea	1 in 45 miles	5			100.0	0	0.0	1.7	2.8
Ben Hill, GA			1 in 45 miles	6	143.0		100.0	0	0.0	1.8	2.4
Berrien, GA			1 in 45 miles	6	161.5		100.0	0	0.0	3.8	5.0
Brooks, GA			1 in 45 miles	1	607.0		100.0	0	0.0	5.7	12.3
Calhoun, GA			1 in 45 miles	5	36.4		100.0	0	0.0	9.7	10.0
Clay, GA			1 in 45 miles	4	26.0		100.0	0	0.0	3.7	5.5
Clinch, GA	-	Home Hea	1 in 45 miles	6			100.0	0	0.0	3.2	4.1
Coffee, GA			1 in 45 miles	7	302.4		100.0	0	0.0	4.1	5.1
Colquitt, GA			1 in 45 miles	8	277.5		100.0	0	0.0	4.5	5.4
Cook, GA			1 in 45 miles	5			100.0	0	0.0	3.7	4.3
Decatur, GA		Home Hea	1 in 45 miles	8	160.3		100.0	0	0.0	4.4	5.1
Early, GA			1 in 45 miles	5	81.4		100.0	0	0.0	3.7	4.3
Edhols, GA			1 in 45 miles	5	84.6		100.0	0	0.0	6.1	6.2
Grady, GA	1,037		1 in 45 miles	6	172.8		100.0	0	0.0	3.2	4.4
Irwin, GA			1 in 45 miles	6	56.3		100.0	0	0.0	7.6	7.8
Lanier, GA			1 in 45 miles	5			100.0	0	0.0	8.5	9.3
Lee, GA			1 in 45 miles	6	144.7		100.0	0	0.0	4.6	5.3
Miller, GA			1 in 45 miles	6			100.0	0	0.0	3.1	4.2
Mitchell, GA			1 in 45 miles	6	133.3		100.0	0	0.0	5.2	7.3
Quitman, GA			1 in 45 miles	5	26.2		100.0	0	0.0	1.8	2.9
Randolph, GA		Home Hea	1 in 45 miles	7	37.1		100.0	0	0.0	2.4	3.1
Schley, GA			1 in 45 miles	6	30.3		100.0	0	0.0	2.2	4.3
Seminole, GA			1 in 45 miles	5	75.4		100.0	0	0.0	5.3	5.9
Stewart, GA			1 in 45 miles	2	75.5		100.0	0	0.0	2.9	6.5
Sumter, GA			1 in 45 miles	4	291.3	1,165		0	0.0	3.1	4.0
Terrell, GA			1 in 45 miles	6	57.7		100.0	0	0.0	2.2	3.6
Thomas, GA		Home Hea	1 in 45 miles	13			100.0	0	0.0	3.3	3.9
Tift, GA			1 in 45 miles	4	440.5		100.0	0	0.0		9.2
Turner, GA			1 in 45 miles	7	61.1		100.0	0	0.0	3.5	4.7
Webster, GA			1 in 45 miles	9			100.0	0	0.0	4.8	6.0
Worth, GA		Home Hea	1 in 45 miles	6	111.0		100.0	0	0.0	6.6	7.0
Wortin, GA	000	nome mea	1 111 43 1111165	١	111.0	000	100.0	U	0.0	0.0	7.0
	L	L	L	L							

© 2023 Quest Analytics, LLC.

April 26, 2023

Home Health and Infusion Services

Access Analysis

Home Health and Infusion Services- Rural

Member / Provider Groups

Hospitals_Urban

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851	Hospitals Hospitals	1 in 30 miles 1 in 30 miles	1	4,194.0 1,617.0	4,194 4,851	100.0 100.0	0			19.6 5.9
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Hospitals

Access Analysis

Hospitals- Urban

Member / Provider Groups

Hospitals_Rural

					AII-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Hospitals	1 in 45 miles	0		429	100.0	0	0.0	15.3	22.7
Baker, GA	61	Hospitals	1 in 45 miles	0		61	100.0	0	0.0	15.3	26.7
Ben Hill, GA	858	Hospitals	1 in 45 miles	1	858.0	858	100.0	0	0.0	3.4	9.6
Berrien, GA	969	Hospitals	1 in 45 miles	1	969.0	969	100.0	0	0.0	6.6	15.2
Brooks, GA	607	Hospitals	1 in 45 miles	2	303.5	607	100.0	0	0.0	6.6	7.1
Calhoun, GA	182	Hospitals	1 in 45 miles	0		182	100.0	0	0.0	21.4	24.6
Clay, GA	104	Hospitals	1 in 45 miles	0		104	100.0	0	0.0	21.7	42.9
Clinch, GA	341	Hospitals	1 in 45 miles	2	170.5	341	100.0	0	0.0	4.8	4.8
Coffee, GA	2,117	Hospitals	1 in 45 miles	1	2,117.0	2,117	100.0	0	0.0	6.3	22.0
Colquitt, GA	2,220	Hospitals	1 in 45 miles	2	1,110.0		100.0	0	0.0	6.3	7.2
Cook, GA	839	Hospitals	1 in 45 miles	1	839.0	839	100.0	0	0.0	5.4	14.4
Decatur, GA		Hospitals	1 in 45 miles	1	1,282.0		100.0	0	0.0	5.5	22.1
Early, GA	407	Hospitals	1 in 45 miles	1	407.0	407	100.0	0	0.0	4.6	22.2
Edhols, GA	423	Hospitals	1 in 45 miles	0			100.0	0	0.0	14.2	17.8
Grady, GA	1,037	Hospitals	1 in 45 miles	1	1,037.0	,	100.0	0	0.0	4.7	16.0
Irwin, GA	338	Hospitals	1 in 45 miles	1	338.0		100.0	0	0.0	4.7	9.8
Lanier, GA	321	Hospitals	1 in 45 miles	1	321.0		100.0	0	0.0		17.7
Lee, GA	868	Hospitals	1 in 45 miles	0			100.0	0	0.0		24.1
Miller, GA	206	Hospitals	1 in 45 miles	1	206.0		100.0	0	0.0	5.2	16.2
Mitchell, GA	800	Hospitals	1 in 45 miles	1	800.0		100.0	0	0.0	9.0	21.0
Quitman, GA	131	Hospitals	1 in 45 miles	0		131	100.0	0	0.0	36.9	44.4
Randolph, GA	260	Hospitals	1 in 45 miles	0		260	100.0	0	0.0	31.9	40.7
Schley, GA		Hospitals	1 in 45 miles	0		182	100.0	0	0.0	14.8	19.3
Seminole, GA		Hospitals	1 in 45 miles	1	377.0	377	100.0	0	0.0	6.3	18.6
Stewart, GA	151	Hospitals	1 in 45 miles	0			100.0	0	0.0	28.1	38.4
Sumter, GA	1,165	Hospitals	1 in 45 miles	1	1,165.0		100.0	0	0.0	4.6	25.6
Terrell, GA	346	Hospitals	1 in 45 miles	0			100.0	0	0.0	24.4	28.7
Thomas, GA	1,389	Hospitals	1 in 45 miles	1	1,389.0		100.0	0	0.0	5.4	15.3
Tift, GA	1,762		1 in 45 miles	1	1,762.0		100.0	0	0.0	4.4	21.2
Turner, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0		21.8
Webster, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0		40.0
Worth, GA	666	Hospitals	1 in 45 miles	2	333.0	666	100.0	0	0.0	5.6	7.3
© 2023 Quest Analyt				l							

© 2023 Quest Analytics, LLC.

April 26, 2023

Hospitals

Access Analysis

Hospitals- Rural

Member / Provider Groups

Outpatient_Lab_Urban

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851		1 in 30 miles 1 in 30 miles	10 6	419.4 808.5	4,194 4,851	100.0 100.0	0	0.0		3.7 5.0
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Outpatient Laboratory Services

Access Analysis

Outpatient Laboratory Services- Urban

Member / Provider Groups

Outpatient_Lab_Rural

	All-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	429	Outpatient	1 in 45 miles	1	429.0	429	100.0	0	0.0	8.0	14.7	
Baker, GA	61	Outpatient	1 in 45 miles	1	61.0	61	100.0	0	0.0	3.4	13.9	
Ben Hill, GA	858	Outpatient	1 in 45 miles	1	858.0	858	100.0	0	0.0	3.6	11.7	
Berrien, GA	969	Outpatient	1 in 45 miles	1	969.0	969	100.0	0	0.0	6.4	14.3	
Brooks, GA	607	Outpatient	1 in 45 miles	0		607	100.0	0	0.0	14.0	17.4	
Calhoun, GA	182	Outpatient	1 in 45 miles	1	182.0	182		0	0.0	11.3	16.8	
Clay, GA	104	Outpatient	1 in 45 miles	1	104.0	104	100.0	0	0.0	3.6	16.6	
Clinch, GA	341	Outpatient	1 in 45 miles	1	341.0	341	100.0	0	0.0	13.8	18.6	
Coffee, GA	2,117	Outpatient	1 in 45 miles	10	211.7	2,117	100.0	0	0.0	5.0	6.3	
Colquitt, GA	2,220	Outpatient	1 in 45 miles	5	444.0		100.0	0	0.0	5.1	7.2	
Cook, GA	839	Outpatient	1 in 45 miles	1	839.0	839	100.0	0	0.0	4.3	13.9	
Decatur, GA	1,282	Outpatient	1 in 45 miles	1	1,282.0	1,282	100.0	0	0.0	5.2	18.5	
Early, GA	407	Outpatient	1 in 45 miles	1	407.0	407	100.0	0	0.0	6.3	19.4	
Edhols, GA	423	Outpatient	1 in 45 miles	1	423.0	423	100.0	0	0.0	7.2	13.7	
Grady, GA	1,037	Outpatient	1 in 45 miles	1	1,037.0	1,037	100.0	0	0.0	4.6	14.2	
Irwin, GA	338	Outpatient	1 in 45 miles	1	338.0	338	100.0	0	0.0	7.7	10.8	
Lanier, GA	321	Outpatient	1 in 45 miles	1	321.0	321	100.0	0	0.0	7.9	12.9	
Lee, GA	868	Outpatient	1 in 45 miles	1	868.0	868	100.0	0	0.0	5.7	7.7	
Miller, GA	206	Outpatient	1 in 45 miles	1	206.0	206	100.0	0	0.0	5.0	15.5	
Mitchell, GA	800	Outpatient	1 in 45 miles	1	800.0	800	100.0	0	0.0	11.4	16.1	
Quitman, GA	131	Outpatient	1 in 45 miles	1	131.0	131	100.0	0	0.0	5.4	18.6	
Randolph, GA	260	Outpatient	1 in 45 miles	1	260.0	260	100.0	0	0.0	3.5	19.1	
Schley, GA	182	Outpatient	1 in 45 miles	1	182.0	182	100.0	0	0.0	5.2	15.1	
Seminole, GA	377	Outpatient	1 in 45 miles	2	188.5	377	100.0	0	0.0	4.2	17.1	
Stewart, GA	151	Outpatient	1 in 45 miles	0		151	100.0	0	0.0	7.7	10.6	
Sumter, GA	1,165	Outpatient	1 in 45 miles	3	388.3	1,165	100.0	0	0.0	3.5	5.2	
Terrell, GA	346	Outpatient	1 in 45 miles	1	346.0	346	100.0	0	0.0	6.5	18.9	
Thomas, GA	1,389	Outpatient	1 in 45 miles	7	198.4	1,389	100.0	0	0.0	3.9	5.1	
Tift, GA	1,762	Outpatient	1 in 45 miles	7	251.7	1,762	100.0	0	0.0	4.1	4.4	
Turner, GA	428	Outpatient	1 in 45 miles	1	428.0	428	100.0	0	0.0	4.8	12.2	
Webster, GA	56	Outpatient	1 in 45 miles	2	28.0	56	100.0	0	0.0	6.1	9.9	
Worth, GA	666	Outpatient	1 in 45 miles	1	666.0	666	100.0	0	0.0	9.9	13.8	
© 2023 Quest Analyt		_		_		_	_	_				

© 2023 Quest Analytics, LLC.

April 26, 2023

Outpatient Laboratory Services

Access Analysis

Outpatient Laboratory Services- Rural

Member / Provider Groups

Gynecology_Urban

	Female-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA vndes, GA	1,588	Obstetrics/ Obstetrics/	2 in 30 miles	64 56	24.8	1,588 1,598	100.0 100.0	0 0	0.0		2.9 3.6	
	2023 Quest Analvt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Obstetrics/Gynecology

Access Analysis

Obstetrics/Gynecology- Urban

Member / Provider Groups

Female Urban Members (SOUTHWEST_URBAN)

Gynecology_Rural

				Fei	male-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	128	Obstetrics/	2 in 45 miles	0		128	100.0	0	0.0	13.4	14.8
Baker, GA		Obstetrics/	2 in 45 miles	0			100.0	0	0.0	15.5	15.6
Ben Hill, GA		Obstetrics/	2 in 45 miles	6	51.7	310	100.0	0	0.0	2.2	2.8
Berrien, GA	311	Obstetrics/	2 in 45 miles	4	77.8	311	100.0	0	0.0	5.1	6.2
Brooks, GA	207	Obstetrics/	2 in 45 miles	2			100.0	0	0.0	6.0	6.4
Calhoun, GA		Obstetrics/	2 in 45 miles	4	15.8		100.0	0	0.0	8.3	8.3
Clay, GA	35	Obstetrics/	2 in 45 miles	0		35	100.0	0	0.0	21.3	21.3
Clinch, GA	114	Obstetrics/	2 in 45 miles	3	38.0	114	100.0	0	0.0	4.8	4.9
Coffee, GA	683	Obstetrics/	2 in 45 miles	11	62.1	683	100.0	0	0.0	4.3	5.4
Colquitt, GA	667	Obstetrics/	2 in 45 miles	24	27.8	667	100.0	0	0.0	5.5	5.5
Cook, GA	266	Obstetrics/	2 in 45 miles	10	26.6	266	100.0	0	0.0	2.9	3.6
Decatur, GA	424	Obstetrics/	2 in 45 miles	10	42.4	424	100.0	0	0.0	4.9	5.1
Early, GA	130	Obstetrics/	2 in 45 miles	2	65.0	130	100.0	0	0.0	4.5	4.5
Edhols, GA	128	Obstetrics/	2 in 45 miles	1	128.0	128	100.0	0	0.0	7.4	14.3
Grady, GA	306	Obstetrics/	2 in 45 miles	7	43.7	306	100.0	0	0.0	4.2	4.6
Irwin, GA	100	Obstetrics/	2 in 45 miles	5	20.0	100	100.0	0	0.0	4.5	4.8
Lanier, GA	113	Obstetrics/	2 in 45 miles	2	56.5	113	100.0	0	0.0	3.3	4.6
Lee, GA	306	Obstetrics/	2 in 45 miles	2	153.0		100.0	0	0.0	5.6	5.8
Miller, GA	66	Obstetrics/	2 in 45 miles	2	33.0	66	100.0	0	0.0	5.0	5.0
Mitchell, GA	276	Obstetrics/	2 in 45 miles	8	34.5		100.0	0	0.0	5.2	5.9
Quitman, GA		Obstetrics/	2 in 45 miles	0			100.0	0	0.0	36.7	37.1
Randolph, GA	87	Obstetrics/	2 in 45 miles	0			100.0	0	0.0	15.5	17.0
Schley, GA	67	Obstetrics/	2 in 45 miles	0		67	100.0	0	0.0	13.6	14.6
Seminole, GA	137	Obstetrics/	2 in 45 miles	7	19.6	137	100.0	0	0.0	6.4	6.5
Stewart, GA	60	Obstetrics/	2 in 45 miles	0		60	100.0	0	0.0	20.3	20.6
Sumter, GA	385	Obstetrics/	2 in 45 miles	19	20.3	385	100.0	0	0.0	2.2	2.3
Terrell, GA	118	Obstetrics/	2 in 45 miles	1	118.0	118	100.0	0	0.0	3.5	16.9
Thomas, GA	468	Obstetrics/	2 in 45 miles	19	24.6	468	100.0	0	0.0	3.9	5.0
Ti t t, GA	574	Obstetrics/	2 in 45 miles	40	14.4	574	100.0	0	0.0	2.6	3.3
Turner, GA	153	Obstetrics/	2 in 45 miles	1	153.0	153	100.0	0	0.0	2.9	20.1
Webster, GA	19	Obstetrics/	2 in 45 miles	0		19	100.0	0	0.0	12.5	12.9
Worth, GA	239	Obstetrics/	2 in 45 miles	2	119.5	239	100.0	0	0.0	5.3	5.7
© 2023 Quest Analyt	ics. LLC.				!						

April 26, 2023

Obstetrics/Gynecology

Access Analysis

Obstetrics/Gynecology- Rural

Member / Provider Groups

Female Rural Members (SOUTHWEST_RURAL)

Allergy_Child_Urban

	Child-U												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA Lowndes, GA	2,890	Pediatric Pediatric	1 in 30 miles	1	2,890.0	2,890	100.0	0	0.0	4.7	7.0		
© 2023 Quest Ar	anhina II C												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Allergy/Immunology

Access Analysis

Pediatric Allergy/Immunology- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

Allergy_Child_Rural

				C	hild-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	14.0	15.8
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	15.1	26.2
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	9.7	10.5
Berrien, GA		Pediatric		2	354.5	709	100.0	0	0.0	5.8	10.4
Brooks, GA	443	Pediatric	1 in 45 miles	0		443	100.0	0	0.0	18.7	25.7
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	23.5	23.6
Clay, GA		Pediatric		0		57		15	20.8	42.7	42.7
Clinch, GA		Pediatric		0			100.0	0	0.0	21.2	30.7
Coffee, GA		Pediatric		4	395.0		100.0	0	0.0	5.3	6.2
Colquitt, GA	1,620	Pediatric	1 in 45 miles	2	810.0		100.0	0	0.0	5.9	13.2
Cook, GA		Pediatric		6	102.8		100.0	0	0.0	4.1	4.3
Decatur, GA		Pediatric		2	463.5	927		0	0.0	5.5	5.7
Early, GA		Pediatric		0			100.0	0	0.0	21.9	21.9
Edhols, GA		Pediatric		0			100.0	0	0.0	19.5	27.2
Grady, GA	796	Pediatric	1 in 45 miles	0		796	100.0	0	0.0	21.3	21.8
Irwin, GA		Pediatric		2	125.0		100.0	0	0.0	4.3	4.9
Lanier, GA		Pediatric		1	233.0		100.0	0	0.0	3.6	20.0
Lee, GA	622	Pediatric	1 in 45 miles	4	155.5		100.0	0	0.0	7.4	7.6
Miller, GA	144	Pediatric	1 in 45 miles	2	72.0	144	100.0	0	0.0	5.6	5.6
Mitchell, GA		Pediatric		1	563.0	563	100.0	0	0.0	9.0	23.4
Quitman, GA		Pediatric		0		2	2.0	97	98.0	47.6	47.6
Randolph, GA	187	Pediatric	1 in 45 miles	0		186	99.5	1	0.5	37.0	37.0
Schley, GA		Pediatric		0		117		6	4.9	42.0	42.1
Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	18.3	18.3
Stewart, GA		Pediatric		0		88	88.0	12	12.0	40.3	40.3
Sumter, GA		Pediatric		0			100.0	0	0.0	29.3	29.4
Terrell, GA		Pediatric		0		255	100.0	0	0.0	23.1	23.1
Thomas, GA		Pediatric		0		1,015	100.0	0	0.0	25.8	34.0
Ti f t, GA		Pediatric		7	186.3		100.0	0	0.0	2.7	3.4
Turner, GA		Pediatric		0			100.0	0	0.0	21.1	21.2
Webster, GA		Pediatric		0		44		1	2.2	43.5	43.5
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	17.1	17.9
© 2023 Quest Analyt	<u> </u>										

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Allergy/Immunology

Access Analysis

Pediatric Allergy/Immunology- Rural

Member / Provider Groups

Pediatric Rural Members (SOUTHWEST_RURAL)

Cardiology_Urban_Child

	Child-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dou Low	gherty, GA ndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	41 53		2,890 3,540	100.0 100.0	0		3.5 3.5	3.6 4.0	

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Cardiology

Access Analysis

Pediatric Cardiology- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

Cardiology_Rural_Child

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	13.7	15.3	
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	13.2	14.9	
Ben Hill, GA	636	Pediatric	1 in 45 miles	10	63.6	636	100.0	0	0.0	2.5	2.6	
Berrien, GA	709	Pediatric	1 in 45 miles	3	236.3	709	100.0	0	0.0	5.8	7.6	
Brooks, GA	443	Pediatric	1 in 45 miles	21	21.1	443	100.0	0	0.0	6.4	6.4	
Calhoun, GA	120	Pediatric	1 in 45 miles	1	120.0	120	100.0	0	0.0	8.4	23.2	
Clay, GA		Pediatric		0		72	100.0	0	0.0	21.7	41.1	
Clinch, GA		Pediatric		8	31.8	254	100.0	0	0.0	4.5	4.5	
Coffee, GA		Pediatric		27	58.5	1,580	100.0	0	0.0	5.2	5.9	
Colquitt, GA		Pediatric		21	77.1	1,620	100.0	0	0.0	5.8	6.9	
Cook, GA		Pediatric		9	68.6	617	100.0	0	0.0	3.7	3.8	
Decatur, GA	927	Pediatric	1 in 45 miles	21	44.1	927	100.0	0	0.0	5.3	5.4	
Early, GA		Pediatric		0		295	100.0	0	0.0	19.6	21.2	
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	15.6	15.6	
Grady, GA		Pediatric		23	34.6	796	100.0	0	0.0	4.5	4.6	
Irwin, GA		Pediatric		4	62.5	250	100.0	0	0.0	4.2	4.5	
Lanier, GA	233	Pediatric	1 in 45 miles	1	233.0	233	100.0	0	0.0	3.6	17.6	
Lee, GA		Pediatric		0		622	100.0	0	0.0	6.6	6.6	
Miller, GA	144	Pediatric	1 in 45 miles	3	48.0	144	100.0	0	0.0	5.3	5.3	
Mitchell, GA		Pediatric		28	20.1	563	100.0	0	0.0	7.3	8.2	
Quitman, GA		Pediatric		0		99	100.0	0	0.0	37.4	43.5	
Randolph, GA		Pediatric		0		187	100.0	0	0.0	17.3	35.7	
Schley, GA	123	Pediatric	1 in 45 miles	0		123	100.0	0	0.0	12.8	13.8	
Seminole, GA		Pediatric		3	88.7	266	100.0	0	0.0	6.0	6.0	
Stewart, GA	100	Pediatric	1 in 45 miles	0		100	100.0	0	0.0	21.7	28.1	
Sumter, GA		Pediatric		18	45.9	826	100.0	0	0.0	2.9	3.8	
Terrell, GA	255	Pediatric	1 in 45 miles	0		255	100.0	0	0.0	17.8	22.4	
Thomas, GA	1,015	Pediatric	1 in 45 miles	57	17.8	1,015	100.0	0	0.0	5.3	5.3	
Tift, GA	1,304	Pediatric	1 in 45 miles	10	130.4	1,304	100.0	0	0.0	2.5	3.3	
Turner, GA	311	Pediatric	1 in 45 miles	0		311	100.0	0	0.0	20.1	20.2	
Webster, GA		Pediatric		0		45	100.0	0	0.0	12.1	18.7	
Worth, GA	465	Pediatric	1 in 45 miles	12	38.8	465	100.0	0	0.0	5.1	5.6	

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Cardiology

Access Analysis

Pediatric Cardiology- Rural

Member / Provider Groups

Pediatric Rural Members (SOUTHWEST_RURAL)

Dermatology_Urban_Child

	Child-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA wndes, GA	2,890	Pediatric Pediatric	1 in 30 miles	4 2	722.5	2,890 3,540	100.0	0	0.0	3.9 5.2	4.5 6.0	
Ц	© 2023 Quest Analvt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Dermatology

Access Analysis

Pediatric Dermatology- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

Dermatology_Rural_Child

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	16.0	16.5	
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	25.7	27.9	
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	28.7	28.7	
Berrien, GA	709	Pediatric	1 in 45 miles	0		709	100.0	0	0.0	19.6	19.8	
Brooks, GA	443	Pediatric	1 in 45 miles	0		443	100.0	0	0.0	18.2	20.5	
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	30.9	32.4	
Clay, GA	72	Pediatric	1 in 45 miles	0		52	72.2	20	27.8	43.4	43.5	
Clinch, GA	254	Pediatric	1 in 45 miles	0		254	100.0	0	0.0	32.3	32.4	
Coffee, GA	1,580	Pediatric	1 in 45 miles	5	316.0	1,580	100.0	0	0.0	6.4	6.8	
Colquitt, GA	1,620	Pediatric	1 in 45 miles	1	1,620.0	1,620	100.0	0	0.0	7.4	29.7	
Cook, GA	617	Pediatric	1 in 45 miles	0		617	100.0	0	0.0	20.0	21.6	
Decatur, GA	927	Pediatric	1 in 45 miles	0		927	100.0	0	0.0	26.4	26.4	
Early, GA	295	Pediatric	1 in 45 miles	0		295	100.0	0	0.0	22.6	22.6	
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	18.7	19.7	
Grady, GA	796	Pediatric	1 in 45 miles	0		796	100.0	0	0.0	17.3	17.3	
Irwin, GA	250	Pediatric	1 in 45 miles	0		250	100.0	0	0.0	19.4	19.4	
Lanier, GA	233	Pediatric	1 in 45 miles	0		233	100.0	0	0.0	23.2	23.4	
Lee, GA	622	Pediatric	1 in 45 miles	0		622	100.0	0	0.0	7.4	8.1	
Miller, GA	144	Pediatric	1 in 45 miles	0		144	100.0	0	0.0	16.9	16.9	
Mitchell, GA	563	Pediatric	1 in 45 miles	0		563	100.0	0	0.0	23.4	25.8	
Quitman, GA	99	Pediatric	1 in 45 miles	0		43	43.4	56	56.6	45.8	47.7	
Randolph, GA	187	Pediatric	1 in 45 miles	0		186	99.5	1	0.5	37.1	40.8	
Schley, GA	123	Pediatric	1 in 45 miles	0		123	100.0	0	0.0	16.1	16.1	
Seminole, GA	266	Pediatric	1 in 45 miles	2	133.0	266	100.0	0	0.0	6.0	6.0	
Stewart, GA	100	Pediatric	1 in 45 miles	0		100	100.0	0	0.0	30.0	30.3	
Sumter, GA	826	Pediatric	1 in 45 miles	4	206.5	826	100.0	0	0.0	4.2	4.2	
Terrell, GA	255	Pediatric	1 in 45 miles	0		255	100.0	0	0.0	22.8	26.1	
Thomas, GA	1,015	Pediatric	1 in 45 miles	4	253.8	1,015	100.0	0	0.0	5.5	5.8	
Tift, GA	1,304	Pediatric	1 in 45 miles	5	260.8	1,304	100.0	0	0.0	4.3	4.3	
Turner, GA	311	Pediatric	1 in 45 miles	0		311	100.0	0	0.0	22.4	22.4	
Webster, GA		Pediatric		0		45	100.0	0	0.0	20.6	20.6	
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	17.8	17.8	
© 2023 Quest Analyt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Dermatology

Access Analysis

Pediatric Dermatology- Rural

Member / Provider Groups

Pediatric Rural Members (SOUTHWEST_RURAL)

Endocrinology(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	2 4	1,445.0 885.0	2,890 3,540	100.0 100.0	0	0.0		5.1 5.1
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Endocrinology

Access Analysis

Pediatric Endocrinology- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

Endocrinology(Rural Child)

	Child-R												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	14.1	16.5		
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	15.1	27.0		
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	9.7	10.5		
Berrien, GA	709	Pediatric	1 in 45 miles	2	354.5	709	100.0	0	0.0	5.8	10.4		
Brooks, GA	443	Pediatric	1 in 45 miles	0		443	100.0	0	0.0	16.4	19.8		
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	23.6	23.7		
Clay, GA	72	Pediatric	1 in 45 miles	0		60	83.3	12	16.7	42.5	42.7		
Clinch, GA	254	Pediatric	1 in 45 miles	0		254	100.0	0	0.0	21.2	30.8		
Coffee, GA	1,580	Pediatric	1 in 45 miles	3	526.7	1,580	100.0	0	0.0	5.3	6.5		
Colquitt, GA	1,620	Pediatric	1 in 45 miles	2	810.0	1,620	100.0	0	0.0	5.9	13.2		
Cook, GA	617	Pediatric	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.1	4.3		
Decatur, GA	927	Pediatric	1 in 45 miles	2	463.5	927	100.0	0	0.0	5.5	5.7		
Early, GA	295	Pediatric	1 in 45 miles	0		295	100.0	0	0.0	21.8	21.9		
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	18.2	18.5		
Grady, GA	796	Pediatric	1 in 45 miles	0		796	100.0	0	0.0	21.3	21.8		
Irwin, GA	250	Pediatric	1 in 45 miles	2	125.0	250	100.0	0	0.0	4.3	4.9		
Lanier, GA	233	Pediatric	1 in 45 miles	1	233.0	233	100.0	0	0.0	3.6	20.0		
Lee, GA	622	Pediatric	1 in 45 miles	0		622	100.0	0	0.0	8.3	8.3		
Miller, GA		Pediatric		2	72.0	144	100.0	0	0.0	5.6	5.6		
Mitchell, GA	563	Pediatric	1 in 45 miles	1	563.0	563	100.0	0	0.0	9.0	23.4		
Quitman, GA	99	Pediatric	1 in 45 miles	0		75	75.8	24	24.2	44.2	44.4		
Randolph, GA	187	Pediatric	1 in 45 miles	0		184	98.4	3	1.6	39.5	39.5		
Schley, GA	123	Pediatric	1 in 45 miles	0		122	99.2	1	0.8	42.2	44.7		
Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	18.3	18.3		
Stewart, GA	100	Pediatric	1 in 45 miles	0		94	94.0	6	6.0	37.9	37.9		
Sumter, GA	826	Pediatric	1 in 45 miles	0		826	100.0	0	0.0	33.7	33.8		
Terrell, GA	255	Pediatric	1 in 45 miles	0		255	100.0	0	0.0	26.0	26.0		
Thomas, GA	1,015	Pediatric	1 in 45 miles	0		1,015	100.0	0	0.0	25.8	33.7		
Tift, GA	1,304	Pediatric	1 in 45 miles	2	652.0	1,304	100.0	0	0.0	3.2	4.9		
Turner, GA	311	Pediatric	1 in 45 miles	0		311	100.0	0	0.0	23.8	24.4		
Webster, GA	45	Pediatric	1 in 45 miles	0		16	35.6	29	64.4	45.4	45.4		
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	18.9	19.2		

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Endocrinology

Access Analysis

Pediatric Endocrinology- Rural

Member / Provider Groups

Pediatric Rural Members (SOUTHWEST_RURAL)

ENT(Urban Child)

	Child-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Doi Lov	ugherty, GA wndes, GA	2,890	Pediatric Pediatric	1 in 30 miles	3	963.3	2,890 3,540	100.0	0	0.0	6.9 5.2	6.9 5.4	

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_ENT

Access Analysis

Pediatric ENT- Urban

Member / Provider Groups

Pediatric Urban Members (SOUTHWEST_URBAN)

ENT(Rural Child)

				Cl	hild-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA			1 in 45 miles	0		328	100.0	0	0.0	14.2	16.0
Baker, GA		Pediatric		0			100.0	0	0.0	9.9	15.1
Ben Hill, GA		Pediatric		0			100.0	0	0.0	9.7	10.5
Berrien, GA		Pediatric		2	354.5		100.0	0	0.0	5.8	10.4
Brooks, GA		Pediatric		1		443	100.0	0	0.0	6.9	17.9
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	23.1	23.2
Clay, GA	72	Pediatric	1 in 45 miles	0		57	79.2	15	20.8	42.7	42.7
Clinch, GA	254	Pediatric	1 in 45 miles	0		254	100.0	0	0.0	21.2	30.7
Coffee, GA	1,580	Pediatric	1 in 45 miles	4	395.0	1,580	100.0	0	0.0	5.3	6.2
Colquitt, GA	1,620	Pediatric	1 in 45 miles	3	540.0	1,620	100.0	0	0.0	5.9	7.3
Cook, GA		Pediatric		6	102.8	617	100.0	0	0.0	4.1	4.3
Decatur, GA	927	Pediatric	1 in 45 miles	3	309.0	927	100.0	0	0.0	5.4	5.6
Early, GA		Pediatric		0			100.0	0	0.0	21.9	21.9
Edhols, GA		Pediatric		0		319	100.0	0	0.0	18.8	18.9
Gr <mark>ady, GA</mark>		Pediatric		1	796.0		100.0	0	0.0	4.6	15.9
Irwin, GA		Pediatric		2	125.0		100.0	0	0.0		4.8
Lanier, GA		Pediatric		1	233.0		100.0	0	0.0	3.6	20.0
Lee, GA		Pediatric		0			100.0	0	0.0	9.3	9.7
Miller, GA		Pediatric		2	72.0		100.0	0	0.0	5.5	5.6
Mitchell, GA		Pediatric		2	281.5		100.0	0	0.0	8.5	13.4
Quitman, GA		Pediatric		0		75		24	24.2	44.4	44.4
Randolph, GA		Pediatric		0			100.0	0	0.0	36.7	36.7
Schley, GA		Pediatric		0			100.0	0	0.0	41.2	43.5
Seminole, GA		Pediatric		0			100.0	0	0.0	18.3	18.3
Stewart, GA		Pediatric		0		96		4	4.0	37.7	37.8
Sumter, GA		Pediatric		0			100.0	0	0.0	29.3	32.9
Terrell, GA		Pediatric		0	4 045 0		100.0	0	0.0	22.9	22.9
Thomas, GA		Pediatric		1 5	,	1,015		0	0.0	5.4	15.2
Tift, GA		Pediatric				1,304		0	0.0		4.1
Turner, GA		Pediatric Pediatric		0			100.0 100.0	0	0.0	22.4 42.7	23.2 42.7
Webster, GA Worth, GA		Pediatric		0			100.0	0	0.0	42.7 19.0	42.7 19.7
World, GA	403	r ediatric	T III 43 IIIIles	Ü		403	100.0	Ü	0.0	19.0	19.7
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_ENT

Access Analysis

Pediatric ENT- Rural

Member / Provider Groups

Gastroenterology(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	40 12		2,890 3,540	100.0 100.0	0			3.8 4.5

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Gastroenterology

Access Analysis

Pediatric Gastroenterology- Urban

Member / Provider Groups

Gastroenterology(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328		1 in 45 miles	0		328	100.0	0	0.0	13.7	16.3	
Baker, GA		Pediatric		0			100.0	0	0.0	15.1	24.8	
Ben Hill, GA		Pediatric		0			100.0	0	0.0	9.7	10.5	
Berrien, GA		Pediatric		2	354.5		100.0	0	0.0	5.8	10.3	
Brooks, GA		Pediatric		0		443	100.0	0	0.0	17.1	17.1	
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	23.3	23.4	
Clay, GA		Pediatric		0		60	83.3	12	16.7	42.5	42.7	
Clinch, GA		Pediatric		1	254.0	254	100.0	0	0.0	4.5	21.2	
Coffee, GA	1,580	Pediatric	1 in 45 miles	3	526.7	1,580	100.0	0	0.0	5.3	6.3	
Colquitt, GA	1,620	Pediatric	1 in 45 miles	5	324.0	1,620	100.0	0	0.0	5.7	7.1	
Cook, GA	617	Pediatric	1 in 45 miles	9	68.6	617	100.0	0	0.0	3.7	3.9	
Decatur, GA	927	Pediatric	1 in 45 miles	2	463.5	927	100.0	0	0.0	5.5	5.7	
Early, GA	295	Pediatric	1 in 45 miles	0		295	100.0	0	0.0	21.8	21.9	
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	18.2	18.2	
Grady, GA	796	Pediatric	1 in 45 miles	0		796	100.0	0	0.0	15.2	16.2	
Irwin, GA	250	Pediatric	1 in 45 miles	2	125.0	250	100.0	0	0.0	4.3	4.9	
Lanier, GA	233	Pediatric	1 in 45 miles	1	233.0	233	100.0	0	0.0	3.6	17.7	
Lee, GA	622	Pediatric	1 in 45 miles	0		622	100.0	0	0.0	7.5	7.5	
Miller, GA	144	Pediatric	1 in 45 miles	2	72.0	144	100.0	0	0.0	5.6	5.6	
Mitchell, GA	563	Pediatric	1 in 45 miles	1	563.0	563	100.0	0	0.0	9.0	22.7	
Quitman, GA	99	Pediatric	1 in 45 miles	0		80	80.8	19	19.2	43.8	44.3	
Randolph, GA	187	Pediatric	1 in 45 miles	0		187	100.0	0	0.0	36.9	36.9	
Schley, GA	123	Pediatric	1 in 45 miles	0		123	100.0	0	0.0	40.9	41.1	
Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	18.3	18.3	
Stewart, GA	100	Pediatric	1 in 45 miles	0		100	100.0	0	0.0	36.3	37.6	
Sumter, GA	826	Pediatric	1 in 45 miles	0		826	100.0	0	0.0	29.3	29.5	
Terrell, GA	255	Pediatric	1 in 45 miles	0		255	100.0	0	0.0	23.2	23.2	
Thomas, GA		Pediatric		16	63.4	1,015	100.0	0	0.0	4.6	5.5	
Ti f t, GA		Pediatric		8	163.0		100.0	0	0.0	2.8	3.9	
Turner, GA		Pediatric		1	311.0		100.0	0	0.0	6.7	20.6	
Webster, GA		Pediatric	1 in 45 miles	0		45	100.0	0	0.0	42.7	43.0	
Worth, GA	465	Pediatric	1 in 45 miles	1	465.0	465	100.0	0	0.0	5.5	14.8	
© 2023 Quest Analyti				l								

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Gastroenterology

Access Analysis

Pediatric Gastroenterology- Rural

Member / Provider Groups

General Surgery(Urban Child)

	Child-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA vndes, GA	2,890	Pediatric Pediatric	1 in 30 miles	42 36	68.8		100.0	0	0.0	3.5 3.9	3.7 4.5	
	2023 Quest Analvt	i 110											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_General Surgery

Access Analysis

Pediatric General Surgery- Urban

Member / Provider Groups

General Surgery(Rural Child)

Baker, GA					C	hild-R						
Atkinson, GA Atkinson, GA Atkinson, GA Baker, GA Atkinson, GA Atkinson, GA Baker, GA Atkinson, GA Atkinson, GA Atkinson, GA Baker, GA Baker, GA Atkinson, GA Atkinson, GA Atkinson, GA Atkinson, GA Baker, GA Berlian, GA		Member	Pro	vider	Counts	Patia Mambara	With Acc	ess	Without Ac	cess	Average	Distance
Atkinson, GA 328 Pediatric 1 in 45 miles 5 65.6 328 100.0 0 0.0 4.7 10 Baker, GA 41 Pediatric 1 in 45 miles 0 41 100.0 0 0.0 14.9 11 Bayer, GA 41 Pediatric 1 in 45 miles 0 41 100.0 0 0.0 14.9 11 Bayer, GA 636 Pediatric 1 in 45 miles 5 141.8 709 100.0 0 0.0 2.3 2.3 Berrien, GA 709 Pediatric 1 in 45 miles 5 141.8 709 100.0 0 0.0 6.3 6.5 Brooks, GA 443 Pediatric 1 in 45 miles 5 88.6 443 100.0 0 0.0 6.3 6.5 Calhoun, GA 120 Pediatric 1 in 45 miles 0 72 100.0 0 0.0 6.3 6.5 Calhoun, GA 72 Pediatric 1 in 45 miles 0 72 100.0 0 0.0 22.0 30 Clark, GA 254 Pediatric 1 in 45 miles 3 84.7 254 100.0 0 0.0 4.8 6.5 Calquitt, GA 1,520 Pediatric 1 in 45 miles 13 124.6 1,620 100.0 0 0.0 4.8 6.5 Celquitt, GA 1,620 Pediatric 1 in 45 miles 13 124.6 1,620 100.0 0 0.0 3.7 3.5 Decatur, GA 927 Pediatric 1 in 45 miles 13 47.5 617 100.0 0 0.0 3.7 3.5 Early, GA 295 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 5.5 6.5 Early, GA 296 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 15.2 22 Edolos, GA 319 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 15.2 22 Edolos, GA 319 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 16.6 11 Grady, GA 796 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 3.6 11 Edyn, GA 233 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 3.6 11 Eley, GA 233 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 3.6 11 Eley, GA 233 Pediatric 1 in 45 miles 0 310 100.0 0 0.0 3.6 11 Eley, GA 234 Pediatric 1 in 45 miles 0 310 100.0 0 0.0 3.0 4.6 E	County		Group	Standard			#	%				
Baker, GA	_		_		5		328		0		4.7	10.3
Beh Hill, GA 636 Pediatric 1 in 45 miles 11 57.8 636 100.0 0 0.0 2.3 2.5									-			14.9
Berrien, GA						57.8						2.4
Brboks, GA						141.8						7.4
Calhoun, GA									0			6.3
Clay, GA 72 Pediatric 1 in 45 miles 0			_		1	120.0			0	0.0		19.0
Cifnch, GA	Clay, GA				0		72	100.0	0	0.0	22.0	30.1
Colquitt, GA 1,620 Pediatric	Clinch, GA				3	84.7	254	100.0	0	0.0	4.0	4.5
Colquitt, GA 1,620 Pediatric 1 in 45 miles 13 124.6 1,620 100.0 0 0.0 5.7 60 Cook, GA 617 Pediatric 1 in 45 miles 13 47.5 617 100.0 0 0.0 3.7 3.7 Decatur, GA 927 Pediatric 1 in 45 miles 4 231.8 927 100.0 0 0.0 5.5 5 Edhols, GA 319 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 15.2 22 Edhols, GA 319 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 15.2 22 Edhols, GA 796 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 0 0.0 4.6 1 1 1 1 1 1 1 1 1 1 1 1 1	Coffee, GA				16	98.8	1,580	100.0	0	0.0	4.8	5.2
Cook, GA 617 Pediatric 1 in 45 miles 13 47.5 617 100.0 0 0.0 3.7 3.7 3.7 Decatur, GA 927 Pediatric 1 in 45 miles 4 231.8 927 100.0 0 0.0 5.5 5 Edrly, GA 295 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 15.2 2 Ednols, GA 319 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 15.2 2 Grady, GA 796 Pediatric 1 in 45 miles 10 25.0 250 100.0 0 0.0 4.6 4 Lee, GA 233 Pediatric 1 in 45 miles 1 233.0 233 100.0 0 0.0 4.1 4 Miler, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 5.3 5.8 Quitman, GA 99 Pediatric 1 in 45 miles	Colquitt, GA		_		13	124.6	1,620	100.0	0	0.0	5.7	6.9
Decatur, GA 927 Pediatric 1 in 45 miles 4 231.8 927 100.0 0 0.0 5.5 25 25 25 25 25 25 2					13	47.5			0	0.0	3.7	3.9
Early, GA 295 Pediatric	Decatur, GA				4	231.8	927	100.0	0	0.0	5.5	5.5
Echols, GA 319 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 16.6 17 Grady, GA 796 Pediatric 1 in 45 miles 14 56.9 796 100.0 0 0.0 4.6 4.6 4.6 11 miles, GA 250 Pediatric 1 in 45 miles 1 233.0 233 100.0 0 0.0 3.6 17 Lee, GA 622 Pediatric 1 in 45 miles 3 48.0 144 100.0 0 0.0 5.3 8 Miller, GA 144 Pediatric 1 in 45 miles 8 70.4 563 100.0 0 0.0 5.3 8 Quitman, GA 99 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 21.0 42 Randolph, GA 187 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 3.9 22 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 3.9 22 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 13.4 13 Seminole, GA 266 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 5.5 8 Stewart, GA 100 Pediatric 1 in 45 miles 0 120 100.0 0 0.0 21.7 28 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 20.0 22.7 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 4.4 5 Tirt, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 22.0 22 Webster, GA 45 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 0.0 17.8 18	Early, GA				0		295	100.0	0	0.0	15.2	21.1
Grady, GA 796 Pediatric 1 in 45 miles 14 56.9 796 100.0 0 0.0 4.6 4.6 1.7 miles 1.0 1.0 miles 1.0 25.0 25.0 100.0 0 0.0 4.1 4.5 miles 1.0 25.0 25.0 100.0 0 0.0 4.1 4.5 miles 1.0 25.0 25.0 100.0 0 0.0 3.6 1.7 miles 1.0 233.0 233 100.0 0 0.0 3.6 1.7 miles 1.0 233.0 233 100.0 0 0.0 3.6 1.7 miles 3.0 3.6 3.0 3.6 3.0 3.6 3.0 3.0 3.6 3.0	1 1 '				0		319	100.0	0	0.0	16.6	17.8
Irwin, GA 250 Pediatric 1 in 45 miles 10 25.0 250 100.0 0 0.0 4.1 24 24 24 24 24 24 24 2					14	56.9	796	100.0	0	0.0	4.6	4.6
Lanier, GA						25.0	250	100.0	0			4.3
Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 6.6 6 Miler, GA 144 Pediatric 1 in 45 miles 3 48.0 144 100.0 0 0.0 5.3 5 Mitchell, GA 563 Pediatric 1 in 45 miles 8 70.4 563 100.0 0 0.0 5.3 5 Quitman, GA 99 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 21.0 42 Randolph, GA 187 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 3.9 24 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 3.9 24 Stewart, GA 266 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 0 <t< td=""><td></td><td></td><td></td><td></td><td>1</td><td></td><td></td><td></td><td>0</td><td>0.0</td><td>3.6</td><td>17.5</td></t<>					1				0	0.0	3.6	17.5
Miler, GA 144 Pediatric 1 in 45 miles 3 48.0 144 100.0 0 0.0 5.3 8 Milchell, GA 563 Pediatric 1 in 45 miles 8 70.4 563 100.0 0 0.0 5.3 8 Quitman, GA 99 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 21.0 42 Randolph, GA 187 Pediatric 1 in 45 miles 1 187.0 187 100.0 0 0.0 3.9 24 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 3.9 24 Schwart, GA 266 Pediatric 1 in 45 miles 10 26.6 266 100.0 0 0.0 5.5 5 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Stewart, GA 826 Pediatric 1 in 45 miles 0 <td></td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>6.6</td>					0							6.6
Mitchell, GA 563 Pediatric 1 in 45 miles 8 70.4 563 100.0 0 0.0 5.3 8 Quitman, GA 99 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 21.0 42 Randolph, GA 187 Pediatric 1 in 45 miles 1 187.0 187 100.0 0 0.0 3.9 24 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 13.4 13 Seminole, GA 266 Pediatric 1 in 45 miles 10 26.6 266 100.0 0 0.0 5.5 5 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 0					3	48.0			0	0.0	5.3	5.3
Quitman, GA 99 Pediatric 1 in 45 miles 0 99 100.0 0 0.0 21.0 42 Randolph, GA 187 Pediatric 1 in 45 miles 1 187.0 187 100.0 0 0.0 3.9 22 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 13.4 13 Seminole, GA 266 Pediatric 1 in 45 miles 10 26.6 266 100.0 0 0.0 5.5 5 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles												8.8
Randolph, GA 187 Pediatric 1 in 45 miles 1 mules 1												42.5
Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 13.4 13 Seminole, GA 266 Pediatric 1 in 45 miles 10 26.6 266 100.0 0 0.0 5.5 5 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 4 206.5 826 100.0 0 0.0 21.7 28 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 0.0 20.0 20 Webster, GA 45 Pediatric 1 i					1				0			24.9
Seminole, GA 266 Pediatric 1 in 45 miles 10 26.6 266 100.0 0 0.0 5.5 5 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 4 206.5 826 100.0 0 0.0 4.5 4 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 20.0 20 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18					0							13.9
Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 21.7 28 Sumter, GA 826 Pediatric 1 in 45 miles 4 206.5 826 100.0 0 0.0 4.5 2 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 4 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 20.0 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18						26.6			0		5.5	5.9
Sumter, GA 826 Pediatric 1 in 45 miles 4 206.5 826 100.0 0 0.0 4.5 4 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 2 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18					0				0			28.4
Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 20.4 22 Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 2 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 2° Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18			_		4	206.5			0			4.5
Thomas, GA 1,015 Pediatric 1 in 45 miles 26 39.0 1,015 100.0 0 0.0 4.4 5 Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 2 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 20.0 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18					0				0			22.2
Tift, GA 1,304 Pediatric 1 in 45 miles 10 130.4 1,304 100.0 0 0.0 3.0 2 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 2' Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18			_		26	39.0			0	0.0	4.4	5.2
Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 20.0 27 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18	Tift, GA				10	130.4	1,304	100.0	0	0.0	3.0	4.1
Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 17.8 18	Turner, GA		_		0				0	0.0	20.0	21.0
Worth, GA 465 Pediatric 1 in 45 miles 1 465.0 465 100.0 0 0.0 5.7 17	Webster, GA				0				0	0.0	17.8	18.9
	Worth, GA				1	465.0	465	100.0	0	0.0	5.7	17.6

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_General Surgery

Access Analysis

Pediatric General Surgery- Rural

Member / Provider Groups

Hematology(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	29 14		2,890 3,540	100.0 100.0	0	0.0		4.1 4.7
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Hematology/Oncology

Access Analysis

Pediatric Hematology/Oncology- Urban

Member / Provider Groups

Hematology(Rural Child)

Atkinson, GA Baker, GA 41 Pediatric 1 in 45 miles 0					C	hild-R						
County		Member	Pro	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance
Baker, GA	County	#	Group	Standard	#		#	%	#	%	1	2
Ben Hill, GA	Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	16.1	16.2
Berrier, GA	Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	14.9	14.9
Befrien, GA 709 Pediatric 1 in 45 miles 0 709 100.0 0 0.0 20	Ben Hill, GA	636	Pediatric	1 in 45 miles	4	159.0	636	100.0	0	0.0	3.5	3.5
Calhoun, GA 120 Pediatric 1 in 45 miles 0 120 100.0 0 0.0 33.6 3 Clay, GA 72 Pediatric 1 in 45 miles 0 57 79.2 15 20.8 42.0 42.0 Colffee, GA 1,580 Pediatric 1 in 45 miles 6 263.3 1,580 100.0 0 0.0 5.8 Cdoul, GA 1,620 Pediatric 1 in 45 miles 1 617.0 617 100.0 0 0.0 7.0 Decatur, GA 927 Pediatric 1 in 45 miles 1 617.0 617 100.0 0 0.0 20.2 2 Early, GA 927 Pediatric 1 in 45 miles 5 185.4 927 100.0 0 0.0 31.4 3 Ednois, GA 319 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 0.0 31.4 3	Berrien, GA	709	Pediatric	1 in 45 miles	0		709	100.0	0	0.0	20.0	20.2
Clay, GA 72 Pediatric	Brooks, GA	443	Pediatric	1 in 45 miles	0		443	100.0	0	0.0	17.4	17.4
Clinch, GA	Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	-	0.0	33.6	33.6
Coffee, GA	Clay, GA				0				15	20.8	42.0	42.0
Colquitt, GA 1,620 Pediatric 1 in 45 miles 14 115.7 1,620 100.0 0 0.0 7.0 Cook, GA 617 Pediatric 1 in 45 miles 1 617.0 617 100.0 0 0.0 20.2 2 Decatur, GA 927 Pediatric 1 in 45 miles 5 185.4 927 100.0 0 0.0 5.5 Early, GA 295 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 31.4 31.6 31.9 100.0 0 0.0 31.4 31.6	Clinch, GA				0					0.0		31.6
Cdok, GA 617 Pediatric 1 in 45 miles 1 617.0 617 100.0 0 0.0 20.2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Coffee, GA				6	263.3	1,580	100.0	0	0.0	5.8	6.2
Decatur, GA 927 Pediatric 1 in 45 miles 5 185.4 927 100.0 0 0.0 5.5 Early, GA 295 Pediatric 1 in 45 miles 0 295 100.0 0 0.0 31.4 31 Echols, GA 319 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 15.6 Grady, GA 796 Pediatric 1 in 45 miles 0 796 100.0 0 0.0 13.9 Irvin, GA 250 Pediatric 1 in 45 miles 0 250 100.0 0 0.0 13.9 Lapier, GA 233 Pediatric 1 in 45 miles 0 250 100.0 0 0.0 23.7 Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 23.7 Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 23.5 Mitchell, GA 563 Pediatric 1 in 45 miles 0 144 100.0 0 0.0 23.5 Mitchell, GA 563 Pediatric 1 in 45 miles 0 81 81.8 18.2 43.9 Aghdolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.1 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 14.2 Seminole, GA 266 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 25.0 Stewart, GA 100 Pediatric 1 in 45 miles 0 266 100.0 0 0.0 28.3 Sumter, GA 826 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 24.4 Terrell, GA 255 Pediatric 1 in 45 miles 7 145.0 1.015 100.0 0 0.0 4.3 Tith, GA 1,304 Pediatric 1 in 45 miles 5 260.8 1,304 100.0 0 0.0 21.0 Webster, GA 45 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 Webster, GA 45 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 0.0 Unitary 1 in 45 miles 0 255 100.0 0 0.0 21.0 Webster, GA 45 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 Tith, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 Tith, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 Tith, GA 45	Colquitt, GA	1,620	Pediatric	1 in 45 miles	14	115.7			0		7.0	7.0
Early, GA 295 Pediatric	Cook, GA				1	617.0	617	100.0	0	0.0	20.2	20.2
Edhols, GA 319 Pediatric 1 in 45 miles 0 319 100.0 0 0.0 15.6 Grady, GA 796 Pediatric 1 in 45 miles 0 796 100.0 0 0.0 13.9 Irwin, GA 250 Pediatric 1 in 45 miles 0 250 100.0 0 0.0 9.6 Lahier, GA 233 Pediatric 1 in 45 miles 0 233 100.0 0 0.0 23.7 2 Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 7.0 Miller, GA 144 Pediatric 1 in 45 miles 0 144 100.0 0 0.0 23.5 2 Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9 4 Randolph, GA 187<	Decatur, GA				5	185.4			0	0.0	5.5	5.5
Grady, GA 796 Pediatric 1 in 45 miles 0 796 100.0 0 0.0 13.9 10 10 10 10 10 10 10 1	Early, GA				0				0	0.0	31.4	31.4
Invin, GA 250 Pediatric 1 in 45 miles 0 250 100.0 0 0.0 9.6 23.7 24 23.8 23.8 24.8 24.9 24.8 25.8 26.8	Edhols, GA				0				-	0.0	15.6	15.6
Lanier, GA 233 Pediatric 1 in 45 miles 0 233 100.0 0 0.0 23.7 2 Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 7.0 Miller, GA 144 Pediatric 1 in 45 miles 0 144 100.0 0 0.0 23.5 2 Mitchell, GA 563 Pediatric 1 in 45 miles 2 281.5 563 100.0 0 0.0 9.1 Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9 43.9 Randolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.5 3 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 25.0 2 Stewart, GA 100 Pediatric 1 in 45 miles 0 100	Grady, GA	796	Pediatric	1 in 45 miles	0		796	100.0	0	0.0	13.9	15.9
Lee, GA 622 Pediatric 1 in 45 miles 0 622 100.0 0 0.0 7.0 Miller, GA 144 Pediatric 1 in 45 miles 0 144 100.0 0 0.0 23.5 2 Mitchell, GA 563 Pediatric 1 in 45 miles 2 281.5 563 100.0 0 0.0 9.1 Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9 43.9 Randolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.5 39.5 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 39.5 30.5 Stewart, GA 266 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 25.0 26.0 Sumter, GA 826 Pediatric 1 in 45 miles 13 63.5 <	Irwin, GA				0				0	0.0	9.6	9.6
Miller, GA 144 Pediatric 1 in 45 miles 0 144 100.0 0 0.0 23.5 2 Mitchell, GA 563 Pediatric 1 in 45 miles 2 281.5 563 100.0 0 0.0 9.1 Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9 43.9 Randolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.5	Lanier, GA				0				0	0.0	23.7	23.9
Mitchell, GA 563 Pediatric 1 in 45 miles 2 281.5 563 100.0 0 0.0 9.1 Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9 43.9 Randolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.5 3 Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 14.2 Seminole, GA 266 Pediatric 1 in 45 miles 0 266 100.0 0 0.0 25.0 2 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 28.3 2 Sumter, GA 826 Pediatric 1 in 45 miles 1 63.5 826 100.0 0 0.0 24.4 2 Thomas, GA 1,015 Pediatric 1 in 45 miles 7 145.0 <	Lee, GA	622	Pediatric	1 in 45 miles	0				0			7.0
Quitman, GA 99 Pediatric 1 in 45 miles 0 81 81.8 18 18.2 43.9	Miller, GA	144	Pediatric	1 in 45 miles	0		144	100.0	0	0.0	23.5	23.5
Randolph, GA 187 Pediatric 1 in 45 miles 0 187 100.0 0 0.0 39.5 <t< td=""><td>Mitchell, GA</td><td></td><td></td><td></td><td>2</td><td>281.5</td><td>563</td><td>100.0</td><td>-</td><td>0.0</td><td>9.1</td><td>9.1</td></t<>	Mitchell, GA				2	281.5	563	100.0	-	0.0	9.1	9.1
Schley, GA 123 Pediatric 1 in 45 miles 0 123 100.0 0 0.0 14.2 2 Seminole, GA 266 Pediatric 1 in 45 miles 0 266 100.0 0 0.0 25.0 2 Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 28.3 2 Sumter, GA 826 Pediatric 1 in 45 miles 13 63.5 826 100.0 0 0.0 24.4 2 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 24.4 2 Tift, GA 1,304 Pediatric 1 in 45 miles 5 260.8 1,304 100.0 0 0.0 4.3 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 <td>Quitman, GA</td> <td></td> <td></td> <td></td> <td>0</td> <td></td> <td>81</td> <td>81.8</td> <td>18</td> <td>18.2</td> <td>43.9</td> <td>43.9</td>	Quitman, GA				0		81	81.8	18	18.2	43.9	43.9
Seminole, GA 266 Pediatric 1 in 45 miles 0 266 100.0 0 0.0 25.0 26.0 25.0 26.0 25.0 26.0 26.0 26.0 25.0 26.0 <t< td=""><td>Randolph, GA</td><td>187</td><td>Pediatric</td><td>1 in 45 miles</td><td>0</td><td></td><td>187</td><td>100.0</td><td>0</td><td>0.0</td><td>39.5</td><td>39.5</td></t<>	Randolph, GA	187	Pediatric	1 in 45 miles	0		187	100.0	0	0.0	39.5	39.5
Stewart, GA 100 Pediatric 1 in 45 miles 0 100 100.0 0 0.0 28.3 <td< td=""><td>Schley, GA</td><td></td><td></td><td></td><td>0</td><td></td><td>123</td><td>100.0</td><td>0</td><td>0.0</td><td>14.2</td><td>15.1</td></td<>	Schley, GA				0		123	100.0	0	0.0	14.2	15.1
Sumter, GA 826 Pediatric 1 in 45 miles 13 63.5 826 100.0 0 0.0 4.0 Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 24.4 2 Thomas, GA 1,015 Pediatric 1 in 45 miles 7 145.0 1,015 100.0 0 0.0 4.8 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 18.8	Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	25.0	25.0
Terrell, GA 255 Pediatric 1 in 45 miles 0 255 100.0 0 0.0 24.4 24.4 Thomas, GA 1,015 Pediatric 1 in 45 miles 7 145.0 1,015 100.0 0 0.0 4.8 Tift, GA 1,304 Pediatric 1 in 45 miles 5 260.8 1,304 100.0 0 0.0 4.3 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 18.8	Stewart, GA				0				0	0.0	28.3	28.3
Thomas, GA 1,015 Pediatric 1 in 45 miles 7 145.0 1,015 100.0 0 0.0 4.8 Tift, GA 1,304 Pediatric 1 in 45 miles 5 260.8 1,304 100.0 0 0.0 4.3 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 18.8	Sumter, GA				13	63.5	826	100.0	0	0.0	4.0	4.6
Tift, GA 1,304 Pediatric 1 in 45 miles 5 260.8 1,304 100.0 0 0.0 4.3 Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 2 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 18.8	Terrell, GA				0				0		24.4	24.4
Turner, GA 311 Pediatric 1 in 45 miles 0 311 100.0 0 0.0 21.0 Webster, GA 45 Pediatric 1 in 45 miles 0 45 100.0 0 0.0 18.8	Thomas, GA				7	145.0	1,015	100.0			4.8	5.5
Webster, GA					5	260.8			0		4.3	4.3
					_							21.0
Wbrth, GA 465 Pediatric 1 in 45 miles 9 51.7 465 100.0 0 0.0 5.8					-				-			18.9
	Worth, GA	465	Pediatric	1 in 45 miles	9	51.7	465	100.0	0	0.0	5.8	5.8
© 2023 Quest Analytics, LLC.	0.0000											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Hematology/Oncology

Access Analysis

Pediatric Hematology/Oncology- Rural

Member / Provider Groups

Infectious Disease(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric_I Pediatric_I	1 in 30 miles 1 in 30 miles	5 5	578.0 708.0	2,890 3,540	100.0 100.0	0	0.0		4.3 5.2
© 2023 Quest Analytic											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Infectious Disease

Access Analysis

Pediatric Infectious Disease- Urban

Member / Provider Groups

Infectious Disease(Rural Child)

				CI	hild-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	328	Pediatric_I	1 in 45 miles	0		328	100.0	0	0.0	14.7	17.0
Baker, GA	41	Pediatric_I	1 in 45 miles	0		41	100.0	0	0.0	15.1	25.0
Ben Hill, GA	636	Pediatric_I	1 in 45 miles	0		636	100.0	0	0.0	9.7	10.5
Berrien, GA	709	Pediatric_I	1 in 45 miles	2	354.5	709	100.0	0	0.0	5.8	10.4
Brooks, GA	443	Pediatric_I	1 in 45 miles	0		443	100.0	0	0.0	17.6	17.7
Calhoun, GA	120	Pediatric_I	1 in 45 miles	0		120	100.0	0	0.0	23.3	23.7
Clay, GA	72	Pediatric_I	1 in 45 miles	0		57	79.2	15	20.8	42.7	42.7
Clinch, GA	254	Pediatric_I	1 in 45 miles	0		254		0	0.0	21.2	30.8
Coffee, GA	1,580	Pediatric_I	1 in 45 miles	2	790.0		100.0	0	0.0	5.6	7.3
Colquitt, GA	1,620	Pediatric_I	1 in 45 miles	3	540.0	1,620		0	0.0	5.8	7.2
Cook, GA	617	Pediatric_I	1 in 45 miles	7	88.1	617	100.0	0	0.0	4.1	4.3
Decatur, GA	927	Pediatric_I	1 in 45 miles	2	463.5	927	100.0	0	0.0	5.5	5.7
Early, GA	295	Pediatric_I	1 in 45 miles	0		295	100.0	0	0.0	21.9	21.9
Edhols, GA	319	Pediatric_I	1 in 45 miles	0		319	100.0	0	0.0	17.9	18.1
Grady, GA	796	Pediatric_I	1 in 45 miles	0		796	100.0	0	0.0	15.9	16.6
Irwin, GA	250	Pediatric_I	1 in 45 miles	2	125.0		100.0	0	0.0	4.3	4.9
Lanier, GA		Pediatric_I		1	233.0		100.0	0	0.0	3.6	20.0
Lee, GA	622	Pediatric_I	1 in 45 miles	0			100.0	0	0.0	6.4	8.6
Miller, GA	144	Pediatric_I	1 in 45 miles	2	72.0		100.0	0	0.0	5.6	5.6
Mitchell, GA	563	Pediatric_I	1 in 45 miles	1	563.0		100.0	0	0.0	8.8	22.7
Quitman, GA	99	Pediatric_I	1 in 45 miles	0		75	75.8	24	24.2	44.4	44.4
Randolph, GA	187	Pediatric_I	1 in 45 miles	0		187	100.0	0	0.0	37.0	39.5
Schley, GA	123	Pediatric_I	1 in 45 miles	0		123	100.0	0	0.0	15.1	41.4
Seminole, GA	266	Pediatric_I	1 in 45 miles	0			100.0	0	0.0	18.3	18.3
Stewart, GA	100	Pediatric_I	1 in 45 miles	0			100.0	0	0.0	28.3	37.6
Sumter, GA	826	Pediatric_I	1 in 45 miles	1	826.0		100.0	0	0.0	4.7	30.0
Terrell, GA		Pediatric_I		0			100.0	0	0.0	22.5	25.4
Thomas, GA		Pediatric_I		2	507.5	1,015		0	0.0	4.9	6.2
Tift, GA		Pediatric_I		4	326.0	1,304		0	0.0	2.9	3.8
Turner, GA		Pediatric_I		0			100.0	0	0.0	22.0	23.0
Webster, GA		Pediatric_I		0			100.0	0	0.0	18.9	43.1
Worth, GA	465	Pediatric_I	1 in 45 miles	0		465	100.0	0	0.0	15.1	18.0
Grand Totals	15,565	Pediatric	1 in 45 miles	29	536.7	15,526	99.7	39	0.3	9.7	13.4
	ics IIC										

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Infectious Disease

Access Analysis

Pediatric Infectious Disease- Rural

Member / Provider Groups

Nephrology(Urban Child)

	Child-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA wndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	35 9		2,890 3,540	100.0 100.0	0	0.0		2.9 4.3
	© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Nephrology

Access Analysis

Pediatric Nephrology- Urban

Member / Provider Groups

Nephrology(Rural Child)

				С	hild-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	14.1	16.5
Baker, GA		Pediatric		0			100.0	0	0.0	13.0	14.9
Ben Hill, GA		Pediatric		0		636	100.0	0	0.0	9.7	10.5
Berrien, GA	709	Pediatric	1 in 45 miles	2	354.5	709	100.0	0	0.0	5.8	10.4
Brooks, GA		Pediatric		10	44.3	443	100.0	0	0.0	6.5	6.8
Calhoun, GA	120	Pediatric	1 in 45 miles	2	60.0	120	100.0	0	0.0	8.1	8.1
Clay, GA	72	Pediatric	1 in 45 miles	0		72	100.0	0	0.0	21.3	21.3
Clinch, GA	254	Pediatric	1 in 45 miles	0		254	100.0	0	0.0	21.2	30.7
Coffee, GA	1,580	Pediatric	1 in 45 miles	3	526.7	1,580	100.0	0	0.0	5.3	6.5
Colquitt, GA		Pediatric		14	115.7	1,620	100.0	0	0.0	5.7	6.9
Cook, GA	617	Pediatric	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.1	4.3
Decatur, GA	927	Pediatric	1 in 45 miles	12	77.3		100.0	0	0.0	5.4	5.4
Early, GA		Pediatric		3	98.3		100.0	0	0.0	5.2	5.2
Edhols, GA		Pediatric		0			100.0	0	0.0	14.5	15.6
Grady, GA	796	Pediatric	1 in 45 miles	9	88.4		100.0	0	0.0	4.6	4.6
Irwin, GA	250	Pediatric	1 in 45 miles	2	125.0	250	100.0	0	0.0	4.3	4.8
Lanier, GA		Pediatric		1	233.0		100.0	0	0.0	3.6	19.9
Lee, GA		Pediatric		3	207.3		100.0	0	0.0	4.9	5.2
Miller, GA		Pediatric		2	72.0		100.0	0	0.0	5.5	5.5
Mitchell, GA		Pediatric		8	70.4		100.0	0	0.0	8.2	8.6
Quitman, GA		Pediatric		0		99	100.0	0	0.0	36.7	36.7
Randolph, GA		Pediatric		0			100.0	0	0.0	19.3	19.3
Schley, GA		Pediatric		0			100.0	0	0.0	12.9	12.9
Seminole, GA		Pediatric		0			100.0	0	0.0	18.3	18.3
Stewart, GA		Pediatric		0			100.0	0	0.0	25.6	25.8
Sumter, GA		Pediatric		3	275.3		100.0	0	0.0	3.7	4.4
Terrell, GA		Pediatric		3	85.0		100.0	0	0.0	4.1	4.2
Thomas, GA		Pediatric		22	46.1		100.0	0	0.0	4.1	4.8
Tift, GA		Pediatric		10	130.4		100.0	0	0.0		3.6
Turner, GA		Pediatric		0			100.0	0	0.0		19.3
Webster, GA		Pediatric		0			100.0	0	0.0	17.4	17.7
Worth, GA	465	Pediatric	1 in 45 miles	4	116.3	465	100.0	0	0.0	5.4	6.1
	L	l		L							

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Nephrology

Access Analysis

Pediatric Nephrology- Rural

Member / Provider Groups

Neurology(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	40 15		2,890 3,540	100.0 100.0	0			3.7 4.8
© 2023 Quest Analytic											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Neurology

Access Analysis

Pediatric Neurology- Urban

Member / Provider Groups

Neurology(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA			1 in 45 miles	0		328	100.0	0	0.0	14.0	15.9	
Baker, GA		Pediatric		0			100.0	0	0.0	15.1	25.0	
Ben Hill, GA		Pediatric		0			100.0	0	0.0		10.5	
Berrien, GA		Pediatric		2	354.5		100.0	0	0.0	5.8	10.3	
Brooks, GA		Pediatric		0			100.0	0	0.0	17.0	17.3	
Calhoun, GA		Pediatric		0			100.0	0	0.0	23.3	23.4	
Clay, GA		Pediatric		0		62	86.1	10	13.9	41.3	41.3	
Clinch, GA		Pediatric		0		254	100.0	0	0.0	21.2	30.7	
Coffee, GA	1,580	Pediatric	1 in 45 miles	4	395.0	1,580	100.0	0	0.0	5.2	6.0	
Colquitt, GA		Pediatric		3	540.0	1,620	100.0	0	0.0	5.5	6.9	
Cook, GA		Pediatric		7	88.1	617	100.0	0	0.0	3.7	4.3	
Decatur, GA	927	Pediatric	1 in 45 miles	2	463.5	927	100.0	0	0.0	5.5	5.7	
Early, GA		Pediatric		0		295	100.0	0	0.0	21.8	21.8	
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	17.8	18.1	
Grady, GA		Pediatric		0			100.0	0	0.0	15.6	16.0	
Irwin, GA		Pediatric		2	125.0		100.0	0	0.0		4.8	
Lanier, GA		Pediatric		1	233.0		100.0	0	0.0	3.6	19.9	
Lee, GA		Pediatric		0			100.0	0	0.0	6.5	6.6	
Miller, GA		Pediatric		2	72.0		100.0	0	0.0	5.6	5.6	
Mitchell, GA		Pediatric		1	563.0		100.0	0	0.0	9.0	22.7	
Quitman, GA		Pediatric		0		81	81.8	18	18.2	43.9	43.9	
Randolph, GA		Pediatric		0			100.0	0	0.0	37.0	37.0	
Schley, GA		Pediatric		0			100.0	0	0.0		15.1	
Seminole, GA		Pediatric		0			100.0	0	0.0	18.3	18.3	
Stewart, GA		Pediatric		0			100.0	0	0.0	28.3	28.3	
Sumter, GA		Pediatric		5	165.2		100.0	0	0.0	3.8	4.7	
Terrell, GA		Pediatric		0			100.0	0	0.0	22.5	22.5	
Thomas, GA		Pediatric		13	78.1		100.0	0	0.0	5.2	5.4	
Tift, GA		Pediatric		6	217.3	1,304	100.0	0	0.0	2.7	3.7	
Turner, GA		Pediatric		0			100.0	0	0.0	20.7	21.5	
Webster, GA		Pediatric		0			100.0	0	0.0	18.9	18.9	
Worth, GA	465	Pediatric	1 in 45 miles	3	155.0	465	100.0	0	0.0	5.5	5.7	
© 2023 Quest Analyt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Neurology

Access Analysis

Pediatric Neurology- Rural

Member / Provider Groups

Ophthalmology(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	4 5	722.5 708.0	2,890 3,540	100.0 100.0	0	0.0		4.7 6.1
© 2023 Quest Analy											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Ophthalmology

Access Analysis

Pediatric Ophthalmology- Urban

Member / Provider Groups

Ophthalmology(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA			1 in 45 miles	0		328	100.0	0	0.0	16.0	16.0	
Baker, GA		Pediatric		0			100.0	0	0.0		25.7	
Ben Hill, GA		Pediatric		0			100.0	0	0.0		30.1	
Berrien, GA		Pediatric		0			100.0	0	0.0	19.9	20.0	
Brooks, GA		Pediatric		0			100.0	0	0.0	20.8	21.7	
Calhoun, GA		Pediatric		0			100.0	0	0.0	32.6	32.6	
Clay, GA		Pediatric		0		56	77.8	16	22.2	42.8	49.8	
Clinch, GA		Pediatric		0			100.0	0	0.0	31.1	31.9	
Coffee, GA		Pediatric		3	526.7		100.0	0	0.0	6.5	6.7	
Colquitt, GA		Pediatric		0			100.0	0	0.0		31.7	
Cook, GA		Pediatric		0			100.0	0	0.0	19.7	21.0	
Decatur, GA		Pediatric		0		920	99.2	7	0.8	39.6	39.6	
Early, GA		Pediatric		0			100.0	0	0.0	32.9	46.8	
Edhols, GA		Pediatric		0			100.0	0	0.0	18.1	20.4	
Grady, GA		Pediatric		0			100.0	0	0.0	29.5	29.5	
Irwin, GA		Pediatric		0			100.0	0	0.0		20.6	
Lanier, GA	233	Pediatric	1 in 45 miles	0			100.0	0	0.0	23.6	23.8	
Lee, GA		Pediatric		0			100.0	0	0.0	6.8	7.6	
Miller, GA		Pediatric		0		127	88.2	17	11.8		47.5	
Mitchell, GA		Pediatric		0			100.0	0	0.0	29.7	30.7	
Quitman, GA		Pediatric		0		80	80.8	19	19.2		44.5	
Randolph, GA		Pediatric		0			100.0	0	0.0		37.1	
Schley, GA		Pediatric		0			100.0	0	0.0		16.0	
Seminole, GA		Pediatric		0			100.0	0	0.0	32.1	33.0	
Stewart, GA		Pediatric		0			100.0	0	0.0	29.6	29.7	
Sumter, GA		Pediatric		3	275.3		100.0	0	0.0	4.2	4.2	
Terrell, GA		Pediatric		0			100.0	0	0.0	22.8	22.8	
Thomas, GA		Pediatric		0			100.0	0	0.0		36.1	
Tift, GA		Pediatric		5	260.8		100.0	0	0.0		3.9	
Turner, GA		Pediatric		0			100.0	0	0.0		22.8	
Webster, GA		Pediatric		0			100.0	0	0.0		20.4	
Worth, GA		Pediatric		0			100.0	0	0.0	17.7	18.3	
© 2023 Quest Analyti	ion IIC			I								

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Ophthalmology

Access Analysis

Pediatric Ophthalmology- Rural

Member / Provider Groups

Optometry(Urban Child)

Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	11 6	262.7 590.0	2,890 3,540	100.0 100.0	0	0.0	3.4 5.1	5.2 5.4
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Optometry

Access Analysis

Pediatric Optometry- Urban

Member / Provider Groups

Optometry(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	15.7	16.2	
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	15.2	25.6	
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	32.6	34.2	
Berrien, GA	709	Pediatric	1 in 45 miles	0		709	100.0	0	0.0	17.2	24.3	
Brooks, GA	443	Pediatric	1 in 45 miles	1	443.0		100.0	0	0.0	7.9	19.0	
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	31.9	32.4	
Clay, GA		Pediatric		0			100.0	0	0.0	22.3	49.4	
Clinch, GA		Pediatric		0			100.0	0	0.0	31.8	31.9	
Coffee, GA		Pediatric		2	790.0		100.0	0	0.0	6.3	7.0	
Colquitt, GA	1,620	Pediatric	1 in 45 miles	0			100.0	0	0.0	21.3	26.9	
Cook, GA		Pediatric		1			100.0	0	0.0	4.5	25.8	
Decatur, GA		Pediatric		2			100.0	0	0.0	5.5	5.7	
Early, GA		Pediatric		0		292	99.0	3	1.0	40.3	44.4	
Edhols, GA		Pediatric		0			100.0	0	0.0	17.8	17.8	
Grady, GA		Pediatric		0		796	100.0	0	0.0	15.9	16.4	
Irwin, GA		Pediatric		0			100.0	0	0.0	26.0	27.0	
Lanier, GA	233	Pediatric	1 in 45 miles	0			100.0	0	0.0	23.5	24.3	
Lee, GA		Pediatric		0			100.0	0	0.0	6.6	8.8	
Miller, GA		Pediatric		0		144	100.0	0	0.0	23.8	23.9	
Mitchell, GA		Pediatric		1	563.0	563	100.0	0	0.0	9.0	24.5	
Quitman, GA		Pediatric		0		99	100.0	0	0.0	6.2	41.8	
Randolph, GA	187	Pediatric	1 in 45 miles	0			100.0	0	0.0	27.2	36.7	
Schley, GA	123	Pediatric	1 in 45 miles	0			100.0	0	0.0	17.4	33.3	
Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	25.4	25.6	
Stewart, GA		Pediatric		0			100.0	0	0.0	27.1	32.7	
Sumter, GA		Pediatric		1			100.0	0	0.0	4.8	27.7	
Terrell, GA		Pediatric		0			100.0	0	0.0	22.4	22.9	
Thomas, GA		Pediatric		7	145.0	1,015		0	0.0	5.6	5.7	
Ti f t, GA		Pediatric		0		1,304		0	0.0	24.0	38.6	
Turner, GA		Pediatric		0			100.0	0	0.0	30.6	33.6	
Webster, GA		Pediatric		0			100.0	0	0.0		39.4	
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	22.4	24.8	
© 2023 Quest Analyti												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Optometry

Access Analysis

Pediatric Optometry- Rural

Member / Provider Groups

Orthopedics(Urban Child)

	Child-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Doug Lown	herty, GA des, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	35 48		2,890 3,540	100.0 100.0	0		2.9 3.7	3.1 3.9	
	023 Quest Analyti												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Orthopedics

Access Analysis

Pediatric Othopedics- Urban

Member / Provider Groups

Orthopedics(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	13.7	15.4	
Baker, GA	41	Pediatric	1 in 45 miles	3	13.7	41	100.0	0	0.0	2.6	2.6	
Ben Hill, GA	636	Pediatric	1 in 45 miles	2	318.0	636	100.0	0	0.0	3.3	5.2	
Berrien, GA	709	Pediatric	1 in 45 miles	2	354.5	709	100.0	0	0.0	5.8	10.3	
Brooks, GA	443	Pediatric	1 in 45 miles	0		443	100.0	0	0.0	16.4	16.5	
Calhoun, GA	120	Pediatric	1 in 45 miles	2	60.0	120	100.0	0	0.0	7.7	7.7	
Clay, GA		Pediatric		0		72	100.0	0	0.0	21.4	21.4	
Clinch, GA	254	Pediatric	1 in 45 miles	5	50.8	254	100.0	0	0.0	4.5	4.5	
Coffee, GA		Pediatric		12	131.7	1,580	100.0	0	0.0	5.2	5.8	
Colquitt, GA	1,620	Pediatric	1 in 45 miles	14	115.7	1,620	100.0	0	0.0	5.7	6.8	
Cook, GA		Pediatric		23	26.8	617	100.0	0	0.0	3.7	3.9	
Decatur, GA	927	Pediatric	1 in 45 miles	4	231.8	927	100.0	0	0.0	4.6	5.5	
Early, GA		Pediatric		0		295	100.0	0	0.0	19.8	19.8	
Edhols, GA	319	Pediatric	1 in 45 miles	0		319	100.0	0	0.0	15.6	15.6	
Grady, GA		Pediatric		4	199.0	796	100.0	0	0.0	3.8	4.6	
Irwin, GA		Pediatric		2	125.0	250	100.0	0	0.0	4.2	4.8	
Lanier, GA	233	Pediatric	1 in 45 miles	1	233.0	233	100.0	0	0.0	3.6	17.7	
Lee, GA		Pediatric		16	38.9	622	100.0	0	0.0	4.6	6.2	
Miller, GA	144	Pediatric	1 in 45 miles	4	36.0	144	100.0	0	0.0	5.3	5.3	
Mitchell, GA		Pediatric		5	112.6	563	100.0	0	0.0	5.1	8.3	
Quitman, GA		Pediatric		0		99	100.0	0	0.0	37.1	37.1	
Randolph, GA		Pediatric		0		187	100.0	0	0.0	15.4	15.4	
Schley, GA	123	Pediatric	1 in 45 miles	2	61.5	123	100.0	0	0.0	3.3	3.6	
Seminole, GA		Pediatric		2	133.0	266	100.0	0	0.0	5.8	6.0	
Stewart, GA	100	Pediatric	1 in 45 miles	0		100	100.0	0	0.0	27.1	27.4	
Sumter, GA		Pediatric		8	103.3	826	100.0	0	0.0	3.5	3.6	
Terrell, GA	255	Pediatric	1 in 45 miles	2	127.5	255	100.0	0	0.0	3.6	3.6	
Thomas, GA	1,015	Pediatric	1 in 45 miles	11	92.3	1,015	100.0	0	0.0	4.2	4.4	
Tift, GA	1,304	Pediatric	1 in 45 miles	24	54.3	1,304	100.0	0	0.0	2.5	2.8	
Turner, GA	311	Pediatric	1 in 45 miles	0		311	100.0	0	0.0	19.2	20.0	
Webster, GA		Pediatric		0		45	100.0	0	0.0	17.7	18.3	
Worth, GA	465	Pediatric	1 in 45 miles	3	155.0	465	100.0	0	0.0	5.4	5.5	
	ics IIC											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Orthopedics

Access Analysis

Pediatric Orthopedics- Rural

Member / Provider Groups

Rheumatology(Urban Child)

	Child-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2	
Dougherty, GA Lowndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	5 0	578.0	2,890 3,224	100.0	0 316		3.8 23.4	4.3 40.4	
© 2023 Quest Analy												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Rheumatology

Access Analysis

Pediatric Rheumatology- Urban

Member / Provider Groups

Rheumatology(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	16.4	16.4	
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	25.7	27.9	
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	28.8	28.8	
Berrien, GA	709	Pediatric	1 in 45 miles	0		709	100.0	0	0.0	16.0	27.8	
Brooks, GA		Pediatric		0		443	100.0	0	0.0	20.8	23.1	
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	32.6	34.7	
Clay, GA		Pediatric		0		2	2.8	70	97.2	49.8	52.1	
Clinch, GA	254	Pediatric	1 in 45 miles	0		250	98.4	4	1.6	32.1	33.2	
Coffee, GA		Pediatric		2	790.0	1,580	100.0	0	0.0	6.8	6.8	
Colquitt, GA	1,620	Pediatric	1 in 45 miles	3	540.0	1,620	100.0	0	0.0	7.3	7.4	
Cook, GA		Pediatric		1	617.0	617	100.0	0	0.0	5.4	20.8	
Decatur, GA	927	Pediatric	1 in 45 miles	0		873	94.2	54	5.8	37.2	37.3	
Early, GA		Pediatric		0		18	6.1	277	93.9	50.7	52.5	
Edhols, GA	319	Pediatric	1 in 45 miles	0		270	84.6	49	15.4	39.1	51.1	
Grady, GA		Pediatric		0		796	100.0	0	0.0	17.3	17.5	
Irwin, GA	250	Pediatric	1 in 45 miles	0		250	100.0	0	0.0	19.5	19.5	
Lanier, GA		Pediatric		0		233	100.0	0	0.0	23.9	38.3	
Lee, GA		Pediatric		0		622	100.0	0	0.0	7.8	9.1	
Miller, GA	144	Pediatric	1 in 45 miles	0		18	12.5	126	87.5	51.3	52.1	
Mitchell, GA		Pediatric		0		563	100.0	0	0.0	23.7	23.8	
Quitman, GA		Pediatric		0		88	88.9	11	11.1	42.8	44.3	
Randolph, GA		Pediatric		0		187	100.0	0	0.0	37.2	39.7	
Schley, GA	123	Pediatric	1 in 45 miles	0		123	100.0	0	0.0	18.9	43.3	
Seminole, GA		Pediatric		0		0	0.0	266	100.0	57.7	57.8	
Stewart, GA	100	Pediatric	1 in 45 miles	0		100	100.0	0	0.0	35.5	37.7	
Sumter, GA		Pediatric		0		826	100.0	0	0.0	25.6	33.1	
Terrell, GA	255	Pediatric	1 in 45 miles	0		255	100.0	0	0.0	23.4	26.0	
Thomas, GA	1,015	Pediatric	1 in 45 miles	3	338.3	1,015	100.0	0	0.0	5.5	5.6	
Tift, GA		Pediatric		3	434.7	1,304	100.0	0	0.0	3.7	4.4	
Turner, GA	311	Pediatric	1 in 45 miles	0		311	100.0	0	0.0	22.8	23.3	
Webster, GA		Pediatric		0		45	100.0	0	0.0	39.6	43.1	
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	17.8	18.2	
© 2023 Quest Analyt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Rheumatology

Access Analysis

Pediatric Rheumatology- Rural

Member / Provider Groups

Vascular Surgery(Urban Child)

	Child-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA vndes, GA	2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	19 13			100.0 100.0	0		3.8 4.6	3.8 5.0
Ц	2023 Quest Analyt	i 110										

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Vascular Surgery

Access Analysis

Pediatric Vascular Surgery- Urban

Member / Provider Groups

Vascular Surgery(Rural Child)

	Child-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	16.4	16.4	
Baker, GA		Pediatric		0		41	100.0	0	0.0	15.2	24.1	
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	28.8	28.8	
Berrien, GA		Pediatric		0		709	100.0	0	0.0	15.7	15.8	
Brooks, GA	443	Pediatric	1 in 45 miles	2	221.5	443	100.0	0	0.0	6.3	8.4	
Calhoun, GA		Pediatric		0		120	100.0	0	0.0	32.2	32.9	
Clay, GA	72	Pediatric	1 in 45 miles	0		2	2.8	70	97.2	50.5	50.5	
Clinch, GA		Pediatric		0			100.0	0	0.0	31.6	32.3	
Coffee, GA		Pediatric		2	790.0	1,580		0	0.0	6.8	6.8	
Colquitt, GA		Pediatric		1	1,620.0	1,620		0	0.0	7.2	21.0	
Cook, GA		Pediatric		2	308.5		100.0	0	0.0	5.4	5.4	
Decatur, GA		Pediatric		0			100.0	0	0.0	23.7	23.7	
Early, GA		Pediatric		0		58		237	80.3	45.2	49.0	
Edhols, GA		Pediatric		0			100.0	0	0.0	18.1	18.1	
Gr <mark>ady, GA</mark>	796	Pediatric	1 in 45 miles	5	159.2		100.0	0	0.0	4.6	4.7	
Irwin, GA		Pediatric		0			100.0	0	0.0	19.5	19.5	
Lanier, GA		Pediatric		0			100.0	0	0.0	22.6	22.9	
Lee, GA		Pediatric		0		622	100.0	0	0.0	7.6	8.1	
Miller, GA		Pediatric		0			100.0	0	0.0	31.5	34.2	
Mitchell, GA	563	Pediatric	1 in 45 miles	2	281.5		100.0	0	0.0	5.4	12.0	
Quitman, GA		Pediatric		0		80		19	19.2	44.3	44.4	
Randolph, GA	187	Pediatric	1 in 45 miles	0			100.0	0	0.0	38.1	38.1	
Schley, GA	123	Pediatric	1 in 45 miles	0			100.0	0	0.0	41.5	44.1	
Seminole, GA		Pediatric		0		173		93	35.0	44.0	44.2	
Stewart, GA		Pediatric		0		98		2 0	2.0 0.0	37.4	37.5	
Sumter, GA		Pediatric Pediatric		0			100.0 100.0	0	0.0	29.4 24.4	33.3	
Terrell, GA Thomas, GA		Pediatric		8	 126.9	1,015		0	0.0	4.6	24.4 5.3	
Tift, GA		Pediatric		3	434.7	1,304		0	0.0	4.3	4.4	
Turner, GA		Pediatric		0	434.7		100.0	0	0.0	22.6	23.3	
Webster, GA	45	Pediatric	1 in 45 miles	0		37	82.2	8	17.8	43.9	43.9	
Worth, GA		Pediatric		0		-	100.0	0	0.0	17.8	18.2	
© 2023 Quest Analyt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Vascular Surgery

Access Analysis

Pediatric Vascular Surgery- Rural

Member / Provider Groups

Urology(Urban Child)

	Child-U											
	N	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County		#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, C Lowndes, GA		2,890 3,540	Pediatric Pediatric	1 in 30 miles 1 in 30 miles	4 2	722.5 1,770.0	2,890 3,540		0 0	0.0		6.7 5.6
	t Analytics											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Urology

Access Analysis

Pediatric Urology- Urban

Member / Provider Groups

Urology(Rural Child)

				C	hild-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	328	Pediatric	1 in 45 miles	0		328	100.0	0	0.0	16.2	16.6
Baker, GA	41	Pediatric	1 in 45 miles	0		41	100.0	0	0.0	25.2	25.4
Ben Hill, GA	636	Pediatric	1 in 45 miles	0		636	100.0	0	0.0	28.7	28.7
Berrien, GA	709	Pediatric	1 in 45 miles	0		709	100.0	0	0.0	15.7	15.8
Brooks, GA	443	Pediatric	1 in 45 miles	3	147.7	443	100.0	0	0.0	6.8	6.8
Calhoun, GA	120	Pediatric	1 in 45 miles	0		120	100.0	0	0.0	32.1	32.4
Clay, GA		Pediatric		0		2	2.8	70	97.2	49.6	49.6
Clinch, GA		Pediatric		0			100.0	0	0.0	31.8	35.3
Coffee, GA		Pediatric		3	526.7		100.0	0	0.0	6.2	7.0
Colquitt, GA		Pediatric		2	810.0		100.0	0	0.0	7.3	7.3
Cook, GA		Pediatric		2			100.0	0	0.0	5.4	5.4
Decatur, GA		Pediatric		1	927.0		100.0	0	0.0	5.6	23.7
Early, GA		Pediatric		0		83		212	71.9	45.1	49.9
Edhols, GA		Pediatric		0			100.0	0	0.0	18.2	19.1
Grady, GA		Pediatric		2	398.0	796	100.0	0	0.0	4.6	4.7
Irwin, GA		Pediatric		0			100.0	0	0.0	19.3	19.3
Lanier, GA	233	Pediatric	1 in 45 miles	0			100.0	0	0.0	22.6	23.0
Lee, GA		Pediatric		0			100.0	0	0.0	6.8	8.4
Miller, GA		Pediatric		0		144	100.0	0	0.0	23.8	42.8
Mitchell, GA		Pediatric		0		563	100.0	0	0.0	21.0	21.5
Quitman, GA		Pediatric		0		80	80.8	19	19.2	44.1	44.3
Randolph, GA	187	Pediatric	1 in 45 miles	0			100.0	0	0.0	36.9	36.9
Schley, GA	123	Pediatric	1 in 45 miles	0			100.0	0	0.0	13.9	15.1
Seminole, GA	266	Pediatric	1 in 45 miles	0		266	100.0	0	0.0	25.5	44.5
Stewart, GA		Pediatric		0			100.0	0	0.0	28.3	28.3
Sumter, GA		Pediatric		2	413.0		100.0	0	0.0	4.5	4.8
Terrell, GA		Pediatric		0			100.0	0	0.0	22.3	22.3
Thomas, GA		Pediatric		6	169.2	1,015		0	0.0	5.3	5.4
Ti f t, GA		Pediatric		9	144.9	1,304		0	0.0	4.3	4.3
Turner, GA		Pediatric		0			100.0	0	0.0		23.3
Webster, GA		Pediatric		0			100.0	0	0.0		18.9
Worth, GA	465	Pediatric	1 in 45 miles	0		465	100.0	0	0.0	18.3	19.5
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Pediatric_Urology

Access Analysis

Pediatric Urology- Rural

Member / Provider Groups

Pharmacy(Urban All)

	AII-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Do Lo	ugherty, GA wndes, GA	4,194 4,851	PHARMACY PHARMACY	1 in 15 miles 1 in 15 miles	19 21	220.7 231.0	4,194 4,851	100.0 100.0	0	0.0		2.3 3.0
Ц	2023 Quest Analvt	ian II C										

© 2023 Quest Analytics, LLC.

April 26, 2023

PHARMACY

Access Analysis

Pharmacy- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

Pharmacy(Rural All)

	All-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	PHARMACY	1 in 30 miles	3	143.0	429	100.0	0	0.0	4.5	7.2
Baker, GA	61	PHARMACY	1 in 30 miles	0		61	100.0	0	0.0	13.9	15.0
Ben Hill, GA	858	PHARMACY	1 in 30 miles	4	214.5	858	100.0	0	0.0	2.6	2.9
Berrien, GA	969	PHARMACY	1 in 30 miles	2	484.5	969	100.0	0	0.0	5.9	6.7
Brooks, GA	607	PHARMACY	1 in 30 miles	3	202.3	607	100.0	0	0.0	6.0	6.8
Calhoun, GA	182	PHARMACY	1 in 30 miles	1	182.0	182	100.0	0	0.0	4.4	11.7
Clay, GA	104	PHARMACY	1 in 30 miles	1	104.0	104	100.0	0	0.0	3.7	18.0
Clinch, GA	341	PHARMACY	1 in 30 miles	1	341.0	336	98.5	5	1.5	4.8	20.4
Coffee, GA	2,117	PHARMACY	1 in 30 miles	13	162.8	2,117	100.0	0	0.0	4.7	5.6
Colquitt, GA	2,220	PHARMACY	1 in 30 miles	13	170.8	2,220	100.0	0	0.0	3.3	4.4
Cook, GA	839	PHARMACY	1 in 30 miles	3	279.7	839	100.0	0	0.0	3.9	4.4
Decatur, GA	1,282	PHARMACY	1 in 30 miles	6	213.7	1,282	100.0	0	0.0	4.6	5.2
Early, GA	407	PHARMACY	1 in 30 miles	4	101.8	407	100.0	0	0.0	4.2	4.7
Edhols, GA	423	PHARMACY	1 in 30 miles	0		423	100.0	0	0.0	4.7	5.3
Grady, GA	1,037	PHARMACY	1 in 30 miles	4	259.3	1,037	100.0	0	0.0	4.0	4.4
Irwin, GA	338	PHARMACY	1 in 30 miles	2	169.0	338	100.0	0	0.0	4.5	4.7
Lanier, GA	321	PHARMACY	1 in 30 miles	2	160.5	321	100.0	0	0.0	3.1	3.7
Lee, GA	868	PHARMACY	1 in 30 miles	7	124.0	868	100.0	0	0.0	4.3	4.9
Miller, GA	206	PHARMACY	1 in 30 miles	3	68.7	206	100.0	0	0.0	5.2	5.3
Mitchell, GA	800	PHARMACY	1 in 30 miles	6	133.3	800	100.0	0	0.0	4.2	5.1
Quitman, GA	131	PHARMACY	1 in 30 miles	0		131	100.0	0	0.0	5.1	5.4
Randolph, GA	260	PHARMACY	1 in 30 miles	3	86.7	260	100.0	0	0.0	1.5	3.5
Schley, GA	182	PHARMACY	1 in 30 miles	1	182.0	182	100.0	0	0.0	3.6	13.4
Seminole, GA	377	PHARMACY	1 in 30 miles	3	125.7	377	100.0	0	0.0	4.3	5.8
Stewart, GA	151	PHARMACY	1 in 30 miles	1	151.0	151	100.0	0	0.0	6.7	12.6
Sumter, GA	1,165	PHARMACY	1 in 30 miles	6	194.2	1,165		0	0.0	2.6	3.8
Terrell, GA	346	PHARMACY	1 in 30 miles	2	173.0	346	100.0	0	0.0	3.4	3.7
Thomas, GA	1,389	PHARMACY	1 in 30 miles	13	106.8	1,389	100.0	0	0.0	4.0	4.3
Tift, GA	1,762	PHARMACY	1 in 30 miles	12	146.8	1,762	100.0	0	0.0	1.9	3.1
Turner, GA	428	PHARMACY	1 in 30 miles	1	428.0		100.0	0	0.0	3.1	18.8
Webster, GA	56	PHARMACY	1 in 30 miles	1	56.0	56	100.0	0	0.0		9.0
Worth, GA	666	PHARMACY	1 in 30 miles	4	166.5	666	100.0	0	0.0	4.7	5.1
© 2023 Quest Analyt	ics IIC	-		-							

April 26, 2023

PHARMACY

Access Analysis

Pharmacy- Rural

Member / Provider Groups

Rural Members (SOUTHWEST_RURAL)

24 Hour Pharmacy(Urban All)

AII-U											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
herty, GA ides, GA	4,194 4,851		1 in 15 miles 1 in 15 miles	0		0 4,696			100.0 3.2	81.4 5.1	87.8 141.7
023 Quest Analyti	ion IIC										

© 2023 Quest Analytics, LLC.

April 26, 2023

24 Hour Pharmacy

Access Analysis

24 Hour Pharmacy- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

24 Hour Pharmacy(Rural All)

	AII-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	24 Hour P	1 in 30 miles	0		0	0.0	429	100.0	48.3	116.2
Baker, GA		24 Hour P	1 in 30 miles	0		0	0.0	61		76.5	91.7
Ben Hill, GA			1 in 30 miles	0		0	0.0	858	100.0	60.9	83.5
Berrien, GA	969		1 in 30 miles	0		724	74.7	245		26.3	117.9
Brooks, GA			1 in 30 miles	0		510	84.0	97	16.0	22.5	140.8
Calhoun, GA			1 in 30 miles	0		0	0.0	182		73.4	97.7
Clay, GA	104	24 Hour P	1 in 30 miles	0		0	0.0	104		61.1	98.9
Clinch, GA	341	24 Hour P	1 in 30 miles	0		15	4.4	326	95.6	37.9	139.7
Coffee, GA	2,117	24 Hour P	1 in 30 miles	0		0	0.0	2,117	100.0	59.6	106.5
Colquitt, GA	2,220	24 Hour P	1 in 30 miles	0		0	0.0	2,220	100.0	45.1	117.4
Cook, GA	839	24 Hour P	1 in 30 miles	0		705	84.0	134	16.0	26.6	120.1
Decatur, GA	1,282	24 Hour P	1 in 30 miles	0		0	0.0	1,282	100.0	78.0	115.9
Early, GA	407	24 Hour P	1 in 30 miles	0		0	0.0	407	100.0	81.3	104.9
Edhols, GA	423	24 Hour P	1 in 30 miles	0		423	100.0	0	0.0	17.7	154.7
Grady, GA	1,037	24 Hour P	1 in 30 miles	0		0	0.0	1,037	100.0	56.7	122.4
Irwin, GA			1 in 30 miles	0		0	0.0		100.0	52.1	92.3
Lanier, GA	321	24 Hour P	1 in 30 miles	0		309	96.3	12	3.7	23.7	132.1
Lee, GA	868	24 Hour P	1 in 30 miles	0		0	0.0	868	100.0	80.7	86.2
Miller, GA	206	24 Hour P	1 in 30 miles	0		0	0.0	206	100.0	88.2	96.3
Mitchell, GA			1 in 30 miles	0		0	0.0	800	100.0	62.2	105.2
Quitman, GA	131	24 Hour P	1 in 30 miles	0		0	0.0	131	100.0	46.1	83.0
Randolph, GA	260	24 Hour P	1 in 30 miles	0		0	0.0	260	100.0	54.6	91.6
Schley, GA	182	24 Hour P	1 in 30 miles	0		0	0.0	182	100.0	47.0	69.3
Seminole, GA	377	24 Hour P	1 in 30 miles	0		0	0.0	377	100.0	97.3	106.1
Stewart, GA	151	24 Hour P	1 in 30 miles	0		6	4.0	145	96.0	38.1	72.1
Sumter, GA	1,165	24 Hour P	1 in 30 miles	0		0	0.0	1,165	100.0	60.3	73.2
Terrell, GA	346	24 Hour P	1 in 30 miles	0		0	0.0	346	100.0	65.6	93.4
Thomas, GA	1,389	24 Hour P	1 in 30 miles	0		32	2.3	1,357	97.7	41.2	130.2
Ti f t, GA	1,762	24 Hour P	1 in 30 miles	0		0	0.0	1,762	100.0	46.3	99.6
Turner, GA	428	24 Hour P	1 in 30 miles	0		0	0.0	428	100.0	65.6	81.3
Webster, GA	56	24 Hour P	1 in 30 miles	0		0	0.0	56	100.0	47.6	77.0
Worth, GA	666	24 Hour P	1 in 30 miles	0		0	0.0	666	100.0	64.1	94.5

© 2023 Quest Analytics, LLC.

April 26, 2023

24 Hour Pharmacy

Access Analysis

24 Hour Pharmacy- Rural

Member / Provider Groups

Rural Members (SOUTHWEST_RURAL)

Occ_Therapy_Urban_all

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851		1 in 30 miles 1 in 30 miles	6 20	699.0 242.6	4,194 4,851	100.0 100.0	0			5.7 4.2
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Occupational Therapy

Access Analysis

Occupational Therapy- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

Occ_Therapy_Rural_all

	All-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Occupatio	1 in 45 miles	0		429	100.0	0	0.0	15.2	16.2
Baker, GA	61	Occupatio	1 in 45 miles	0		61	100.0	0	0.0	15.2	15.2
Ben Hill, GA		Occupatio	1 in 45 miles	1	858.0		100.0	0	0.0	2.6	6.4
Berrien, GA		Occupatio	1 in 45 miles	0			100.0	0	0.0	18.7	19.7
Brooks, GA	607	Occupatio	1 in 45 miles	3	202.3	607	100.0	0	0.0	6.9	7.0
Calhoun, GA	182	Occupatio	1 in 45 miles	0		182	100.0	0	0.0	30.6	32.1
Clay, GA	104	Occupatio	1 in 45 miles	0		74	71.2	30	28.8	43.6	50.5
Clinch, GA	341	Occupatio	1 in 45 miles	0		341	100.0	0	0.0	31.6	32.1
Coffee, GA	2,117	Occupatio	1 in 45 miles	2	1,058.5	2,117	100.0	0	0.0	5.7	6.9
Colquitt, GA	2,220	Occupatio	1 in 45 miles	7	317.1	2,220	100.0	0	0.0	6.6	7.1
Cook, GA	839	Occupatio	1 in 45 miles	0		839	100.0	0	0.0	19.3	19.8
Decatur, GA	1,282	Occupatio	1 in 45 miles	7	183.1	1,282	100.0	0	0.0	5.1	5.2
Early, GA	407	Occupatio	1 in 45 miles	0		407	100.0	0	0.0	22.6	44.0
Edhols, GA		Occupatio	1 in 45 miles	0		423	100.0	0	0.0	15.6	16.5
Grady, GA	1,037	Occupatio	1 in 45 miles	1	1,037.0	1,037	100.0	0	0.0	4.7	15.6
Irwin, GA		Occupatio	1 in 45 miles	2	169.0		100.0	0	0.0	7.2	10.2
Lanier, GA	321	Occupatio	1 in 45 miles	0		321	100.0	0	0.0	21.4	22.9
Lee, GA		Occupatio	1 in 45 miles	0		868	100.0	0	0.0	8.5	9.1
Miller, GA		Occupatio	1 in 45 miles	0		206	100.0	0	0.0	15.8	23.1
Mitchell, GA	800	Occupatio	1 in 45 miles	2	400.0	800	100.0	0	0.0	9.0	9.1
Quitman, GA	131	Occupatio	1 in 45 miles	0		105	80.2	26	19.8	44.2	44.3
Randolph, GA		Occupatio	1 in 45 miles	0		260		0	0.0	37.9	37.9
Schley, GA		Occupatio	1 in 45 miles	0			100.0	0	0.0	30.6	35.2
Seminole, GA		Occupatio	1 in 45 miles	1	377.0	377	100.0	0	0.0	6.3	24.5
Stewart, GA	151	Occupatio	1 in 45 miles	0		148	98.0	3	2.0	37.0	37.4
Sumter, GA		Occupatio	1 in 45 miles	0		1,165		0	0.0	26.5	26.5
Terrell, GA		Occupatio	1 in 45 miles	0	400.0	346 1,389	100.0	0	0.0	24.2	24.2
Thomas, GA		Occupatio	1 in 45 miles	11	126.3			0	0.0	4.3	4.7 3.3
Tift, GA Turner, GA		Occupatio Occupatio	1 in 45 miles 1 in 45 miles	7	251.7	1,762 428	100.0 100.0		0.0	3.1 18.6	20.1
Webster, GA		Occupatio	1 in 45 miles	0		426 52	92.9	0 4	7.1	43.2	43.2
Worth, GA		Occupatio	1 in 45 miles	1	 666.0	666		0	0.0	5.7	16.8
© 2023 Quest Analyt	iaa IIIC										

© 2023 Quest Analytics, LLC.

April 26, 2023

Occupational Therapy

Access Analysis

Occupational Therapy- Rural

Member / Provider Groups

Rural Members (SOUTHWEST_RURAL)

Physical Therapy(Urban All)

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA	4,194 4,851	Physical T Physical T	1 in 30 miles 1 in 30 miles	8 24		4,194 4,851	100.0 100.0	0	0.0		5.5 3.5
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Physical Therapy

Access Analysis

Physical Therapy- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

Physical Therapy(Rural All)

	AII-R										
	Member	Pro	vider	Counts	Datia Masshass	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	Ratio Members to Providers	#	%	#	%	1	2
Atkinson, GA	429		1 in 45 miles	0		429	100.0	0	0.0	16.0	30.1
Baker, GA	61	Physical T	1 in 45 miles	0		61	100.0	0	0.0	15.0	15.3
Ben Hill, GA	858	Physical T	1 in 45 miles	3	286.0	858	100.0	0	0.0	3.3	5.1
Berrien, GA	969	Physical T	1 in 45 miles	0		969	100.0	0	0.0	18.6	18.7
Brooks, GA	607	Physical T	1 in 45 miles	2	303.5	607	100.0	0	0.0	6.9	6.9
Calhoun, GA	182	Physical T	1 in 45 miles	3	60.7	182	100.0	0	0.0	4.4	8.1
Clay, GA	104	Physical T	1 in 45 miles	0		104	100.0	0	0.0	21.6	21.6
Clinch, GA	341	Physical T	1 in 45 miles	0		341	100.0	0	0.0	31.1	31.4
Coffee, GA	2,117	Physical T	1 in 45 miles	1	2,117.0	2,117	100.0	0	0.0	6.2	21.8
Colquitt, GA	2,220	Physical T	1 in 45 miles	15	148.0	2,220	100.0	0	0.0	6.9	6.9
Cook, GA	839	Physical T	1 in 45 miles	0		839	100.0	0	0.0	18.8	18.8
Decatur, GA	1,282	Physical T	1 in 45 miles	12	106.8	1,282	100.0	0	0.0	4.8	5.0
Early, GA	407	Physical T	1 in 45 miles	1	407.0	407	100.0	0	0.0	15.2	20.5
Edhols, GA	423	Physical T	1 in 45 miles	0		423	100.0	0	0.0	13.0	15.6
Grady, GA	1,037	Physical T	1 in 45 miles	4	259.3	1,037	100.0	0	0.0	4.2	4.2
Irwin, GA	338	Physical T	1 in 45 miles	0		338	100.0	0	0.0	9.5	11.0
Lanier, GA	321	Physical T	1 in 45 miles	0		321	100.0	0	0.0	21.3	21.3
Lee, GA	868	Physical T	1 in 45 miles	0		868	100.0	0	0.0	7.5	8.1
Miller, GA	206	Physical T	1 in 45 miles	2	103.0	206	100.0	0	0.0	5.0	5.2
Mitchell, GA	800	Physical T	1 in 45 miles	2	400.0	800	100.0	0	0.0	8.9	9.1
Quitman, GA			1 in 45 miles	0			100.0	0	0.0	37.2	37.2
Randolph, GA	260	Physical T	1 in 45 miles	0		260	100.0	0	0.0	17.0	17.0
Schley, GA	182	Physical T	1 in 45 miles	0		182	100.0	0	0.0	16.1	16.1
Seminole, GA	377	Physical T	1 in 45 miles	1	377.0	377	100.0	0	0.0	6.3	18.2
Stewart, GA	151	Physical T	1 in 45 miles	0		151	100.0	0	0.0	29.1	29.1
Sumter, GA	1,165	Physical T	1 in 45 miles	4	291.3	1,165	100.0	0	0.0	4.1	4.1
Terrell, GA	346	Physical T	1 in 45 miles	0		346	100.0	0	0.0	22.7	22.7
Thomas, GA	1,389	Physical T	1 in 45 miles	13	106.8	1,389	100.0	0	0.0	4.4	4.4
Tift, GA	1,762	Physical T	1 in 45 miles	12	146.8	1,762	100.0	0	0.0	3.1	3.1
Turner, GA	428	Physical T	1 in 45 miles	0		428	100.0	0	0.0	19.5	19.7
Webster, GA	56	Physical T	1 in 45 miles	0		56	100.0	0	0.0	20.3	20.3
Worth, GA	666	Physical T	1 in 45 miles	2	333.0	666	100.0	0	0.0	5.6	5.8
© 2023 Quest Analyt	: 110								_		_

© 2023 Quest Analytics, LLC.

April 26, 2023

Physical Therapy

Access Analysis

Physical Therapy- Rural

Member / Provider Groups

Rural Members (SOUTHWEST_RURAL)

Speech Therapy(Urban All)

	AII-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dol Lov	ugherty, GA vndes, GA	4,194	Speech Th Speech Th	1 in 30 miles	12 111	349.5	4,194 4,851	100.0 100.0	0 0	0.0		3.5 2.6
Ц	2023 Quest Analvt											

© 2023 Quest Analytics, LLC.

April 26, 2023 Speech Therapy

Access Analysis

SpeechTherapy- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

Speech Therapy(Rural All)

	All-R										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Speech Th	1 in 45 miles	0		429	100.0	0	0.0	13.4	14.7
Baker, GA	61	Speech Th	1 in 45 miles	1	61.0	61		0	0.0	14.1	15.1
Ben Hill, GA		1 .	1 in 45 miles	20	42.9	858	100.0	0	0.0	2.5	2.8
Berrien, GA	969	Speech Th	1 in 45 miles	5	193.8	969	100.0	0	0.0	3.3	7.4
Brooks, GA	607	Speech Th	1 in 45 miles	4	151.8	607	100.0	0	0.0	5.8	6.5
Calhoun, GA	182	Speech Th	1 in 45 miles	0		182	100.0	0	0.0	14.2	20.5
Clay, GA	104	Speech Th	1 in 45 miles	0		104	100.0	0	0.0	20.8	23.0
Clinch, GA	341	Speech Th	1 in 45 miles	0			100.0	0	0.0	21.1	27.0
Coffee, GA	2,117	Speech Th	1 in 45 miles	26	81.4	2,117	100.0	0	0.0	4.0	4.7
Colquitt, GA			1 in 45 miles	21	105.7		100.0	0	0.0	4.2	6.0
Cook, GA			1 in 45 miles	6	139.8	839	100.0	0	0.0	4.0	4.2
Decatur, GA	1,282	Speech Th	1 in 45 miles	21	61.0	1,282	100.0	0	0.0	4.8	5.0
Early, GA	407	Speech Th	1 in 45 miles	0		407	100.0	0	0.0	18.5	21.5
Edhols, GA		Speech Th	1 in 45 miles	0		423		0	0.0	8.1	8.4
Grady, GA	1,037	Speech Th	1 in 45 miles	3		1,037	100.0	0	0.0	4.5	4.5
Irwin, GA		· '	1 in 45 miles	5			100.0	0	0.0	3.3	4.3
Lanier, GA			1 in 45 miles	1		321		0	0.0	3.4	9.7
Lee, GA		Speech Th	1 in 45 miles	2	434.0	868		0	0.0	5.7	7.8
Miller, GA		Speech Th	1 in 45 miles	2		206		0	0.0	5.1	5.4
Mitchell, GA		Speech Th	1 in 45 miles	8		800	100.0	0	0.0	8.8	8.9
Quitman, GA		Speech Th	1 in 45 miles	0		131		0	0.0	5.4	21.9
Randolph, GA		Speech Th	1 in 45 miles	1		260		0	0.0	3.6	26.1
Schley, GA		· ·	1 in 45 miles	0			100.0	0	0.0	35.3	35.4
Seminole, GA			1 in 45 miles	1			100.0	0	0.0	6.3	18.3
Stewart, GA		Speech Th	1 in 45 miles	0		151	100.0	0	0.0	23.2	32.1
Sumter, GA			1 in 45 miles	0			100.0	0	0.0	25.9	26.3
Terrell, GA		l '	1 in 45 miles	0			100.0	0	0.0	17.5	20.7
Thomas, GA		Speech Th	1 in 45 miles	15			100.0	0	0.0	3.7	4.5
Tift, GA		Speech Th	1 in 45 miles	26			100.0	0	0.0	2.0	2.6
Turner, GA		1 '	1 in 45 miles	1			100.0	0	0.0	6.5	16.2
Webster, GA		Speech Th	1 in 45 miles	0			100.0	0	0.0	31.4	38.3
Worth, GA	666	Speech Th	1 in 45 miles	3	222.0	666	100.0	0	0.0	5.1	5.6
© 2023 Quest Ana	lutios IIC	<u> </u>	L								

© 2023 Quest Analytics, LLC.

April 26, 2023

Speech Therapy

Access Analysis

Speech Therapy- Rural

Member / Provider Groups

Rural Members (SOUTHWEST_RURAL)

OP_Radio(Urban All)

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	4,194		1 in 30 miles	75	55.9	4,194	100.0	0			3.5
	# 4,194	Group Outpatient	Standard	#		# 4,194	%	# 0	% 0.0	1 2.4	2
© 2023 Quest Analyt	tics. LLC.										

© 2023 Quest Analytics, LLC.

April 26, 2023

Outpatient Radiology Services

Access Analysis

Outpatient Radiology Services- Urban

Member / Provider Groups

Urban Members (SOUTHWEST_URBAN)

OP_Radio(Rural All)

All-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Outpatient	1 in 45 miles	0		429	100.0	0	0.0	15.2	15.2
Baker, GA	61	Outpatient	1 in 45 miles	0			100.0	0	0.0	15.1	15.3
Ben Hill, GA	858		1 in 45 miles	3	286.0		100.0	0	0.0	3.4	3.4
Berrien, GA	969	Outpatient	1 in 45 miles	4	242.3		100.0	0	0.0	5.1	6.6
Brooks, GA	607	Outpatient	1 in 45 miles	11			100.0	0	0.0	5.5	6.6
Calhoun, GA	182	Outpatient	1 in 45 miles	3	60.7		100.0	0	0.0	8.1	8.1
Clay, GA	104	Outpatient	1 in 45 miles	0		104	100.0	0	0.0	16.2	21.3
Clinch, GA	341	Outpatient	1 in 45 miles	90	3.8	341	100.0	0	0.0	3.8	4.7
Coffee, GA	2,117	Outpatient	1 in 45 miles	6	352.8	2,117	100.0	0	0.0	6.2	6.3
Colquitt, GA	2,220	Outpatient	1 in 45 miles	12	185.0	2,220	100.0	0	0.0	5.0	6.2
Cook, GA	839		1 in 45 miles	14	59.9		100.0	0	0.0	3.7	4.0
Decatur, GA	1,282		1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Early, GA	407		1 in 45 miles	13	31.3	407	100.0	0	0.0	4.6	4.6
Edhols, GA	423	Outpatient	1 in 45 miles	1	423.0	423	100.0	0	0.0	3.3	11.4
Grady, GA	1,037	Outpatient	1 in 45 miles	10	103.7		100.0	0	0.0	4.7	4.7
Irwin, GA	338	Outpatient	1 in 45 miles	4	84.5		100.0	0	0.0	4.5	4.7
Lanier, GA	321		1 in 45 miles	4	80.3		100.0	0	0.0	2.8	3.5
Lee, GA	868		1 in 45 miles	2	434.0			0	0.0	5.4	6.5
Miller, GA	206		1 in 45 miles	6	34.3			0	0.0	5.3	5.3
Mitchell, GA	800		1 in 45 miles	11	72.7		100.0	0	0.0	8.7	8.9
Quitman, GA	131	Outpatient	1 in 45 miles	1	131.0		100.0	0	0.0	3.4	36.5
Randolph, GA	260	Outpatient	1 in 45 miles	0			100.0	0	0.0	16.9	17.0
Schley, GA	182		1 in 45 miles	0			100.0	0	0.0	14.2	14.7
Seminole, GA	377	Outpatient	1 in 45 miles	39	9.7		100.0	0	0.0	6.4	6.4
Stewart, GA	151	Outpatient	1 in 45 miles	0			100.0	0	0.0	25.1	27.2
Sumter, GA	1,165	Outpatient	1 in 45 miles	31	37.6		100.0	0	0.0	3.3	3.6
Terrell, GA	346		1 in 45 miles	0			100.0	0	0.0	13.7	18.7
Thomas, GA	1,389	Outpatient	1 in 45 miles	27	51.4	1,389	100.0	0	0.0	3.7	4.7
Tift, GA	1,762	Outpatient	1 in 45 miles	7	251.7	1,762	100.0	0	0.0	3.4	3.8
Turner, GA	428	Outpatient	1 in 45 miles	3	142.7	428	100.0	0	0.0	3.6	3.6
Webster, GA	56	Outpatient	1 in 45 miles	0		56	100.0	0	0.0	18.7	18.8
Worth, GA	666	Outpatient	1 in 45 miles	5	133.2	666	100.0	0	0.0	5.2	5.9
		·									

© 2023 Quest Analytics, LLC.

April 26, 2023

Outpatient Radiology Services

Access Analysis

Outpatient Radiology Services- Rural

Member / Provider Groups

Behavioral Health(Urban All)

	AII-U										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA Lowndes, GA			1 in 30 miles 1 in 30 miles	102 149		4,194 4,851	100.0 100.0	0	0.0		2.1 2.3
© 2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health

Access Analysis

Behavioral Health- Urban

Member / Provider Groups

Behavioral Health(Rural All)

	AII-R										
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Behavioral	1 in 45 miles	6	71.5	429	100.0	0	0.0	6.3	6.9
Baker, GA	61	Behavioral	1 in 45 miles	0		61	100.0	0	0.0	15.2	15.3
Ben Hill, GA	858	Behavioral	1 in 45 miles	10	85.8	858	100.0	0	0.0	2.1	2.7
Berrien, GA	969	Behavioral	1 in 45 miles	11	88.1	969	100.0	0	0.0	4.9	5.6
Brooks, GA	607	Behavioral	1 in 45 miles	7	86.7	607	100.0	0	0.0	5.4	6.2
Calhoun, GA	182	Behavioral	1 in 45 miles	3	60.7	182	100.0	0	0.0	8.0	8.1
Clay, GA	104	Behavioral	1 in 45 miles	0		104	100.0	0	0.0	18.2	18.4
Clinch, GA	341	Behavioral	1 in 45 miles	4	85.3	341	100.0	0	0.0	4.6	4.8
Coffee, GA	2,117	Behavioral	1 in 45 miles	49	43.2	2,117	100.0	0	0.0	4.2	5.0
Colquitt, GA	2,220	Behavioral	1 in 45 miles	30	74.0	2,220	100.0	0	0.0	3.7	4.9
Cook, GA	839	Behavioral	1 in 45 miles	18	46.6	839	100.0	0	0.0	3.3	3.7
Decatur, GA	1,282	Behavioral	1 in 45 miles	25	51.3	1,282	100.0	0	0.0	4.4	4.8
Early, GA	407	Behavioral	1 in 45 miles	9	45.2	407	100.0	0	0.0	3.8	4.1
Edhols, GA	423	Behavioral	1 in 45 miles	1	423.0	423	100.0	0	0.0	8.9	15.8
Grady, GA	1,037	Behavioral	1 in 45 miles	2	518.5	1,037	100.0	0	0.0	4.8	12.4
Irwin, GA		Behavioral	1 in 45 miles	8			100.0	0	0.0	3.8	4.3
Lanier, GA	321	Behavioral	1 in 45 miles	2	160.5		100.0	0	0.0	3.1	3.6
Lee, GA	868	Behavioral	1 in 45 miles	16			100.0	0	0.0	3.2	4.0
Miller, GA		Behavioral	1 in 45 miles	4		206	100.0	0	0.0	5.1	5.2
Mitchell, GA	800	Behavioral	1 in 45 miles	4			100.0	0	0.0	4.6	6.7
Quitman, GA	131	Behavioral	1 in 45 miles	0		131		0	0.0	20.7	20.9
Randolph, GA	260	Behavioral	1 in 45 miles	5			100.0	0	0.0	3.4	3.6
Schley, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	13.4	14.5
Seminole, GA	377	Behavioral	1 in 45 miles	3		377		0	0.0	5.6	6.2
Stewart, GA		Behavioral	1 in 45 miles	1	151.0		100.0	0	0.0	7.5	21.3
Sumter, GA		Behavioral	1 in 45 miles	22	53.0		100.0	0	0.0	2.8	2.9
Terrell, GA		Behavioral	1 in 45 miles	4			100.0	0	0.0	3.5	3.5
Thomas, GA	1,389	Behavioral	1 in 45 miles	66	21.0		100.0	0	0.0	2.8	3.6
Tift, GA		Behavioral	1 in 45 miles	34			100.0	0	0.0	2.2	2.5
Turner, GA	428	Behavioral	1 in 45 miles	3	142.7	428	100.0	0	0.0	2.9	3.6
Webster, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	14.9	17.3
Worth, GA	666	Behavioral	1 in 45 miles	0		666	100.0	0	0.0	11.8	11.9
,											
© 2023 Quest Analyt	<u> </u>										

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health

Access Analysis

Behavioral Health- Rural

Member / Provider Groups

BH_Facilities(Urban All)

	All-U											
	Member	Pro	vider	Counts	Datia Mambara	With Acc	ess	Without Ac	ccess	Average	Distance	
County					to Providers					1		
			1 in 30 miles	7	599.1					3.6		
County Dougherty, GA Lowndes, GA		Group	Standard 1 in 30 miles 1 in 30 miles	Counts #	Ratio Members to Providers 599.1	# 4,194 4,851	100.0 100.0	Without Ad	% 0.0	1 3.6	3.8 3.3	

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health Facilities

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

BH_Facilities(Rural All)

	AII-R											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkir	nson, GA	429	Behavioral	1 in 45 miles	3	143.0	429	100.0	0	0.0	7.4	7.4
	er, GA	61	Behavioral	1 in 45 miles	0		61		0	0.0	24.5	26.1
	Hill, GA	858	Behavioral	1 in 45 miles	1	858.0	858	100.0	0	0.0	2.8	23.8
Berri	ien, GA	969	Behavioral	1 in 45 miles	1	969.0	969	100.0	0	0.0	6.0	13.6
Brbo	ks, GA	607	Behavioral	1 in 45 miles	1	607.0	607	100.0	0	0.0	6.5	15.9
Calh	oun, GA	182	Behavioral	1 in 45 miles	0		182	100.0	0	0.0	17.5	19.0
Clay	, GA	104	Behavioral	1 in 45 miles	0			100.0	0	0.0	19.4	21.9
	ch, GA	341	Behavioral	1 in 45 miles	3	113.7		100.0	0	0.0	4.8	4.8
Coffe	ee, GA		Behavioral	1 in 45 miles	14	151.2	2,117		0	0.0	5.6	5.8
	μitt, GA		Behavioral	1 in 45 miles	2	1,110.0	2,220		0	0.0	5.2	8.1
	k, GA		Behavioral	1 in 45 miles	2			100.0	0	0.0	4.8	5.4
	atur, GA		Behavioral	1 in 45 miles	1	1,282.0	1,282	100.0	0	0.0	5.7	26.3
1 1	y, GA		Behavioral	1 in 45 miles	1	407.0		100.0	0	0.0	4.9	22.5
	ols, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	15.8	15.8
	dy, GA	,	Behavioral	1 in 45 miles	0		1,037	100.0	0	0.0	14.4	16.3
	n, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	10.3	20.8
	er, GA		Behavioral	1 in 45 miles	0		321		0	0.0	12.7	17.9
Lee,			Behavioral	1 in 45 miles	3	289.3	868		0	0.0	5.2	5.6
	er, GA		Behavioral	1 in 45 miles	1	206.0		100.0	0	0.0	5.4	21.9
	hell, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	22.2	23.0
	man, GA		Behavioral	1 in 45 miles	0		131		0	0.0	20.9	20.9
	dolph, GA		Behavioral	1 in 45 miles	2	130.0		100.0	0	0.0	3.7	4.0
	ey, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	15.0	15.7
	ninole, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	18.2	24.3
	vart, GA		Behavioral	1 in 45 miles 1 in 45 miles	_	200.2	151 1,165		0	0.0	22.1 3.7	23.0 4.3
	iter, GA		Behavioral Behavioral	1 in 45 miles	3	388.3		100.0	0	0.0	3.7	14.2
	ell, GA mas, GA		Behavioral	1 in 45 miles	8	346.0 173.6	1,389		0	0.0	3.7	4.6
Tift,			Behavioral	1 in 45 miles	4	440.5	1,762		0	0.0	4.2	4.0
	ner, GA		Behavioral	1 in 45 miles	1	428.0		100.0	0	0.0	4.2	16.6
	ster, GA		Behavioral	1 in 45 miles	0	420.0		100.0	0	0.0	17.9	19.7
	th, GA		Behavioral	1 in 45 miles	0			100.0	0	0.0	12.9	18.2
	2023 Quest Analyti											

© 2023 Quest Analytics, LLC.

April 26, 2023

Behavioral Health Facilities

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Community SB(Urban All)

	AII-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Doi Lov	ugherty, GA wndes, GA	4,194	Communit	1 in 30 miles 1 in 30 miles	4 3	1,048.5	4,194 4,851	100.0 100.0	0	0.0		4.4 5.7	
Ц	2023 Quest Analvt	iaa III C											

© 2023 Quest Analytics, LLC.

April 26, 2023

Community Service Boards

Access Analysis

Community Service Boards- Urban

Member / Provider Groups

Community SB(Rural All)

					AII-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	-	1 in 45 miles	7	61.3	429	100.0	0	0.0	6.7	7.5
Baker, GA	61	Communit	1 in 45 miles	0		61	100.0	0	0.0	26.2	26.4
Ben Hill, GA	858	Communit	1 in 45 miles	1	858.0	858	100.0	0	0.0	2.7	9.9
Berrien, GA	969	Communit	1 in 45 miles	1	969.0	969	100.0	0	0.0	6.9	13.3
Brooks, GA	607	Communit	1 in 45 miles	1	607.0	607	100.0	0	0.0	8.7	19.3
Calhoun, GA	182	Communit	1 in 45 miles	0		182	100.0	0	0.0	22.2	22.3
Clay, GA	104	Communit	1 in 45 miles	0		104	100.0	0	0.0	20.0	21.9
Clinch, GA	341	Communit	1 in 45 miles	4	85.3	341	100.0	0	0.0	4.6	4.8
Coffee, GA	2,117	Communit	1 in 45 miles	29	73.0	2,117	100.0	0	0.0	4.7	5.8
Colquitt, GA	2,220	Communit	1 in 45 miles	0		2,220	100.0	0	0.0	22.6	29.6
Cook, GA	839	Communit	1 in 45 miles	1	839.0	839	100.0	0	0.0	4.5	12.2
Decatur, GA	1,282	Communit	1 in 45 miles	0		5	0.4	1,277	99.6	57.4	58.3
Early, GA	407	Communit	1 in 45 miles	0		390	95.8	17	4.2	31.9	33.3
Edhols, GA	423	Communit	1 in 45 miles	1	423.0	423	100.0	0	0.0	9.2	17.2
Grady, GA	1,037	Communit	1 in 45 miles	0		915	88.2	122	11.8	41.1	49.0
Irwin, GA	338	Communit	1 in 45 miles	1	338.0	338	100.0	0	0.0	4.3	10.2
Lanier, GA	321	Communit	1 in 45 miles	1	321.0	321	100.0	0	0.0	3.3	17.9
Lee, GA	868	Communit	1 in 45 miles	0		868	100.0	0	0.0	8.3	10.0
Miller, GA	206	Communit	1 in 45 miles	0		141	68.4	65	31.6	44.4	44.4
Mitchell, GA	800	Communit	1 in 45 miles	0		800	100.0	0	0.0	28.8	29.1
Quitman, GA	131	Communit	1 in 45 miles	0		131	100.0	0	0.0	19.0	20.9
Randolph, GA	260	Communit	1 in 45 miles	4	65.0	260	100.0	0	0.0	3.9	4.0
Schley, GA	182	Communit	1 in 45 miles	0		182	100.0	0	0.0	35.0	35.3
Seminole, GA	377	Communit	1 in 45 miles	0		7	1.9	370	98.1	54.9	55.3
Stewart, GA	151	Communit	1 in 45 miles	2	75.5	151	100.0	0	0.0	7.5	7.5
Sumter, GA	1,165	Communit	1 in 45 miles	0		1,165	100.0	0	0.0	31.0	31.6
Terrell, GA	346	Communit	1 in 45 miles	0		346	100.0	0	0.0	21.1	21.8
Thomas, GA	1,389	Communit	1 in 45 miles	0		1,389	100.0	0	0.0	26.7	38.9
Tift, GA	1,762	Communit	1 in 45 miles	2	881.0	1,762	100.0	0	0.0	4.7	4.8
Turner, GA	428	Communit	1 in 45 miles	1	428.0	428	100.0	0	0.0	3.4	23.6
Webster, GA	56	Communit	1 in 45 miles	0		56	100.0	0	0.0	15.6	15.6
Worth, GA	666	Communit	1 in 45 miles	0		666	100.0	0	0.0	18.0	19.3
© 2023 Quest Analyti				l							

© 2023 Quest Analytics, LLC.

April 26, 2023

Community Service Boards

Access Analysis

Community Service Boards- Rural

Member / Provider Groups

PRTF(Urban All)

	All-U											
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dou Low	ugherty, GA vndes, GA	4,194		1 in 30 miles 1 in 30 miles	0		0	0.0	4,194	100.0	172.1 198.0	172.1 234.0
) 2023 Quest Analvt	ia II C										

© 2023 Quest Analytics, LLC.

April 26, 2023

Psychiatric Residential Treatment Facilities(PRTFs)

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Urban

Member / Provider Groups

PRTF(Rural All)

All-R											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Psychiatri	1 in 45 miles	0		0	0.0	429		159.1	214.0
Baker, GA	61	Psychiatri	1 in 45 miles	0		0	0.0	61	100.0	188.0	188.0
Ben Hill, GA	858	Psychiatri	1 in 45 miles	0		0	0.0	858	100.0	142.3	179.0
Berrien, GA		Psychiatri	1 in 45 miles	0		0	0.0		100.0	174.5	212.0
Brooks, GA		Psychiatri	1 in 45 miles	0		0	0.0			207.0	229.3
Calhoun, GA	182	Psychiatri	1 in 45 miles	0		0	0.0			175.4	175.4
Clay, GA	104	Psychiatri	1 in 45 miles	0		0	0.0	104	100.0	167.3	167.3
Clinch, GA		Psychiatri	1 in 45 miles	0		0	0.0	341	100.0	178.0	237.5
Coffee, GA	2,117	Psychiatri	1 in 45 miles	0		0	0.0	2,117	100.0	145.6	204.5
Colquitt, GA	2,220	Psychiatri	1 in 45 miles	0		0	0.0	2,220	100.0	191.5	203.5
Cook, GA	839	Psychiatri	1 in 45 miles	0		0	0.0	839	100.0	182.8	211.5
Decatur, GA	1,282	Psychiatri	1 in 45 miles	0		0	0.0	1,282	100.0	218.0	218.0
Early, GA	407	Psychiatri	1 in 45 miles	0		0	0.0	407	100.0	186.8	186.8
Edhols, GA	423	Psychiatri	1 in 45 miles	0		0	0.0	423	100.0	206.8	247.9
Grady, GA	1,037	Psychiatri	1 in 45 miles	0		0	0.0	1,037	100.0	219.6	219.6
Irwin, GA	338	Psychiatri	1 in 45 miles	0		0	0.0	338	100.0	150.4	187.5
Lanier, GA	321	Psychiatri	1 in 45 miles	0		0	0.0	321	100.0	181.9	227.4
Lee, GA	868	Psychiatri	1 in 45 miles	0		0	0.0	868	100.0	163.2	163.2
Miller, GA	206	Psychiatri	1 in 45 miles	0		0	0.0	206	100.0	199.4	199.4
Mitchell, GA	800	Psychiatri	1 in 45 miles	0		0	0.0	800	100.0	199.0	199.1
Quitman, GA	131	Psychiatri	1 in 45 miles	0		0	0.0	131	100.0	152.0	152.0
Randolph, GA	260	Psychiatri	1 in 45 miles	0		0	0.0	260	100.0	156.6	156.6
Schley, GA	182	Psychiatri	1 in 45 miles	0		0	0.0	182	100.0	123.5	123.5
Seminole, GA	377	Psychiatri	1 in 45 miles	0		0	0.0	377	100.0	211.0	211.0
Stewart, GA	151	Psychiatri	1 in 45 miles	0		0	0.0	151	100.0	135.2	135.2
Sumter, GA	1,165	Psychiatri	1 in 45 miles	0		0	0.0	1,165	100.0	137.0	137.0
Terrell, GA	346	Psychiatri	1 in 45 miles	0		0	0.0			155.3	155.3
Thomas, GA	1,389	Psychiatri	1 in 45 miles	0		0	0.0	1,389	100.0	216.5	223.2
Ti f t, GA	1,762	Psychiatri	1 in 45 miles	0		0	0.0	1,762	100.0	167.4	190.7
Turner, GA	428	Psychiatri	1 in 45 miles	0		0	0.0	428	100.0	156.3	171.0
Webster, GA	56	Psychiatri	1 in 45 miles	0		0	0.0			135.3	135.3
Worth, GA	666	Psychiatri	1 in 45 miles	0		0	0.0	666	100.0	172.5	179.2
				<u> </u>							

© 2023 Quest Analytics, LLC.

April 26, 2023

Psychiatric Residential Treatment Facilities(PRTFs)

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Rural

Member / Provider Groups

Psychologists(Urban All)

	AII-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Do Lo	ugherty, GA wndes, GA	4,194 4,851	Psycholog	1 in 30 miles 1 in 30 miles	9 7	466.0 693.0	4,194 4,851	100.0 100.0	0	0.0		3.5 5.0	
	© 2023 Quest Analyt												

© 2023 Quest Analytics, LLC.

April 26, 2023

Psychologists

Access Analysis

Psychologists- Urban

Member / Provider Groups

Psychologists(Rural All)

AII-R											
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Psycholog	1 in 45 miles	0		429	100.0	0	0.0	31.7	35.2
Baker, GA	61	Psycholog	1 in 45 miles	0		61	100.0	0	0.0	25.6	25.9
Ben Hill, GA	858	Psycholog	1 in 45 miles	0		858	100.0	0	0.0	29.0	53.3
Berrien, GA	969	Psycholog	1 in 45 miles	0		969	100.0	0	0.0	19.4	25.4
Brooks, GA	607	Psycholog	1 in 45 miles	1	607.0	607	100.0	0	0.0	7.0	18.4
Calhoun, GA	182	Psycholog	1 in 45 miles	0		182	100.0	0	0.0	20.8	30.9
Clay, GA	104	Psycholog	1 in 45 miles	0		104	100.0	0	0.0	21.7	44.3
Clinch, GA	341	Psycholog	1 in 45 miles	0		341	100.0	0	0.0	31.9	32.2
Coffee, GA	2,117	Psycholog	1 in 45 miles	0		2,095	99.0	22	1.0	37.6	43.1
Colquitt, GA		Psycholog	1 in 45 miles	4	555.0	2,220	100.0	0	0.0	5.8	5.8
Cook, GA	839	Psycholog	1 in 45 miles	0		839	100.0	0	0.0	20.3	21.9
Decatur, GA	1,282	Psycholog	1 in 45 miles	1	1,282.0		100.0	0	0.0	5.6	25.7
Early, GA	407	Psycholog	1 in 45 miles	1	407.0	407	100.0	0	0.0	5.1	23.8
Edhols, GA	423	Psycholog	1 in 45 miles	0		423	100.0	0	0.0	17.8	17.8
Grady, GA	1,037	Psycholog	1 in 45 miles	0		1,037	100.0	0	0.0	14.9	16.4
Irwin, GA	338	Psycholog	1 in 45 miles	0		338	100.0	0	0.0	21.0	49.4
Lanier, GA	321	Psycholog	1 in 45 miles	0		321	100.0	0	0.0	22.5	23.3
Lee, GA	868	Psycholog	1 in 45 miles	1	868.0	868	100.0	0	0.0	5.6	7.8
Miller, GA	206	Psycholog	1 in 45 miles	0		206	100.0	0	0.0	16.5	24.1
Mitchell, GA	800	Psycholog	1 in 45 miles	0		800	100.0	0	0.0	21.9	23.3
Quitman, GA	131	Psycholog	1 in 45 miles	0		131	100.0	0	0.0	36.8	43.6
Randolph, GA	260	Psycholog	1 in 45 miles	0		260	100.0	0	0.0	30.4	36.0
Schley, GA	182	Psycholog	1 in 45 miles	0		182	100.0	0	0.0	17.6	17.6
Seminole, GA	377	Psycholog	1 in 45 miles	1	377.0	377	100.0	0	0.0	5.8	23.6
Stewart, GA	151	Psycholog	1 in 45 miles	0		151	100.0	0	0.0	30.5	30.7
Sumter, GA	1,165	Psycholog	1 in 45 miles	3	388.3	1,165	100.0	0	0.0	5.2	5.2
Terrell, GA	346	Psycholog	1 in 45 miles	0		346	100.0	0	0.0	18.4	22.8
Thomas, GA	1,389	Psycholog	1 in 45 miles	17	81.7	1,389	100.0	0	0.0	3.7	4.6
Ti f t, GA	1,762	Psycholog	1 in 45 miles	1	1,762.0	1,762	100.0	0	0.0	4.5	32.1
Turner, GA	428	Psycholog	1 in 45 miles	0		428	100.0	0	0.0	23.3	32.0
Webster, GA	56	Psycholog	1 in 45 miles	0		56	100.0	0	0.0	22.3	22.3
Worth, GA	666	Psycholog	1 in 45 miles	0		666	100.0	0	0.0	15.8	20.7
© 2023 Quest Analyt											

© 2023 Quest Analytics, LLC.

April 26, 2023

Psychologists

Access Analysis

Psychologists- Rural

Member / Provider Groups

Psychiatrists(Urban All)

	AII-U											
	Member	Pro	ovider	Counts	Patia Mambara	With Acc	ess	Without Ac	cess	Average	Distance	
County					to Providers							
			1 in 30 miles	18								
County Dougherty, GA Lowndes, GA	# 4,194 4,851	Program Psychiatry Psychiatry	Standard 1 in 30 miles 1 in 30 miles	Counts #	Ratio Members to Providers 233.0	# 4,194 4,851	100.0 100.0	Without Ad	% 0.0	1 2.2	3.3 4.2	
© 2023 Quest Ans	1.0		L									

© 2023 Quest Analytics, LLC.

April 26, 2023 Psychiatry

Access Analysis

Psychiatry- Urban

Member / Provider Groups

Psychiatrists(Rural All)

					AII-R						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Psychiatry	1 in 45 miles	0		429	100.0	0	0.0	15.6	16.0
Baker, GA	61	Psychiatry	1 in 45 miles	0		61	100.0	0	0.0	16.0	23.8
Ben Hill, GA	858	Psychiatry	1 in 45 miles	1	858.0	858	100.0	0	0.0	3.4	9.6
Berrien, GA	969	Psychiatry	1 in 45 miles	2	484.5	969	100.0	0	0.0	7.2	14.0
Brooks, GA	607	Psychiatry	1 in 45 miles	0		607	100.0	0	0.0	17.1	17.1
Calhoun, GA	182	Psychiatry	1 in 45 miles	1	182.0	182	100.0	0	0.0	8.2	21.4
Clay, GA	104	Psychiatry	1 in 45 miles	0		104	100.0	0	0.0	18.9	25.2
Clinch, GA	341	Psychiatry	1 in 45 miles	0		341	100.0	0	0.0	30.8	31.4
Coffee, GA	2,117	Psychiatry	1 in 45 miles	2	1,058.5	2,117	100.0	0	0.0	6.6	6.7
Colquitt, GA		Psychiatry	1 in 45 miles	4				0	0.0	7.4	7.5
Cook, GA	839	Psychiatry	1 in 45 miles	5	167.8	839	100.0	0	0.0		5.2
Decatur, GA		Psychiatry	1 in 45 miles	0		1,254	97.8	28	2.2		35.4
Early, GA		Psychiatry	1 in 45 miles	0		407	100.0	0	0.0	22.5	30.0
Edhols, GA	423	Psychiatry	1 in 45 miles	0		423	100.0	0	0.0	16.4	16.4
Grady, GA	1,037	Psychiatry	1 in 45 miles	0		1,037	100.0	0	0.0	14.7	15.0
Irwin, GA	338	Psychiatry	1 in 45 miles	2	169.0		100.0	0	0.0	4.3	5.5
Lanier, GA	321	Psychiatry	1 in 45 miles	0			100.0	0	0.0	19.8	21.7
Lee, GA	868	Psychiatry	1 in 45 miles	1	868.0		100.0	0	0.0	5.0	6.9
Miller, GA		Psychiatry	1 in 45 miles	0			100.0	0	0.0	27.8	33.5
Mitchell, GA	800	Psychiatry	1 in 45 miles	1	800.0		100.0	0	0.0	8.6	22.8
Quitman, GA	131	Psychiatry	1 in 45 miles	0		131	100.0	0	0.0	21.1	37.2
Randolph, GA	260	Psychiatry	1 in 45 miles	1	260.0	260	100.0	0	0.0	3.6	15.6
Schley, GA	182	Psychiatry	1 in 45 miles	0		182	100.0	0	0.0	13.9	15.6
Seminole, GA		, ,	1 in 45 miles	0		308	81.7	69	18.3	38.1	38.6
Stewart, GA	151	Psychiatry	1 in 45 miles	0			100.0	0	0.0	21.8	28.6
Sumter, GA	1,165	Psychiatry	1 in 45 miles	2	582.5	1,165	100.0	0	0.0	3.8	4.6
Terrell, GA	346	Psychiatry	1 in 45 miles	1	346.0		100.0	0	0.0		17.9
Thomas, GA	1,389	Psychiatry	1 in 45 miles	15	92.6		100.0	0	0.0	4.2	4.8
Ti f t, GA		Psychiatry	1 in 45 miles	6	293.7		100.0	0	0.0	3.0	3.7
Turner, GA		Psychiatry	1 in 45 miles	0			100.0	0	0.0		22.4
Webster, GA		Psychiatry	1 in 45 miles	0			100.0	0	0.0		20.4
Worth, GA	666	Psychiatry	1 in 45 miles	0		666	100.0	0	0.0	15.3	17.2
© 2023 Quest Analyti				l							

© 2023 Quest Analytics, LLC.

April 26, 2023

Psychiatry

Access Analysis

Psychiatry- Rural

Member / Provider Groups

Autism SDTP(Urban All)

AII-U												
	Member	er Provider		Counts	Counts Ratio Members With A			Without Access		Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA Lowndes, GA	4,194 4,851	Autism Sp Autism Sp	1 in 30 miles 1 in 30 miles	8 47	524.3 103.2	4,194 4,851	100.0 100.0	0		4.3 3.0	4.3 3.0	
© 2023 Quest Analyti												

© 2023 Quest Analytics, LLC.

April 26, 2023

Autism Spectrum Disorder(ASD) Treatment Provider

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider-Urban

Member / Provider Groups

Autism SDTP(Rural All)

					AII-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Autism Sp	1 in 45 miles	0		429	100.0	0	0.0	15.5	15.5
Baker, GA		Autism Sp	1 in 45 miles	0		61		0	0.0	25.3	25.3
Ben Hill, GA			1 in 45 miles	6	143.0	858	100.0	0	0.0	2.8	2.8
Berrien, GA		Autism Sp	1 in 45 miles	0			100.0	0	0.0	12.1	15.0
Brooks, GA		Autism Sp	1 in 45 miles	0		607	100.0	0	0.0	16.1	16.1
Calhoun, GA		Autism Sp	1 in 45 miles	0		182		0	0.0	31.9	31.9
Clay, GA		Autism Sp	1 in 45 miles	0		10	9.6	94	90.4	47.3	47.3
Clinch, GA		Autism Sp	1 in 45 miles	0		336	98.5	5	1.5	29.6	29.6
Coffee, GA	2,117	Autism Sp	1 in 45 miles	9	235.2	2,117	100.0	0	0.0	6.0	6.5
Colquitt, GA	2,220	Autism Sp	1 in 45 miles	2			100.0	0	0.0	5.7	5.8
Cook, GA			1 in 45 miles	1			100.0	0	0.0	4.7	17.4
Decatur, GA	1,282	Autism Sp	1 in 45 miles	2	641.0	1,282	100.0	0	0.0	5.7	5.7
Early, GA			1 in 45 miles	0		140	34.4	267	65.6	43.6	43.6
Edhols, GA	423	Autism Sp	1 in 45 miles	0		423	100.0	0	0.0	15.8	15.8
Grady, GA		Autism Sp	1 in 45 miles	0		1,037	100.0	0	0.0	15.8	15.8
Irwin, GA			1 in 45 miles	0			100.0	0	0.0	10.4	10.9
Lanier, GA			1 in 45 miles	0			100.0	0	0.0	13.1	13.1
Lee, GA		Autism Sp	1 in 45 miles	6	144.7		100.0	0	0.0	5.7	5.7
Miller, GA		Autism Sp	1 in 45 miles	0			100.0	0	0.0	22.6	22.6
Mitchell, GA		Autism Sp	1 in 45 miles	0		800		0	0.0	23.1	23.1
Quitman, GA		Autism Sp	1 in 45 miles	0		111		20	15.3	43.5	43.5
Randolph, GA		Autism Sp	1 in 45 miles	0		260	100.0	0	0.0	30.2	30.2
Schley, GA			1 in 45 miles	0			100.0	0	0.0	37.4	37.4
Seminole, GA			1 in 45 miles	0			100.0	0	0.0	23.8	23.8
Stewart, GA		Autism Sp	1 in 45 miles	0			100.0	0	0.0	35.5	35.5
Sumter, GA		Autism Sp	1 in 45 miles	0			100.0	0	0.0	26.1	26.1
Terrell, GA			1 in 45 miles	0			100.0	0	0.0	14.2	14.2
Thomas, GA	1,389	Autism Sp	1 in 45 miles	10	138.9	1,389	100.0	0	0.0	4.6	4.6
Ti f t, GA	1,762	Autism Sp	1 in 45 miles	3	587.3	1,762	100.0	0	0.0	3.5	9.0
Turner, GA	428	Autism Sp	1 in 45 miles	0		428	100.0	0	0.0	16.5	16.5
Webster, GA	56	Autism Sp	1 in 45 miles	0		56	100.0	0	0.0	35.8	35.8
Worth, GA	666	Autism Sp	1 in 45 miles	0		666	100.0	0	0.0	13.3	13.3
				<u> </u>							

© 2023 Quest Analytics, LLC.

April 26, 2023

Autism Spectrum Disorder(ASD) Treatment Provider

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider-Rural

Member / Provider Groups

Narcotic(Urban All)

	AII-U												
		Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dol Lov	ugherty, GA vndes, GA	4,194	Narcotic T	1 in 30 miles 1 in 30 miles	0 0		0 0	0.0		100.0		87.1 116.7	
	0 2023 Quest Analyt	i 110											

© 2023 Quest Analytics, LLC.

April 26, 2023

Narcotic Treatment Program

Access Analysis

Narcotic Treatment Program- Urban

Member / Provider Groups

Narcotic(Rural All)

					AII-R						
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Narcotic T	1 in 45 miles	0		0	0.0	429	100.0	89.5	100.1
Baker, GA	61	Narcotic T	1 in 45 miles	0		4	6.6	57	93.4	49.7	90.8
Ben Hill, GA	858	Narcotic T	1 in 45 miles	0		0	0.0	858	100.0	67.4	82.3
Berrien, GA	969	Narcotic T	1 in 45 miles	0		0	0.0	969	100.0	101.0	103.6
Brooks, GA	607	Narcotic T	1 in 45 miles	0		0	0.0	607	100.0	104.1	129.5
Calhoun, GA	182	Narcotic T	1 in 45 miles	0		182	100.0	0	0.0	23.9	72.0
Clay, GA	104	Narcotic T	1 in 45 miles	0		104	100.0	0	0.0	21.9	58.5
Clinch, GA	341	Narcotic T	1 in 45 miles	0		0	0.0	341		82.7	120.8
Coffee, GA		Narcotic T	1 in 45 miles	0		0	0.0	2,117	100.0	85.9	92.5
Colquitt, GA		Narcotic T	1 in 45 miles	0		0		2,220		80.3	108.5
Cook, GA		Narcotic T	1 in 45 miles	0		0	0.0		100.0	95.7	107.1
Decatur, GA	1,282	Narcotic T	1 in 45 miles	0		0	0.0	1,282	100.0	65.1	114.0
Early, GA	407	Narcotic T	1 in 45 miles	0		389	95.6	18	4.4	33.3	79.1
Edhols, GA	423	Narcotic T	1 in 45 miles	0		0	0.0	423	100.0	111.8	126.2
Grady, GA	1,037	Narcotic T	1 in 45 miles	0		0	0.0	1,037	100.0	76.6	121.1
Irwin, GA	338	Narcotic T	1 in 45 miles	0		0	0.0	338	100.0	76.8	90.3
Lanier, GA	321	Narcotic T	1 in 45 miles	0		0	0.0	321	100.0	101.3	115.8
Lee, GA	868	Narcotic T	1 in 45 miles	0		784	90.3	84	9.7	40.2	80.7
Miller, GA	206	Narcotic T	1 in 45 miles	0		122	59.2	84	40.8	45.2	94.4
Mitchell, GA	800	Narcotic T	1 in 45 miles	0		0	0.0	800	100.0	65.3	104.5
Quitman, GA	131	Narcotic T	1 in 45 miles	0		131	100.0	0	0.0	20.9	43.2
Randolph, GA	260	Narcotic T	1 in 45 miles	1	260.0	260	100.0	0	0.0	4.0	53.5
Schley, GA	182	Narcotic T	1 in 45 miles	0		37	20.3	145	79.7	46.9	48.3
Seminole, GA	377	Narcotic T	1 in 45 miles	0		1	0.3	376	99.7	55.3	103.7
Stewart, GA	151	Narcotic T	1 in 45 miles	0		151	100.0	0	0.0	23.8	38.3
Sumter, GA	1,165	Narcotic T	1 in 45 miles	0		199	17.1	966	82.9	46.2	59.3
Terrell, GA	346	Narcotic T	1 in 45 miles	0		346	100.0	0	0.0	23.1	65.8
Thomas, GA	1,389	Narcotic T	1 in 45 miles	0		0	0.0	1,389	100.0	88.9	128.8
Ti f t, GA	1,762	Narcotic T	1 in 45 miles	0		0	0.0	1,762	100.0	82.1	87.7
Turner, GA	428	Narcotic T	1 in 45 miles	0		0	0.0	428	100.0	68.8	73.2
Webster, GA	56	Narcotic T	1 in 45 miles	0		56	100.0	0	0.0	32.0	47.8
Worth, GA	666	Narcotic T	1 in 45 miles	0		0	0.0	666	100.0	63.4	87.0

© 2023 Quest Analytics, LLC.

April 26, 2023

Narcotic Treatment Program

Access Analysis

Narcotic Treatment Program- Rural

Member / Provider Groups

LCSW(Urban All)

	AII-U												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA Lowndes, GA		Licensed Licensed	1 in 30 miles 1 in 30 miles	15 34		4,194 4,851	100.0 100.0	0	0.0		2.5 3.5		
© 2023 Quest Analyti													

© 2023 Quest Analytics, LLC.

April 26, 2023

Licensed Counsler and Social Workers

Access Analysis

Licensed Counsler and Social Workers- Urban

Member / Provider Groups

LCSW(Rural All)

					AII-R						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	429	Licensed	1 in 45 miles	1	429.0	429	100.0	0	0.0	7.2	15.6
Baker, GA	61	Licensed	1 in 45 miles	0		61	100.0	0	0.0	24.8	25.5
Ben Hill, GA	858	Licensed	1 in 45 miles	0		858	100.0	0	0.0	9.7	9.7
Berrien, GA	969	Licensed	1 in 45 miles	3		969	100.0	0	0.0	7.0	7.7
Brooks, GA	607	Licensed	1 in 45 miles	3	202.3	607	100.0	0	0.0	6.5	7.1
Calhoun, GA	182	Licensed	1 in 45 miles	1	182.0		100.0	0	0.0	8.1	20.7
Clay, GA	104	Licensed	1 in 45 miles	0			100.0	0	0.0	21.3	21.7
Clinch, GA	341	Licensed	1 in 45 miles	0			100.0	0	0.0	23.3	30.4
Coffee, GA	2,117	Licensed	1 in 45 miles	3	705.7		100.0	0	0.0	6.1	6.7
Colquitt, GA		Licensed	1 in 45 miles	4		2,220		0	0.0	5.2	5.7
Cook, GA	839	Licensed	1 in 45 miles	2	419.5		100.0	0	0.0	5.0	5.3
Decatur, GA	1,282	Licensed	1 in 45 miles	5			100.0	0	0.0	5.0	5.1
Early, GA	407	Licensed	1 in 45 miles	4	101.8	407	100.0	0	0.0	4.4	5.3
Edhols, GA	-	Licensed	1 in 45 miles	0			100.0	0	0.0	16.4	17.0
Grady, GA	1,037	Licensed	1 in 45 miles	0			100.0	0	0.0	14.2	15.3
Irwin, GA	338	Licensed	1 in 45 miles	2	169.0	338	100.0	0	0.0	4.7	4.7
Lanier, GA	321	Licensed	1 in 45 miles	0		321		0	0.0	17.3	19.7
Lee, GA	868	Licensed	1 in 45 miles	4			100.0	0	0.0	3.8	4.8
Miller, GA	206	Licensed	1 in 45 miles	1	206.0		100.0	0	0.0	5.4	21.5
Mitchell, GA	800	Licensed	1 in 45 miles	0			100.0	0	0.0	21.7	22.1
Quitman, GA	131	Licensed	1 in 45 miles	0		131		0	0.0	36.5	36.8
Randolph, GA	260	Licensed	1 in 45 miles	0			100.0	0	0.0	17.0	30.3
Schley, GA	182	Licensed	1 in 45 miles	0			100.0	0	0.0	14.9	15.6
Seminole, GA		Licensed	1 in 45 miles	0			100.0	0	0.0	18.0	22.3
Stewart, GA		Licensed	1 in 45 miles	0			100.0	0	0.0	26.5	27.7
Sumter, GA		Licensed	1 in 45 miles	8			100.0	0	0.0	3.0	3.7
Terrell, GA		Licensed	1 in 45 miles	0			100.0	0	0.0	18.0	18.2
Thomas, GA		Licensed	1 in 45 miles	9	154.3		100.0	0	0.0	4.2	5.1
Tift, GA		Licensed	1 in 45 miles	11			100.0	0	0.0	2.9	3.0
Turner, GA		Licensed	1 in 45 miles	0			100.0	0	0.0	18.8	21.1
Webster, GA		Licensed	1 in 45 miles	0			100.0	0	0.0	18.0	19.9
Worth, GA	666	Licensed	1 in 45 miles	0		666	100.0	0	0.0	14.9	15.1
© 2023 Quest Analyt			L								

© 2023 Quest Analytics, LLC.

April 26, 2023

Licensed Counsler and Social Workers

Access Analysis

Licensed Counsler and Social Workers- Rural

Member / Provider Groups